
CAT PARTS LISTING
NMX has been engaged to orchestrate and execute a formal, ‘Open Market’ exclusive 
Tender program for and on behalf of one of Australia’s leading OEMs. This tender 
program which includes a large quantity of Caterpillar parts, invites potential buyers to 
participate and submit a competitive Tender Sales Contract on an ‘as is where is’ basis.



Warehouse Item Number Item Name PPC Name
Physical 
Inventory

Mackay 641271_005 12 T IDLER WHEEL (ULTRA 2000) CGM Shearer 4
Mackay 4043224_005 PANEL-ICP CGM Trucks (GE) 1
Mackay 641304_005 GEAR, BOTTOM z=32 2
Mackay 644542_005 CHAINFCLASS34/ CGM Material Handling 6
Brisbane 4358053_005 SPROCKET TCS 34X110-7-330 PC 5 1
Mackay 4003167_005 SHROUD ARM MATERIAL 1
Brisbane 1421260_005 COLLAR,ADJUSTING CGM Draglines 1
Mackay 635680_005 CYLINDER,HYDRAULIC FLIPPER CGM Roof Support 17
Mackay 1454434_005 PANEL, EXCITER, ALT. FIELD CGM Trucks (GE) 2
Mackay 635402_005 PIN SHEAR CGM Roof Support 666
Mackay 955257_005 PMC ASI; AUS 1
Mackay C32 D11T EXH SET_200 C32D11TEXHSET Dealer Made Extras Engineering 20
Mackay 1423715_005 PINION,ASSY CGM Electric Shovels 1
Brisbane 1561296_005 MODULE,RECV,HYD ASSY CGM Electric Shovels 2
Mackay 4057998_005 TURBOCHARGER ENGINE CGM Trucks 4
Mackay 1454377_005 CARD-TCI ANALOG,3300,4400 AC CGM Trucks (GE) 4
Mackay 1248104_005 TUBESHF14x1.25 CGM Draglines 134
Mackay 4051714_005 VALVESPOOLMAINC CGM Hydraulic Shovels 1
Mackay 663579_005 TRAPPING SHOE WITH HARDENEDPLA CGM Shearer 2
Mackay 615019_005 POWER CHAIN 34 X 110mm 237
Mackay 1253586_005 BRG,TAPER 4
Mackay 1492662_005 LIFTING CYLINDER CPL. STROKE 6 CGM Shearer 1
Mackay 637891_005 VALVEBANKDANFOSS CGM Shearer 1
Mackay 4042190_005 CHAIN LINK CGM Hydraulic Shovels 3
Mackay 680020_005 Crusher shaft 1
Mackay 635881_005 BEVEL,GEAR PAIR Z=35/11 - WHEE CGM Material Handling 1
Mackay 635603_005 SPRAYINGSYSTEMFI CGM Roof Support 335
Mackay 1513669_005 WASHER,THRUST 1
Mackay 1166452_005 SHAFT,BOOM POINT ASSEMBLY CGM Draglines 1
Mackay 1029243_005 IDLER ASSY W/FORK CGM Drills (Terex) 3



Mackay 1586263_005 TILTCYLINDERASSY CGM Diesel 2
Mackay 660615_005 SPUR GEAR Z=65 3
Mackay 364819_005 BOTTOM GEAR, 32T 1
Mackay 894815_005 STACK PIPE GUARD ASSEMBLY LEG CGM Material Handling 41
Mackay 268108_005 HINGE PIN (MAINFRAME) 16
Mackay 513781_005 WET EXHAUST CONDITIONER GROUP 2
Brisbane 1387894_005 SHAFTPINIONINPUT CGM Draglines 1
Mackay 1134875_005 PUMP CGM Draglines 1
Mackay 1222472_005 COLLAR,STABILIZER ARM CGM Draglines 5
Mackay 848375_005 DRIVE SHAFT MR65-1300 1
Mackay 1124120_005 SIGNAL PROCESSOR CGM Electric Shovels 1
Mackay 635574_005 CRINUMRELAYBARC CGM Roof Support 13
Mackay 1459677_005 CONDUCTORPLATE CGM Hydraulic Shovels 5
Mackay 1612706_005 ADAPTERPLATE CGM Draglines 6
Mackay 4065601_005 L.H. LIFTING BRACKET MATERIAL 1
Brisbane 1708192_005 SAMPSON CYLINDER CGM Material Handling 2
Mackay 4239276_005 ENCODER,32T,GRAY,HD39,MODIF CGM Drills 2
Mackay 1578502_005 HYD CYL 5.5" BORE x 381mm STRO 4
Mackay 4053273_005 MAIN PUMP REBUILT HYD SYSTEM CGM Hydraulic Shovels 2
Mackay 4352939_005 EYE CGM Hydraulic Shovels 2
Brisbane 1160493_005 BEARING,SOLID ROLLERS CGM Draglines 1
Mackay 1465371_005 GEAR PINION 3
Mackay 4054878_005 BRAKETRAVELSERV CGM Hydraulic Shovels 2
Mackay 1174238_005 SHAFT,INTERMEDIATE 1
Mackay 4372304_005 PCB,SIBAS,INVERTER MONITORING CGM Electric Shovels 1
Mackay 634921_005 SPROCKET BEARING TCS 38X126-5T CGM Material Handling 1
Mackay 1454378_005 CARD-TCI,CPU DC TRUCKS ONLY CGM Trucks (GE) 2
Brisbane 1287315_005 WASHER,THRUST,FINISHED CGM Draglines 4
Mackay 4075109_005 POMPE CYL VARIABLE CGM Hydraulic Shovels 1
Mackay 213717_005 INCLINOMETER 3
Mackay 4020925_005 PUMP MAIN HYDRAULIC O&K REMAN CGM Hydraulic Shovels 1
Mackay 1580071_005 TAIL PULLEY Oe630 x 1800 FACE CGM Material Handling 1
Mackay 365315_005 IMPACT HEAD ASSEMBLY CGM Material Handling 8



Mackay 1455529_005 VALVE 4
Mackay 4034012_005 CYLINDER, HYD, 6"x 4"x 256mm 2
Mackay 1506390_005 SIDE SEAL 1
Mackay 4042246_005 EYE 2
Brisbane REM18918B_020 REMANTRANS18918B All make Parts 3
Mackay 643301_005 IMPACT HEAD CPL. WITH TENSIONI 8
Mackay 947709_005 FLIGHT BAR PF 5/1232 TCS 48X14 30
Mackay 4051222_005 PUMPMAINHYDRAULI CGM Hydraulic Shovels 1
Mackay 1248077_005 TUBE,12.75x.75 CGM Draglines 122
Mackay 961844_005 SKID SHOE 2
Brisbane 1641579_005 INVERTER MONITORING CGM Electric Shovels 1
Mackay 1128190_005 UWS-MOTION CGM Electric Shovels 1
Mackay 661404_005 PLANET CARRIER 3 PLANET 1
Mackay 1513670_005 BSHG,20.531IDx23.75ODx12.50 1
Mackay 1481456_005 CYLINDER-PNEUMATIC-SHUNTING TR 2
Mackay 210376_360 RINGSTRUCTURE Kress 4
Mackay 4108761_005 BRAKE,RH CALIPER,PNEUMATIC 2
Mackay 1069585_005 RANGING ARM POSITION MATERIAL 1
Mackay 871811_005 SCRUBBERMAKEUPT CGM Diesel 2
Mackay 1453433_005 MODULE-CONTROL 6
Mackay 1130762_005 INNER CAM BSHG,OVERSIZ(1570W) CGM Draglines 2
Mackay 642274_005 SIGMA PROFILE PF2.4 /PER METRE 50
Mackay 1574138_005 TILTCYLINDERASSE CGM Diesel 1
Mackay 112497_005 3/2 WAY-VALVE CARTRIDGE NG0.5 82
Mackay 738400_005 ELECTRICAL HYDR CONTROL UNIT 2 CGM Roof Support 1
Mackay 1124071_005 INVERTER MONITORING CARD CGM Electric Shovels 1
Brisbane 1286834_005 ASSEMBLED THRUST WASHER CGM Draglines 1
Brisbane 1450568_005 SET OF SPUR GEARS CGM Hydraulic Shovels 2
Mackay 4066290_005 ANALOGUE IMAC INPUT 0-20mA CGM Material Handling 10
Mackay 349985_005 PLANET CARRIER, 5 PLANET & SUN 1
Mackay 635678_005 ANTI TOPPLE CYLINDER AB 80/50- CGM Roof Support 8
Mackay 204107_360 GEARIDLERHELICAL Kress 2
Mackay 641270_005 10 T DRIVE WHEEL (ULTRA 2000) 1



Mackay 4211333_005 CYLINDER LINER CGM Hydraulic Shovels 1
Mackay 1660840_005 SLACKTRONIC MAGWAVE AUSTRALIA 1
Mackay 1339930_005 BALL,CAM PIN CGM Draglines 1
Mackay 758561_005 QUILL SHAFT - CUTTER MOTOR 4
Mackay 635774_005 HYDR. CYLINDER ZE-165/100-615- CGM Roof Support 3
Mackay 1660851_005 SLACKTRONIC MAGSCAN AUSTRALIA CGM Roof Support 1
Brisbane 1215324_005 BEARING CGM Draglines 1
Mackay 1491298_005 HAUL & PUMP MOTOR CONTACTOR CH CGM Shearer 1
Brisbane 1137959_005 VT,6.6KV CGM Draglines 3
Mackay 888544_005 CIOS MODULE BLOCK (5+1), HTB3, 1
Mackay 1573542_005 CUTTER CONTACTOR CHASSIS (620 CGM Shearer 1
Mackay 777775_005 SPUR GEAR CGM Material Handling 1
Mackay 1556399_005 DIPPER,TRIP ARM CONN,ASSY CGM Electric Shovels 2
Mackay 4053275_005 COOLING OIL TANK RETURN CGM Hydraulic Shovels 3
Brisbane 1325234_005 PLATE,WEAR,SHOE CGM Draglines 1
Mackay 163037_450 UFESKIT17.5KV/25 Miscellaneous 1
Mackay 1248114_005 TUBE,SHF,14x1.75 CGM Draglines 46
Mackay 4056682_005 SUB-SAVER 9
Mackay 4057159_005 SEAL KIT CLAM CYLINDER CGM Hydraulic Shovels 11
Mackay 1528195_005 MODULE,CECV,HYD ASSY CGM Electric Shovels 2
Mackay 235811_005 QUILL SHAFT - DOWNDRIVE 2
Mackay 4042247_005 PISTON ROD 1
Mackay 139801_005 SEAL COVER CGM Material Handling 12
Mackay 758523_005 BUSH (LIFTING BRACKET) 8
Brisbane 945325_005 EARTH LEAKAGE ASSY CGM Shearer 2
Mackay 505298_005 RADIATOR, EJW 3
Mackay 4057596_005 REPAIR KIT STICK CYLINDER B/H CGM Hydraulic Shovels 5
Mackay 1526822_005 EJW COOLING MODULE, FBR15 WET 2
Mackay 641375_005 SHAFT 3
Mackay 1453599_005 KINGPIN,FOR DX BRGS (MP,MR) CGM Trucks 3
Mackay 1339961_005 BALL,LINK PIN CGM Draglines 1
Brisbane 1358359_005 BRAKE,CALIPER,W/THRUSTER CGM Draglines 1
Brisbane 1358361_005 BRAKE,CALIPER,W/THRUSTER CGM Draglines 1



Brisbane 1358362_005 BRAKE,CALIPER,W/THRUSTER CGM Draglines 1
Mackay 4042099_005 WATER RADIATOR 1
Mackay 4407732_005 GASKET SET 4
Mackay 743313_005 CLUTCH S 400 ST-VKR N120/B120H CGM Material Handling 1
Mackay 1453910_005 SUN PINION CGM Trucks (GE) 2
Mackay 1164722_005 ROD ASSEMBLY CGM Draglines 1
Brisbane 1325233_005 PLATE,WEAR,SHOE CGM Draglines 1
Mackay 1502471_005 HYDROCYLINDER 3
Mackay 364293_005 TOLLOK BUSH TLK401-160X210 14
Mackay 1130763_005 OUTER CAM BSHG,OVERSIZ(1570W) CGM Draglines 1
Mackay 1064866_005 RAM SYSTEM 1
Mackay 1124126_005 RESISTOR,OVR VLT,1000KJ,2 OHMS CGM Electric Shovels 1
Mackay 268106_005 BUSH (MAINFRAME) 10
Mackay 1032454_005 MOTOR, HYD CGM Drills (Terex) 1
Mackay 948130_005 PMC-ACCELERATION SENSOR 10K-W; 2
Mackay 1227244_005 PIN CGM Electric Shovels 1
Mackay KITA100000_008 KITIDLERASSEMBLY Preventative Maintenance Filter Kits 3
Brisbane 774102_005 CIRCUIT BREAKER 300A 2
Mackay 4057144_005 SEAL KIT BUCKET / STICK CYLIND CGM Hydraulic Shovels 6
Mackay 1638847_005 Visibledisconnect CGM Shearer 2
Mackay 4063559_005 CARRIER,BRG 1
Mackay 763588_005 CYL ROLLER BEARING-SINGLE ROW- 3
Mackay 1081441_005 FILTER,AIR-9 DOUBLE CELL CGM Electric Shovels 1
Mackay 367564_005 3RD MOTION SHAFT ASSEMBLY 1
Mackay 1628042_005 RAISE CYLINDER ASSEMBLY 4
Mackay 1682605_005 CYLINDER TUBE (WELDMENT) CGM Roof Support 2
Mackay 111613_005 HOSE CABEL SKK24 SKK24 4300MM 46
Brisbane 1163042_005 BUSHING,50.06x52.34x17.50 1
Mackay 757032_005 HYDRAULIC CYLINDER 8
Mackay 1483592_005 VALVE,RELIEF,DIRECT ACTING RV3 CGM Electric Shovels 1
Mackay 1453649_005 POWER CONVERTER, IGBT GATE CGM Trucks (GE) 1
Mackay 395583_005 1ST MOTION SHAFT ( 22T ) CGM Shearer 1
Mackay 4063651_005 BOLT,ROD CGM Electric Shovels 13



Mackay 1000012_005 CYLINDER, MAST RAISE CGM Drills 1
Mackay 220079_360 HYDMODULEASSYAN Kress 1
Mackay 4012500_005 KIT,CABLE,PWR/EXC 1
Brisbane 1162777_005 BRG,TS,TPR ROLLER CGM Draglines 2
Mackay 1580070_005 SNUB ROLLER Oe320 x 1800 FACE CGM Material Handling 1
Mackay 374202_005 1MBIT (128K X 8) EEPROM X28C01 17
Mackay 635017_005 FLIGHT BAR PF 4/1532 TCS 34X12 15
Mackay 1172068_005 PIN 4
Mackay 4184618_005 BIDI CONVERTER SERIAL PM4 2
Mackay 1413652_005 PIPE ASSY,10.0 TANK CONNECTION CGM Electric Shovels 1
Brisbane 4354616_005 CARRIER,BRG CGM Electric Shovels 1
Mackay 1139527_005 PIN,RD,13x35 2
Brisbane 1456083_005 TAP.ROLLER BEARING 4
Brisbane 1358357_005 BRAKE,CALIPER,W/THRUSTER CGM Draglines 1
Mackay 1459844_005 BEAM CGM Hydraulic Shovels 1
Mackay 4264904_005 RETURN AIR FILTER ASSY CGM Hydraulic Shovels 15
Mackay 503486_005 HEAT EXCHANGER FABRICATION 1
Mackay 982689_005 CABLE, PULLDOWN 12M CGM Drills (Terex) 6
Mackay 377694_005 HEX HEAD BOLT ISO 4014-M 20X31 CGM Shearer 141
Mackay 4022569_005 COVER CGM Hydraulic Shovels 1
Mackay 113363_005 REED ROD,965MM,RMS/A/815/LUM CGM Roof Support 8
Mackay 633899_005 CONNECTOR, CHAIN 48 X 144 BLOC 9
Mackay 641062_005 DUAL RADIO MODULE - V 1.5 1
Mackay 1456613_005 SPUR GEARS-SET OF 4 4
Mackay 661730_005 LONG QUILL SHAFT 2
Mackay 1454364_005 EXCITER,AFSE STATIC CGM Trucks (GE) 1
Mackay 4211935_005 GUIDE 1
Mackay 4056497_005 SUBSAVER61/4RO CGM Drills (Terex) 6
Brisbane 1128960_005 PIN,PLANET 4
Mackay 4211427_005 GUIDE 2
Brisbane 1468916_005 BRAKE ASSY 1
Mackay 1582062_005 STARTER MOTOR ASSEMBLY 2
Mackay 1464606_005 HOLLOW WHEEL 2



Mackay 1567736_005 INLET GUIDE 5
Mackay 4056873_005 PILOT MANIFOLD CONTROL ASSEMBL 1
Mackay 4041876_005 HOUSING CGM Hydraulic Shovels 1
Mackay 979411_005 CABLE,PULLDOWN CGM Drills (Terex) 6
Mackay 1192725_005 PIN CGM Draglines 40
Mackay 636133_005 MANIFOLD BLOCK WATER CONTROL U CGM Diesel 3
Mackay 4020681_005 HYDR.MOTORREMAN. CGM Hydraulic Shovels 1
Mackay 1453904_005 BRACKET-BRAKE MOUNT CGM Trucks 2
Mackay 663578_005 HINGE PIN 6
Mackay 4024703_005 PISTON ROD BOOM CYLINDER CGM Hydraulic Shovels 1
Mackay 4021183_005 PIN MOUNTING PARTS 1
Mackay 1288988_005 PIN,WELDED,8.00 DIA. CGM Electric Shovels 2
Brisbane 1287380_005 SLEEVE,LOWER BRG SHEAVE CGM Draglines 1
Mackay 1287380_005 SLEEVE,LOWER BRG SHEAVE CGM Draglines 1
Mackay 1412973_005 TUBE ASSY,CD62 #40,PRESSURE CGM Electric Shovels 1
Mackay 1454383_005 RESISTOR RETARD GRID CGM Trucks (GE) 2
Mackay 1648220_005 MP3 ENCODER MATERIAL (F) 1
Mackay 848282_005 BEARING HOUSING COMPLETE 1
Mackay 941411_005 POWERCOUPLER PM4/PC2 AUS CGM Roof Support 7
Mackay 635668_005 CYLINDER,HYDRAULIC BASE LIFT* CGM Roof Support 3
Brisbane 1321987_005 LATCH BAR,PL,5.00x9x69.38 CGM Electric Shovels 1
Mackay R5240201205.MDD_450 16V4000REMANTURB Miscellaneous 3
Mackay 1408837_005 BRACKETDISCBRAKE CGM Draglines 2
Mackay 1454438_005 RESISTOR, RETARD GRID 4
Mackay 127714_005 SPH-ROLLER BEARING DIN 635-240 CGM Material Handling 3
Mackay 4027867_005 COUPLING ELEMENT ENGINE 2
Mackay 4220235_005 ARMORED CAMERA CABLE 16 METERS CGM Trucks 21
Mackay 4114595_005 MP3 ENCODER, ANZEx 05.4013X 1
Mackay 750413_005 FLOWMETER CGM Shearer 2
Mackay 635621_005 MANIFOLD, SUPPLY (UV) 4
Mackay 1128580_005 SPECIAL SEAL KIT FOR 82330281 2
Mackay 836468_005 KITDCSDRY/WETLO CGM Diesel 1
Brisbane 1013152_005 VALVE CONTROL V 1



Mackay 1454042_005 REVERSER-AIRLESS CGM Trucks (GE) 1
Mackay 1216074_005 PENDANT CGM Electric Shovels 1
Mackay 1439334_005 ROD,BOLT,2.5UNC CGM Electric Shovels 9
Mackay 1546821_005 KIT,HOSE,HYDRACROWD OIL COOLER CGM Electric Shovels 1
Mackay 1452035_005 BEARING 31.000 TAPER CGM Trucks (GE) 1
Mackay 1134451_005 CARD,OUTPUT BINARY 24V CGM Electric Shovels 1
Mackay 777763_005 BEARING BUSH CGM Material Handling 1
Mackay 758522_005 BUSH (LIFTING BRACKET) 8
Mackay 1497943_005 COVER,HORIZ,HEAVY DUTY CGM Electric Shovels 2
Mackay 765613_005 TAPER-ROLLER BEARING DIN 720-3 3
Mackay 4062705_005 STUDBOLT M42X4.5 X565-10.9 (SQ 18
Mackay 945362_005 FLEX NUT M 100X6/W-SPC 4
Brisbane 1140678_005 WASHER,THR,46.5x57x1.687 CGM Draglines 1
Mackay 1140678_005 WASHER,THR,46.5x57x1.687 CGM Draglines 1
Mackay 4056986_005 DUSTHOOD520WIDE CGM Drills (Terex) 1
Mackay 4024704_005 SEALING KIT CLAM CYLINDER F/S CGM Hydraulic Shovels 3
Mackay 836140_005 LIFTCYLINDERASSE CGM Diesel 1
Mackay 4041971_005 SLIDINGPIECE CGM Hydraulic Shovels 2
Mackay 4442900_005 CYLINDER GP - LIFT HEAVY 1
Brisbane 1572934_005 PRESSURE FILTER HOUS. UA184 1- 3
Mackay 850512_005 LOOM DCS ENGINE CL-10C 2
Mackay 661731_005 SHORT QUILL SHAFT 2
Mackay 1453941_005 FRAME HEAD CGM Trucks (GE) 2
Mackay 777782_005 OUTPUT SHAFT CGM Material Handling 1
Mackay 850511_005 LOOM DCS DRIVERS CL-10C 2
Mackay 1278184_005 BRAKE SHOE ASSY,NON-ASB. 2
Mackay H9000581_450 TRANS.LUBEOILPR Miscellaneous 8
Mackay 1412035_005 BAR,LATCH,HARD FACED CGM Electric Shovels 1
Mackay 159851_450 BOX2PRI1BBL1SKK Miscellaneous 1
Mackay EX52407500021.MDD_005 INJECTORAS CGM Products 2
Mackay 1577708_005 MODULE,CRGV,HYD ASSY CGM Electric Shovels 1
Mackay 157455_450 BOX2PRI2BBL2IPS Miscellaneous 1
Mackay 754776_005 TUBE,INNER,WET,CUTTING 4



Mackay 1028379_005 TRACKASSYLESSSH CGM Drills (Terex) 1
Brisbane 1561106_005 SOFTWAREIBAPLCD CGM Draglines 1
Mackay 1180725_005 CIRCUIT BREAKER CGM Electric Shovels 4
Mackay 1535810_005 GEAR CGM Shovels (GE) 1
Mackay 4020430_005 HOLLOW WHEEL 1
Mackay 635685_005 REED ROD KESTREL ADVANCING CYL CGM Roof Support 5
Mackay 1134461_005 CARD,I/O ANALOG CGM Electric Shovels 1
Mackay 634956_005 CHAIN STRIPPER 48 x 144/160-7G CGM Material Handling 4
Mackay 4057143_005 REPAIR KIT BUCKET CYLINDER B/H CGM Hydraulic Shovels 3
Mackay 630585_005 SINGLE MAGNET;HIRSCHMANN-VERSI CGM Roof Support 63
Mackay 113331-SR_005 REPAIRNG6CARTRI CGM Roof Support 17
Mackay 134091_450 KEYBOARDISKBIM2 Miscellaneous 2
Mackay 633711L_450 HOSECABLESKK244 Miscellaneous 17
Mackay 4063648_005 LUG,MOTOR,RH CGM Electric Shovels 11
Mackay 1578537_005 HYD CYL 6" BORE 320mm STROKE 2
Brisbane 4000368_005 SET,SPRING CGM Draglines 4
Mackay 714034_005 PRESSURE RELIEF VALVE CGM Roof Support 15
Mackay 641033_005 CONFLOW REVERSE FLUSH FILTER 2 1
Mackay 4565005_005 ASSEMBLY-WASH DOWN PUMP 1
Brisbane 1281800_005 SLEEVE,FAIRLEAD HOR. SH. CGM Draglines 1
Mackay 1124181_005 TRANSFORMER DELTA/STAR CGM Electric Shovels 2
Mackay 633634_005 PISTON,BIG CGM Roof Support 20
Brisbane 4051644_005 VALVEASSEMBLYCOR CGM Hydraulic Shovels 1
Mackay 1615478_005 DEV1ANZExDOUBLE CGM Material Handling 216
Mackay 504517_005 EXHAUST CONDITIONER PURIFIER* 1
Mackay 1116476_005 MOTOR,FRESH AIR 4
Mackay 672312_005 SCRAPER CUTTER 1
Brisbane 1265713_005 BSHG,ECC,11.13x15.00x11.00 CGM Draglines 1
Mackay 762398_005 MECHANICAL SEAL INSERT 4
Mackay 161572_450 CABLE73M2XBBPLUG Miscellaneous 1
Brisbane 1234684_005 DRIVE,SIMOREG,460V/280A CGM Drills 1
Mackay 758483_005 IDLER GEAR 41T 2
Mackay 1550317_005 MODULE,CONTROL,CECV,HYD ASSY CGM Electric Shovels 1



Mackay 157386_450 BOX2PRI1BBL1ISP Miscellaneous 1
Mackay 1597752_005 HYDRAULIC CYLINDER CGM Roof Support 2
Mackay 912941_005 QUILL SHAFT 4.59 x FLT 2
Mackay 634914_005 COUPLINGELEMENT CGM Material Handling 1
Mackay 164708_005 BEARING HOUSING (USA) 1
Mackay 1247438_005 PIPE,8(X),SMLS CGM Draglines 48
Mackay 164867_450 LIGHT2.5MCABLEA Miscellaneous 8
Mackay 268107_005 BUSH (MAINFRAME) 8
Mackay 129742_005 COUPLING 1
Mackay 1496448_005 CYLINDER 2" X 1"x900 STR C/W L CGM Material Handling 2
Mackay 638290_005 SHAFT2NDMOTION CGM Shearer 1
Mackay 954539_005 HYDRAULIC CYLINDER ZE-200/125- 1
Mackay 302072_005 VALVE,YIELD,440 BAR CGM Roof Support 18
Mackay 1602626_005 WEAR PIECE (WELDMENT) 1
Mackay 106038_005 CH STRIPPER BRCKT 1500  DBK 34 CGM Material Handling 1
Mackay 1026937_005 O RING CGM Drills (Terex) 428
Mackay 4042248_005 GUIDE 1
Mackay H9000258_450 PRESS.FLTRWTRSEC Miscellaneous 6
Mackay 1602686_005 WEAR PIECE (WELDMENT) 1
Mackay 1125789_005 SLEEVE,SEAL CGM Electric Shovels 2
Mackay 4026980_005 GEAR SET PLANETARY 1
Mackay 196289_005 DIFFERENTIAL CAGE ASSEMBLY 1
Mackay 1170549_005 COUPLING,STEELFLEX 1
Mackay 4259144_005 VALVE, DIRECTIONAL CGM Drills (Terex) 2
Mackay 4441755_005 COMPRESSOR BRACKET CGM Trucks 3
Mackay 4010303_005 RESISTOR, RETARD GRID CGM Trucks (GE) 1
Mackay 167472_005 SEALING PLUG 1208
Mackay 373860_005 DISTANCE PIECE 5
Mackay 634698_005 SHAFT,OUTPUT MALE TO SUIT K8-B CGM Material Handling 1
Mackay 1518579_005 DOWNPIPESUPPORT CGM Diesel 3
Mackay 868010_005 SPACER RING CGM Material Handling 10
Mackay 4057632_005 REPAIR KIT BOOM CYLINDER F/S CGM Hydraulic Shovels 2
Mackay 912051_005 CABLE GLAND GWP7B   2 1/2"BSP CGM Shearer 12



Mackay 4009956_005 COLLECTOR RING ASSEMBLY CGM Trucks (GE) 1
Mackay 641303_005 TOP GEAR 22 TOOTH CGM Shearer 1
Brisbane 1452991_005 SEAL KIT CGM Trucks 5
Mackay 1488431_005 DECAL-CIRCUIT BREAKERS (J-BOX) 5
Mackay 633646_005 RING,SEALING CGM Roof Support 84
Mackay 200905_360 HYDRAULICPUMP Kress 1
Mackay 4192982_005 SEALING KIT CGM Hydraulic Shovels 3
Mackay 1247467_005 TUBESEAMLESS10.7 CGM Draglines 18
Mackay 141885_450 CONT.VACUUM3.3KV Miscellaneous 3
Mackay 978648_005 VALVE, ROTARY F CGM Drills (Terex) 1
Mackay 1279902_005 PIN,8.00x27.75,UNLUB,WELD CGM Electric Shovels 1
Mackay 1415106_005 BLOCK,DBL ELBOW,CD61 #48 CGM Electric Shovels 1
Mackay 1132633_005 350IN,CBL POS XDUCER,REEL ASSY CGM Electric Shovels 2
Mackay 1535813_005 SHAFT CGM Shovels (GE) 1
Mackay 1283301_005 PIN,4.00IN,UNLUBR,MANG,WELD CGM Electric Shovels 4
Mackay 156045_005 Burst Disc 520 Bar L 24
Mackay 1101729_005 BUSHING,16.013x17.625x13 CGM Draglines 2
Mackay 1462369_005 KIT, RH120E RAD UPGRADE 1
Brisbane 862085_005 VALVE TO COOLER FITTING 3
Mackay 1506366_005 SIDE SEAL CRH (WELDMENT) 2
Mackay 065934_360 RELIEFBREATHERVA Kress 42
Mackay 1471473_005 CENTRALIZER  BOTTOM 3
Mackay 641695_005 FILTER ELEMENT 10UM STAINLESS CGM Material Handling 5
Mackay 1239634_005 SW,MASTER,JOYSTICK,RH,VNSOEA CGM Draglines 1
Mackay 641410_005 I.S KEY PAD 2
Mackay 1142118_005 BUSHING,16.014x18.008x3.5 CGM Draglines 1
Mackay 1401024_005 CYLINDER, PIPE ARM GATE 1
Mackay 155785_005 SHAFT,PINION* 1
Mackay 4068678_005 HYDRAULIC CYLINDER CGM Roof Support 1
Mackay 1577717_005 VALVE,RELIEF,DIRECT ACTING RV3 CGM Electric Shovels 1
Mackay 4592243_005 SUPPLY AIR PLENUM CGM Drills (Terex) 4
Mackay 1134143_005 BINARY INPUT 24V CGM Electric Shovels 1
Mackay 639256_005 BEARING  ASSEMBLY TIMKEN LM241 CGM Shearer 2



Mackay 1464605_005 HOLLOW WHEEL 2
Mackay 635251_005 PLATE,LINKAGE CGM Roof Support 34
Mackay H9000277_450 SOLENOIDVALVE Miscellaneous 1
Mackay 4057576_005 GE CABINET WEATHER STRIP KIT D CGM Trucks 2
Mackay 1721060_005 HEAVY DUTY ROLLER DIA 215 X 18 1
Mackay 1415008_005 PLATE,CONNECTION,C61 #48 CGM Electric Shovels 2
Mackay 890412_005 HINGE BRACKET SPALL GUARDS 12
Mackay 1521312_005 HYDRAULIC HOSE 4
Mackay 4058075_005 HARNESSINJECTORS CGM Trucks 2
Mackay 1451907_005 PUMP-PISTON,STRG CGM Trucks 1
Mackay 1413598_005 FILTER,RETURN,450 GPM,-64 CD61 CGM Electric Shovels 1
Mackay 4122157_005 PISTON ROD CGM Roof Support 4
Mackay 4053244_005 BUSHING . CGM Hydraulic Shovels 4
Mackay 4053245_005 BUSHING . CGM Hydraulic Shovels 4
Mackay 223340_360 CONSOLEASSY Kress 1
Mackay 1603672_005 MONITORING MATERIAL (STRAINGAU 2
Mackay 1247437_005 PIPE,8(S),SMLS CGM Draglines 126
Mackay 753306_005 WASHER 275
Mackay 1288170_005 BRAKE SHOE - WELDED CGM Draglines 1
Mackay 4053344_005 MOUNTAXLEREARCA CGM Drills (Terex) 1
Mackay 660641_005 LOOSE BEARING D-150 FOR RETURN CGM Material Handling 1
Mackay 1433869_005 WINDOW,LH,LAM,LOW-E,B/G,ASSY CGM Electric Shovels 1
Mackay 1415107_005 BLOCK,DBL ELBOW,CD62 #32 CGM Electric Shovels 1
Mackay 141906_450 UPSIS110V12.6V/ Miscellaneous 1
Mackay 1028804_005 SEAL, CGM Drills (Terex) 24
Mackay 4056124_005 TOUCHSCREENTFTC CGM Drills (Terex) 1
Mackay 641300_005 QUILL SHAFT 3
Mackay 945363_005 TENSIONER M 100X6 1
Mackay 1556371_005 GREASE CGM Electric Shovels 6
Mackay 1143847_005 BSHG,CENTER PINTLE CGM Electric Shovels 1
Mackay 312750_005 CABLE SKK24 HIRSCH 1200MM 1:1 42
Mackay 1028899_005 LINE SHAFT GROUP, CGM Drills (Terex) 1
Brisbane 1358358_005 BRAKE,CALIPER,W/THRUSTER CGM Draglines 1



Mackay 862305_005 RAM ANCHOR PIN 4
Mackay 155460_005 GEAR,HELICAL* CGM Material Handling 1
Brisbane 1408837_005 BRACKETDISCBRAKE CGM Draglines 1
Mackay 101269_450 CTRLVOICECOMMVCA Miscellaneous 1
Mackay 1681323_005 DD150  DRIVE SHAFT (NEWLANDS) 2
Mackay 635600_005 SPACERCOMPLETE CGM Roof Support 67
Mackay 1156254_005 PIN,MISC. CGM Draglines 2
Mackay 133920_005 BEARING(SPH) DIN 635-239 56 MB 3
Mackay 901115_005 CIOS BP 6 1
Mackay 113312_005 UNIT, CONTROL,HYDRAULIC CGM Roof Support 1
Mackay 1463207_005 HYDRAULIC HOSE 6
Mackay 638398_005 POWERSUPPLY24V CGM Shearer 2
Brisbane 1358360_005 BRAKE,CALIPER,W/THRUSTER CGM Draglines 1
Mackay 1358990_005 FILTER,EZY FLOW CGM Electric Shovels 2
Mackay 125714_450 CABLE45M2XBBPLUG Miscellaneous 1
Mackay 282023_005 VME-FM (CAN) FIELDBUS CARD, CO 1
Mackay 4219357_005 VENT-FLOAT CGM Trucks 8
Mackay 1550316_005 MODULE,CONTROL,RECV,HYD ASSY CGM Electric Shovels 1
Mackay 1412974_005 BLOCK,Y-CONN,-40 TO -32 CD62 CGM Electric Shovels 1
Mackay 4487367_005 OUTPUT SPEED SENSOR 659657 AUS CGM Material Handling 3
Mackay 955249_005 POWER INDICATOR 28 1
Brisbane 4066267_005 DIGITAL IMAC 4 INPUT - DI4 CGM Material Handling 5
Mackay 946570_005 TEMPERATURE MONITORING TUBE AS CGM Shearer 2
Brisbane 1159273_005 BEARING CGM Draglines 1
Mackay 4220236_005 ARMORED CAMERA CABLE 11 METERS CGM Trucks 21
Mackay 633647_005 SEALING RING BACK CGM Roof Support 76
Mackay 641449_005 LEVEL / TEMP TRANSDUCER (I) 32 1
Mackay 1535812_005 SHAFT CGM Shovels (GE) 1
Mackay 4026966_005 BEARING,TAPERED CGM Hydraulic Shovels 1
Mackay 1431129_005 PIN ASSY,8.00x13.00 CGM Electric Shovels 1
Mackay 860039_005 CLAMPING RING TO DRIVE UNIT MR 2
Mackay 4105759_005 FORK EYE 1
Mackay 660603_005 BEARING HOUSING 1



Mackay 638891_005 HUB CGM Shearer 2
Mackay 518256_005 DIFFERENTIAL BEVEL WHEEL 3
Mackay 899619_005 PISTON ROD CGM Roof Support 2
Mackay 1171159_005 PIN,RD,9.500DIAx29.75 CGM Draglines 2
Mackay 1101731_005 BUSHING,16.013x17.505x13 CGM Draglines 2
Mackay 861520_005 TOUNGE PLATE TCS 52X177-6-330 CGM Material Handling 1
Mackay 1454432_005 INTERLOCK, RP CONTACTOR CGM Trucks (GE) 5
Mackay 1134613_005 FILTER ASS'Y,BY-PASS INDICATOR CGM Electric Shovels 1
Mackay 391586_005 CARRIER/SEAL(P098541) 1
Mackay 112140_005 COVER,END 1
Mackay 1009291_005 HOOK, SWIVEL CGM Drills (Terex) 8
Mackay 1117917_005 FUSE, HVC 360 AMP CGM Dragline (GE) 1
Mackay 1234709_005 HARD DRIVE,HMI SERVER,SPARE CGM Draglines 1
Mackay 1543051_005 ACCUM-BLADDER,15 GAL-CRN & AUS CGM Trucks 1
Mackay 350010_005 PRIMARY DRIVE FIXINGS  EL57 12
Mackay 161574_450 CABLE38M2XBBPLUG Miscellaneous 1
Mackay 204177_360 AXLESHAFT Kress 2
Mackay 4057141_005 KIT GUIDE RESEAL CLAM CYLINDER CGM Hydraulic Shovels 4
Mackay 1234649_005 TRANSDUCER,VOLTAGE,+/-0.1VDC 11
Mackay 373849_005 DISTANCE PIECE 8
Mackay 364307_005 THRUST WASHER 8
Mackay 1450515_005 PUMP,HOIST-GEAR CGM Trucks 1
Brisbane 847559_005 PUMPFILTERMANIFO CGM Shearer 1
Mackay 4044790_005 MOUNT,DISPLAY UNIT CGM Trucks 3
Mackay 1464604_005 HOLLOW WHEEL 1
Mackay 145514_005 VALVE,BURST,520 BAR 10
Mackay 505736_005 BATTERY,SEMS I.S - ASSEMBLY 2
Mackay 363370_005 PMC-P NETWORK PROVIDER) 1
Mackay 10115/F_190 24VDCELECTDRMOT Dealer Made Extras 2
Mackay 1452480_005 CYLINDER,STEERING CGM Trucks 1
Mackay S-3598-LTH_450 ZLATELONG/THICK Miscellaneous 43
Mackay 750533_005 FILTER 3
Mackay 4021907_005 KIT SEAL STICK CYLINDER 2



Mackay 4042853_005 PIN,IBS ROPE LINK CGM Electric Shovels 2
Mackay 4214597_005 CLAMP, ACCUM. 9-3/4 CGM Trucks 40
Mackay 901094_005 CIOS RTD12 PH 1
Mackay 862819_005 AIR COMPRESSOR 164-7559 CGM Diesel 1
Mackay 4011855_005 BRACKET,ENG/ALT R.H. CGM Trucks 1
Mackay 777165_005 HEAT EXCHANGER ASSEMBL.DIMENSI CGM Material Handling 2
Mackay 125712_450 CABLE35M2XBBPLUG Miscellaneous 1
Mackay 945157_005 LUBRICATION HOSE BRACKET FLAP CGM Material Handling 4
Mackay 985152_005 TUBE, 5" OD. LOWER I CGM Drills (Terex) 8
Brisbane 4192982_005 SEALING KIT CGM Hydraulic Shovels 2
Mackay 1465327_005 GEAR SET-5 SPURS 3
Mackay 502211_005 REF: D507030 HEADLIGHT ASSY FL CGM Diesel 6
Mackay 1458800_005 ROD-PANHARD,REAR AXLE CGM Trucks 1
Brisbane 1253646_005 BRG,RU,CYL ROLLER CGM Draglines 2
Mackay 014159_360 TORQUECONV/BREATH Kress 23
Mackay 1457922_005 SEALING KIT 4
Mackay 4441754_005 COMPRESSOR MOUNT CGM Trucks 3
Mackay 1237577_005 HOIST BLOWER CGM Draglines 1
Mackay 224305_005 BUSH,MAINFRAME CGM Shearer 4
Mackay 127713_005 BEARING(SPH) DIN 635-240 44-MB 2
Mackay 228117_005 LOVEJOY COUPLING (AUST) CGM Transport 1
Brisbane 847601_005 OIL COOLER ASSEMBLY 2
Mackay 4247908_005 HYDRAULIC MOTOR 2
Mackay H9000332_450 SOLENOIDFILLVLVE Miscellaneous 1
Mackay 4026445_005 HYDRAULIC HOSE 2
Mackay 1160717_005 BRG,CYL ROLLER CGM Draglines 4
Mackay 277833_005 KEEPER PLATE 36
Mackay 1492040_005 TOUNGE PLATE TCS 52X177-6-330 1
Mackay 1282252_005 END CAP,PL,2.50x12x12 CGM Electric Shovels 2
Mackay 345451_005 SHAFT, QUILL, EL55B and EL55C 1
Mackay 3051S2CD4A2E12A1KB_450 PRESS.TRANSDUCERR Miscellaneous 1
Brisbane 1415025_005 VALVE,CRTG,ACTIVE,NG63 CGM Electric Shovels 1
Mackay 1418572_005 KIT,HOSE-TUBE CLEANING CGM Electric Shovels 1



Mackay 1431131_005 PIN,RD,8.00x13.00 CGM Electric Shovels 2
Mackay 1450509_005 ARC CHUTE CGM Trucks (GE) 6
Mackay 1240952_005 VALVE,MAG,115VAC,W/SUPRSR CGM Electric Shovels 1
Brisbane 1360873_005 SEAL,SHAFT,32 ID CGM Draglines 2
Mackay 365047_005 SEALED ROTARY SENSOR SRS 880 2
Brisbane 1162775_005 BEARING CGM Draglines 1
Mackay 1288980_005 BUSHING,8.05x9.498x4.00 CGM Electric Shovels 2
Mackay 1407079_005 GROMMET,SPLIT,HANDRAIL CGM Electric Shovels 24
Mackay 1637242_005 ENCLOSURE FLAMEPROOF PRESSURE 2
Mackay 634257_005 CABLE, 20 CORE, 10 PAIR SCREEN 120
Mackay 206887_005 BUSH,MAINFRAME 4
Mackay 131656_450 P/SUPP240VAC12VD Miscellaneous 2
Mackay 1452991_005 SEAL KIT CGM Trucks 3
Mackay 1415085_005 GUARD,BOOM TUBE ASSY,WELDED CGM Electric Shovels 1
Mackay 1453566_005 CARD CGM Trucks (GE) 1
Mackay 208434_005 RAM ANCHOR PIN 4
Mackay 4395411_005 SPACER RING 6
Mackay 1286797_005 SEAL,OIL,PL,2.63x27 1
Brisbane 979411_005 CABLE,PULLDOWN CGM Drills (Terex) 2
Mackay 1456670_005 SPUR GEAR 2
Mackay 1457924_005 SEALING KIT CGM Hydraulic Shovels 2
Mackay 1414892_005 GRIP,STRUT,WELDED CGM Electric Shovels 4
Mackay 510002_005 POWERFILLGROUP CGM Diesel 2
Mackay 775110_005 TOROID 25MM I/D TYPE C18068 SE 1
Mackay 110148_450 MODULE3.3KVCABLE Miscellaneous 1
Mackay 203909_005 CLEVIS 9
Mackay 1603058_005 PROTECTIV COVER (WELDMENT) 6
Mackay 1528220_005 HYDRAULIC MOTOR 1
Mackay 630586_005 LID WITH ELECTRICAL HIRSCHM.-P CGM Roof Support 26
Mackay 831965_005 CLEVIS PIN 2
Mackay 4025782_005 ELBOW 2
Mackay 4057147_005 REPAIR KIT STICK CYLINDER B/H CGM Hydraulic Shovels 2
Mackay 1342719_005 PL,LABYRINTH,1.5x18x18 CGM Draglines 2



Mackay 634626_005 3 NOZZLE SPRAY BAR 3
Mackay 4017282_005 GEAR SPUR PUMP DRIVE GEARBOX 2
Mackay 890426_005 HINGE BRACKET CYLINDER 12
Mackay 110097_450 RELAYOMAV3.0EFL Miscellaneous 3
Mackay 272372_005 HEAT EXCHANGER CPL ASSEMBLY DI CGM Material Handling 1
Mackay 763589_005 CYL ROLLER BEARING 65X140X48 ( CGM Shearer 6
Mackay 4056593_005 SEAT ONLY OPERATORS CAB CGM Drills (Terex) 1
Mackay 955713_005 AUX CABLE, ECB3 - LH RADIO T-C 1
Mackay 130405_005 FLIGHT BAR PF 4/1132 TCS 42X14 CGM Material Handling 9
Mackay 4043939_005 SPACER-BAND, 16"WIDE X 3/4"T CGM Trucks 1
Mackay 1140390_005 RETAINER,PL,2x22DIA. CGM Draglines 1
Mackay 759911_005 COVER 4
Mackay 946673_005 AUX CABLE, ECB3 - LH END DISPL 1
Mackay 982688_005 CABLE, 12M HOIST & 30' PULLDOW CGM Drills (Terex) 2
Mackay 750531_005 PRESSURE FILTER 8606SERIES 3/4 2
Mackay 660613_005 PRIMARY PLANET GEAR 6
Mackay 1535809_005 SPACER CGM Shovels (GE) 4
Mackay 270777_005 TAPERED BUSH 3
Mackay 1149837_005 PL,.75x24.88x216 CGM Electric Shovels 1
Mackay 634175_005 KEYBOARDISWITHM CGM Material Handling 1
Mackay 203748_005 BAL SEAL GUIDE RING 5
Mackay 633640_005 SPRING,SLEEVE CGM Roof Support 14
Mackay HM04374_450 YOKEAS Miscellaneous 2
Mackay H9000340_450 TRANSDUCER Miscellaneous 1
Brisbane 987245_005 ANCHOR-HOIST/PULLDOWN TENSION CGM Drills (Terex) 1
Mackay 2735724HD_008 PROD/LINKPL321 Miscellaneous Parts Not Elsewhere Classified 2
Mackay 4057348_005 NUT LOCK BOTTOM SLEW GEARBOX CGM Hydraulic Shovels 17
Mackay 4062706_005 STUDBOLT M42X4.5 X615-10.9 (SQ 6
Mackay 4426743_005 CABLE ASSY PROFIBUS ARMOURED 2 1
Mackay 1477305_005 SHEET 10GA X 23-5/16 X 24-1/4 CGM Trucks 11
Mackay 866916_005 CHAIN STRIPPER TCS 52X177-6 PC 2
Mackay 121030_450 VAAL/ORISLONGWA Miscellaneous 1
Mackay 1483789_005 RING46.400x43.037 CGM Draglines 1



Mackay 4042540_005 ELECTRICAL SYSTEM 2
Mackay P566486_210 Hydraulic Filter, Ca Donaldson 40
Mackay 4000365_005 INDICATORBRAKEPO CGM Draglines 2
Mackay HM00400_450 DRIVESHAFT Miscellaneous 1
Mackay 1239631_005 SW,MSTR,1-AXIS,VNSO,LH JOYSTIC CGM Draglines 1
Mackay 633684_005 HOSE CABLE SKK24 SKK24 9500MM 8
Mackay 4021067_005 GASKET SET 2
Mackay 125590_450 CABLE4M2XBBPLUG Miscellaneous 2
Mackay 634050_005 VALVE,CARTRIDGE PILOT OPERATED CGM Roof Support 10
Mackay 138833_005 RING,SEALING CGM Material Handling 4
Mackay 1457923_005 SEALING KIT CGM Hydraulic Shovels 2
Mackay 347522_005 SHIM PACK 3
Mackay 955714_005 AUX CABLE, ECB3 - RH END DISPL 1
Mackay 1027714_005 TUBE, CGM Drills (Terex) 60
Mackay 4056836_005 ISRI SEAT ASSEMBLY CAB ASSEMBL 1
Mackay 164445_450 FUSE3.6KV292MM2 Miscellaneous 6
Mackay 4052550_005 ACTUATORENGINE CGM Hydraulic Shovels 1
Brisbane 1116125_005 COUPLING HALF (SHAFT END) CGM Draglines 1
Mackay 506562_005 WATER PUMP DRIVE** CGM Diesel 1
Mackay 1681326_005 TAPPED PLATE 1 HOLE M42 6
Mackay 249493_005 GEAR WHEEL CGM Shearer 1
Mackay 831588_005 HOSE CABLE SKK24 OS4 3200/300 15
Mackay 1124681_005 AMPLIFIER, OUTPUT MEASURING CGM Draglines 1
Mackay 1568052_005 CHAIN STRIPPER SPR5 34/38X126- CGM Material Handling 4
Mackay 1453976_005 SHUNT CGM Trucks (GE) 15
Mackay 659657_005 OUTPUT SPEED SENSOR SIZE 30/65 CGM Material Handling 2
Mackay 846309_005 BEARING HOUSING 1
Mackay 1239633_005 SW,MASTER,JOYSTICK,LH,VNSOE CGM Draglines 1
Mackay 861885_005 WIPER BLADE REPLACEABLE 52X177 1
Mackay 957380_005 SOLENOID DRIVER ASL22-PMC WITH 2
Mackay 1504360_005 BEARING SLEEVE CGM Material Handling 1
Mackay 1465333_005 GEAR SET CGM Hydraulic Shovels 1
Mackay 634940_005 RETAINING RING 2P. MOVABLE BEA 1



Mackay 1599891_005 SHEET6x464x492mm CGM Electric Shovels 8
Mackay 4239861_005 PRESSURE PIECE CGM Hydraulic Shovels 1
Brisbane 945370_005 THREADED BOLT FOR BOLTING M 10 2
Mackay 1453139_005 STARTER-ELECTRIC 2
Mackay 634751_005 CYLINDER,HYDRAULIC DOUBLE ACT 1
Mackay 750011_005 SPH ROLLER BEARING - 100 X 215 CGM Shearer 6
Mackay 1405823_005 BRACKET,.75 TRIP ROPE,WELDED CGM Electric Shovels 1
Mackay 750201_005 M36  X 4 HYD NUT (TOP COLLAR) 6
Mackay 760132_005 ANCHOR PIN 9
Mackay 1468908_005 BRAKE DISC CGM Trucks 2
Mackay 518667_005 TRANSMISSION OIL COOLER 2
Mackay 4352359_005 GUIDE 1
Mackay 633648_005 RING,SEALING CGM Roof Support 93
Brisbane 1139516_005 TIE,HEAD,MAST CGM Draglines 2
Mackay 750516_005 FILTER ELEMENT 5
Mackay 1506372_005 SIDE SEAL CLH (WELDMENT) 1
Mackay 637660_005 PUMP  GEAR CGM Shearer 2
Mackay 1556357_005 GREASE CGM Electric Shovels 26
Mackay 980562_005 TUBE,TOP-CAROUSEL CGM Drills (Terex) 1
Mackay 4017703_005 AXLE CGM Hydraulic Shovels 4
Mackay 1681324_005 BUSH FOR DM150-E (NEWLANDS) 1
Mackay 1527356_005 FUSE,SIBA HV HRC,125A,6-12KV CGM Electric Shovels 3
Mackay 4025941_005 RAILINGS 3
Mackay 8X9703KIT_008 BRAKEINSTALLKIT Miscellaneous Parts Not Elsewhere Classified 2
Mackay 4058296_005 FLOW RESTRICTOR ENGINE CGM Trucks 6
Mackay 1485082_005 VALVE,RELIEF,DIR ACT CART 4000 CGM Electric Shovels 4
Mackay 1137957_005 POWER SUPPLY,AC/DC CONVERTER CGM Draglines 1
Brisbane 1195656_005 BEARING,W/SPACER CGM Draglines 1
Mackay 861072_005 BLANK HOLDER 2
Mackay 1452924_005 CABLE ASSEMBLY-SPEED SENSOR CGM Trucks (GE) 1
Mackay 4057590_005 REPAIR KIT BUCKET CYLINDER B/H CGM Hydraulic Shovels 2
Mackay 1567634_005 HYDRAULIC CYLINDER ZE-165/90-3 1
Mackay 505734_005 HEADER TANK 2



Mackay 127703_005 BEARING(SPH) DIN 635-23136-MB 2
Mackay 4000361_005 INDICATOR CGM Draglines 2
Brisbane 948396_005 TEMPERATURE SENSOR PROBE 2
Mackay 641393_005 SPACER 9
Mackay 1132422_005 KIT,OIL SEAL RBUILD,FLENDER 21 CGM Electric Shovels 1
Brisbane 1413121_005 KIT,HOSE,PNEUMATIC CGM Draglines 4
Mackay 887124_005 1 x 4 SPRAY BAR WELDMENT 2
Mackay 4129063_005 HYDRAULIC HOSE 2
Mackay 1615479_005 DEV1AUSExDOUBLE CGM Material Handling 78
Mackay 4052556_005 GASKET ROCKER LEVER COVER ENGI CGM Hydraulic Shovels 22
Mackay 1452846_005 KIT-HEADLIGHT 22
Mackay 1029878_005 FLANGE, CGM Drills (Terex) 1
Brisbane 862081_005 TANK TO PUMP HOSE ASSEMBLY 2
Mackay 660589_005 SECONDARY PLANET GEAR 5
Mackay 1436531_005 DISC,BRAKE CGM Draglines 1
Mackay 1680599_005 DISCONNECT,3,40A.D.T. 2
Mackay 4220234_005 ARMORED CAMERA CABLE 3 METERS CGM Trucks 20
Mackay 120964_450 CTRLIMACSTAN.24V Miscellaneous 1
Mackay 1453669_005 SEAL-OIL  T.T. INNER CGM Trucks (GE) 1
Mackay 4405251_005 SHIM SET 1
Mackay 859983_005 MICROSWITCH CAM 2
Brisbane 1617525_005 PUMP, AXIAL PISTON, LOAD SENSE CGM Drills (Terex) 1
Mackay 507030_005 HEAD LIGHT ASSEMBLY F/P 13MM G 4
Mackay 961365_005 FLIPPER PIN #5 9
Mackay 912781_005 FANMOUNT CGM Diesel 2
Mackay 515308_005 IMPLEMENT PUMP 1
Mackay 4486852_005 MANIFOLD BOX FOR CST-PMC-D 369 CGM Material Handling 1
Mackay 633901_005 CHAINJOINERBLOCK CGM Material Handling 3
Mackay 106198_450 DETECT.CH4420MA Miscellaneous 1
Mackay 1014942_005 SHAFT CGM Drills (Terex) 1
Mackay 1715587_005 CYLINDER,HYDRAULIC,3"X2"X212MM CGM Material Handling 1
Mackay 1454071_005 SUN PINION SHFT & RNG CGM Trucks (GE) 1
Mackay 226127_005 PLANET GEAR CGM Shearer 3



Mackay 1465809_005 FLANGE BLOCK 6
Mackay 641206_005 SINGLE ACTING SOLENOID 1
Mackay 1427841_005 DIPPER TRIP,LFD,BSHG SHIP ASSY CGM Electric Shovels 1
Mackay 1510611_005 SPROCKET CGM Drills (Terex) 1
Mackay 109046_005 CAP,END CGM Material Handling 6
Mackay 632459_005 HOSE CABLE SKK24 5500MM 1:1 2, 8
Mackay 364823_005 TOLLOCK BUSH 4
Mackay 145351_005 VALVE SEAT 45
Brisbane 1253621_005 BEARING,CYLINDRICAL ROLLER CGM Draglines 2
Mackay 4017440_005 GASKET SET 12
Mackay 753747_005 RETAINING BOSS 19
Mackay 1467993_005 CLAMP CGM Trucks 9
Mackay 1580716_005 FLEXIBLE FLANGE (RUBBER) CGM Drills (Terex) 1
Mackay 1580719_005 FLEXIBLE FLANGE (RUBBER) CGM Drills (Terex) 1
Mackay 1491380_005 EPICYCLIC COOLER RA0750 CGM Shearer 1
Brisbane 1101732_005 WASHER,THRUST 16x22x1.25 2
Mackay 1433994_005 WINDOW,SMALL,RH,INSUL,B/G,ASSY CGM Electric Shovels 1
Mackay 110147_450 MODULE1KVCABLEC Miscellaneous 2
Brisbane 1164782_005 PIN CGM Draglines 1
Mackay 739752_005 CYLINDER 1
Mackay 1196669_005 BUSHING,10.06x14.01x7 1
Mackay 270775_005 TAPERED BUSH ( L/BRKT ) 3
Mackay 127667_005 BEARING(TAPER-BALL) 7330 B.MP. 2
Mackay 852341_005 STEER DCV EHPS - DANFOSS CGM Diesel 1
Brisbane 1648992_005 SEAL KIT, NITRILE 1
Mackay 1648992_005 SEAL KIT, NITRILE 1
Mackay 639485_005 RELAYCONTROL110V CGM Continuous Miner 6
Mackay 1459445_005 PUMP CGM Hydraulic Shovels 1
Mackay 1422191_005 JUNCT.BOX(JB31) CGM Electric Shovels 1
Mackay 1247409_005 PIPE5(S)SMLS CGM Electric Shovels 33
Mackay 948308_005 RADIATOR MODULE 1
Mackay 1288252_005 INSERT,RD,5.5x16.25 CGM Drills 1
Mackay 510591_005 CONTROLLER RTD 70C SEMS 3



Mackay 4017284_005 GEAR SPUR PUMP DRIVE GEARBOX 1
Brisbane 1521930_005 FLANGED BUSH 6
Mackay 4086203_005 PIVOTBRACKET CGM Material Handling 1
Mackay 128559_005 INTERNAL BODY 781-14-0017 CGM Material Handling 3
Brisbane 1160448_005 SPRING CGM Draglines 2
Mackay 637832_005 TOP COVER - BOTTOM HINGE (STEL 12
Mackay 1562719_005 COVER,ISOLTN VLV,PICV,HYD ASSY CGM Electric Shovels 1
Mackay 1574941_005 CRUSHEROILSIGHT CGM Material Handling 2
Mackay 128575_005 NUT M 200X3;TYP AS 2
Mackay 055423_360 VALVEW/5PSICHECK Kress 2
Mackay 380891_005 RETAINING RING FIXED BEARING S 1
Brisbane 1137538_005 HUB,FLEX REBORE CGM Draglines 1
Mackay 887319_005 FAN MOTOR CGM Diesel 1
Mackay 270770_005 TAPERED BUSH 3
Mackay 763587_005 CYL.ROLLER BEARING NJ 326 EC-J CGM Shearer 2
Mackay 1513884_005 COIL,ELECTRIC HEATER CGM Electric Shovels 6
Mackay 55JFPSA1020E_450 FORKPOSITIONER Miscellaneous 1
Mackay 870951_005 BUSH 1
Mackay 505623_005 SWIVEL PIN 6
Mackay 1680508_005 RELAY,10KV,10A,HIGH VOLT CGM Electric Shovels 1
Mackay 113680_005 I/O PCB - PM4 3
Mackay D5260201005SX_450 12V4000REMANTURB Miscellaneous 1
Brisbane 1360826_005 SEAL,OIL CGM Draglines 3
Mackay 112391_005 SAVETY PIN CGM Material Handling 41
Mackay 1483440_005 COIL,CONDENSER CGM Electric Shovels 1
Mackay 1459240_005 RELIEF VALVE-USE 1520888 CGM Hydraulic Shovels 5
Brisbane 4027104_005 GUARD GRID CGM Hydraulic Shovels 2
Mackay 4011686_005 WEDGE CGM Trucks (GE) 6
Mackay 957378_005 SOLENOIDDRIVERPM CGM Roof Support 1
Mackay 271226_005 CONE,VALVE 45
Brisbane 1177503_005 BUSHING,6.018x7.008x3.50 CGM Drills 2
Mackay 660586_005 SEAL HOUSING 1
Mackay 1036887_005 1754780 VALVE, SHUT OFF 3



Mackay 641345_005 IDLER COVER CGM Shearer 1
Mackay 4021389_005 HYDRAULIC HOSE 17
Mackay 503131_005 PIN LOWER LIFT ARM COMPONENTS CGM Diesel 6
Mackay 1240950_005 VALVE,SOL,NO,125V DC CGM Drills 1
Mackay 992912_005 PUMP-GEAR-2 SECTION CGM Drills (Terex) 1
Mackay 4043699_005 GLASSSIDE(DUAL) CGM Trucks 2
Mackay 1027723_005 NUT, 2
Mackay 110144_450 MODULEDNETIPSID Miscellaneous 4
Mackay A112119-01_200 MODIFYTANK Dealer Made Extras Engineering 2
Mackay 1236873_005 MODULE,CL,CONTROLNET CGM Draglines 1
Mackay 1134129_005 POWER SUPPLY CGM Electric Shovels 1
Mackay 4010279_005 SUSP KIT-DAMP-SPG-VALVE 84632E CGM Trucks 1
Mackay 224182_360 NITROGENTUBEKIT Kress 1
Mackay 1528164_005 VALVE,DIRECTIONAL,D03 CGM Electric Shovels 2
Mackay 1546880_005 MANIFOLD,C8,HYD ASSY CGM Electric Shovels 1
Mackay 121039_450 EOL3WIRESTD.LONG Miscellaneous 1
Mackay H9000506_450 TRANS.LUBEOILPR Miscellaneous 2
Mackay 1324356_005 RETAINER,PL,2.25x18.25x18.25 1
Mackay 1452376_005 CONTACTOR W/O INTERLK CGM Trucks (GE) 1
Mackay 4056571_005 BOLT SOCKET HEAD SET OF 4 CENT CGM Drills (Terex) 24
Mackay 1563968_005 VALVE, 2.5" SS MAIN AIR BALL CGM Drills (Terex) 1
Mackay 505752_005 SEMS RUN SOLENOID ASSEMBLY CGM Diesel 2
Mackay 660612_005 SECONDARY  SUN GEAR 1
Mackay 634088_005 FILTER ELEMENT (PRESSURE CIRCU CGM Material Handling 3
Mackay 4316230_005 CHARGER C7 BATTERY MAINS 2
Mackay 1572390_005 CAMERA, FLAMEPROOFED ENCLOSURE 2
Mackay 4053388_005 DRIVE PULLEY AIR CONDITIONING CGM Hydraulic Shovels 1
Mackay 4043283_005 GLASS-ELECT WINDOW 5
Mackay 873103_005 RADIATOR MODULE 1
Mackay 1452470_005 HANDRAIL,RIGHT SIDE CGM Trucks 1
Mackay 4375877_005 RELIEF VALVE RDHA-CCN  350BAR CGM Shearer 2
Mackay 4044738_005 HOSE ASSY FC300-16 12
Mackay 912143_005 BUSH 2



Mackay 861090_005 HV FUSE ASSEMBLY 1
Mackay 1253646_005 BRG,RU,CYL ROLLER CGM Draglines 1
Mackay 1405824_005 ROPE,DIPPER TRIP CGM Electric Shovels 5
Mackay 1483466_005 POWER SUPPLY,3P INPUT 24V 20A CGM Electric Shovels 1
Mackay 4010510_005 CAPACITOR HARDWARE KIT 19
Mackay 101177_450 VAAPANELMOUNTIS Miscellaneous 2
Brisbane 1162773_005 BEARING,W/SPACR CGM Draglines 1
Mackay 1415013_005 BLOCK,Y-CONN,-48 TO -48,CD61 1
Mackay 1059016_005 WELD'T, INTERMEDIATE RUB RAIL CGM Continuous Miner 2
Mackay 1520484_005 ARC SHIELD ASSEMBLY CGM Electric Shovels 2
Mackay 931702_005 STUDBOLT M30 X3.5 X 315 -10.9 8
Mackay 1453033_005 ROLLER BEARING CGM Trucks (GE) 1
Brisbane 1160717_005 BRG,CYL ROLLER CGM Draglines 2
Mackay 679095_005 WEDGE ASSEMBLY CGM Material Handling 22
Mackay 350011_005 SECONDARY DRIVE FIXINGS  EL57 10
Brisbane 640754_005 HINGE, MALE 6
Mackay 4057349_005 NUT LOCK TOP SLEW GEARBOX CGM Hydraulic Shovels 13
Mackay 900383_005 PIVOT ARM 1
Mackay 1002489_005 MODULE, CONTROLLER CGM Drills (Terex) 1
Mackay 101489_450 MODULE415VCABLE Miscellaneous 2
Brisbane 4067089_005 ANALOGUE IMAC INPUT 0-10V CGM Material Handling 2
Mackay 1451235_005 CARD, DIGITAL 1 CGM Trucks (GE) 1
Mackay 757034_005 FLOW DIVIDER 2
Mackay 1134873_005 FAN 1
Mackay 1042052_005 1HPR781X KIT, CHARGE CGM Drills (Terex) 1
Mackay 1682608_005 SLEVVE HOLDER CGM Roof Support 2
Mackay 127695_005 BEARING(SPH) DIN 635-22322-MB 2
Mackay 112105_005 STRIPPER FINGER 2
Mackay 506009_005 PIPE - HEAT EXCHANGER OUTLET 4
Mackay 633914_005 NUTMECHANICALM42 CGM Material Handling 4
Mackay 641164_005 VALVE, FLOW CONTROL, PRESSURE CGM Continuous Miner 2
Mackay 4220238_005 CAMERA SYSTEM SWITCHER, IP67 CGM Trucks 14
Mackay 125022_450 P/SUPP110VAC12VD Miscellaneous 1



Mackay 125019_450 P/SUPP110VAC12VD Miscellaneous 1
Mackay 750012_005 SPHERICAL ROLLER BEARING 223 2 CGM Shearer 2
Mackay 4026386_005 ELBOW CGM Hydraulic Shovels 2
Mackay EAF5042_210 EnduranceVersion Donaldson 21
Mackay 1247421_005 PIPE,6(X),SMLS CGM Draglines 47
Mackay 4027851_005 SPUR GEAR PUMP GEARBOX 2
Mackay 110145_450 MODULERTUD1V01 Miscellaneous 2
Mackay 1124679_005 BINARY, INPUT CGM Draglines 1
Mackay 1434992_005 BSHG,4.003IDx4.752x2.50 CGM Electric Shovels 3
Mackay 244247_005 BUSH FOR CLEVIS 3
Mackay 663172_005 HEX.HEAD BOLT ISO 4014-M 36X16 CGM Material Handling 36
Mackay 4259143_005 CHECK VALVE, PILOT OPERATED CGM Drills (Terex) 2
Mackay 758485_005 PLANET GEAR  ( SECONDARY ) 1
Mackay 502423_005 BUSH,LIFT CYLINDER CGM Diesel 6
Mackay 4053315_005 SENSORBLOWBYFLOW CGM Hydraulic Shovels 2
Brisbane 1695098_005 SAMSON JACK MOUNTING MANIFOLD CGM Material Handling 1
Mackay 130326_005 RING 1
Mackay 1235930_005 ENCODER,ABS,1-TURN,GRAY CGM Electric Shovels 1
Mackay 113677_005 KEYBOARD 3
Mackay 1602232_005 LEG POCKET FILLER -FRONT- CGM Roof Support 1
Mackay 1412929_005 KIT,TUBE-HOSE CLEANING,HYD CRD CGM Electric Shovels 4
Mackay 4012921_005 FAN-BLOWN GRID 1
Mackay 1140645_005 PL,1,938x11.5x11.5 CGM Draglines 1
Mackay 8E4542ARM-HD_008 ENDEDGEW/ARM Miscellaneous Ground Engaging Tools 21
Mackay A228622_200 LABELPM4TYPE Dealer Made Extras Engineering 70
Mackay 1567169_005 BUSH 1
Mackay 518714_005 INTAKE SHUTOFF VALVE ASSEMBLY 1
Mackay 1493190_005 VALVE,CARTRIDGE,RECV CGM Electric Shovels 1
Mackay 1237111_005 SWITCH,ETHERNET,16PT,UNMANAGED CGM Draglines 1
Mackay 160629_450 P/S2.5A2.5A12V Miscellaneous 1
Mackay 5241840501.MDD_450 LUBEFILTER Miscellaneous 20
Mackay 4057571_005 BRACKET KIT FIBRE OPTIC CARD CGM Trucks 2
Mackay 859242_005 BRAKE/STEER PUMP 1



Mackay 1451579_005 HOSE CGM Hydraulic Shovels 8
Mackay 223592_360 Emergency Stop Switc Kress 2
Mackay 1463308_005 HYDRAULIC HOSE 2
Brisbane 1141081_005 SPACER,SEAL,PL,2.25x18DIA CGM Draglines 1
Mackay 239990_005 SUPPORT HOUSING 2
Mackay 110141_450 MODULEKEYPADIPD Miscellaneous 2
Mackay 1066571_005 POWERWATCHDOG 1
Mackay 4405357_005 RLED MONITOR, 7 INCH CGM Trucks 1
Brisbane ORANU1000_020 AERIALTWINPACK All make Parts 17
Mackay 641699_005 FILTER ELEMENT 40 MICRON 17
Mackay 1527351_005 SWITCHAUXILIARYD CGM Electric Shovels 1
Mackay 754196_005 HEX.HEAD SCREW M 30X2X140-10.9 48
Mackay 1415026_005 VALVE,CARTRIDGE,STD,NG63 CGM Electric Shovels 1
Mackay 1413576_005 VALVE,BALL,#48 CD61-#48 HOSE CGM Electric Shovels 1
Mackay 945495_005 GEAR CUPPLING 2
Mackay 202972_360 SEPARATOR(A) Kress 2
Brisbane 514608_005 SETCO METHAN HEAD (O.5% WARN & 1
Mackay 514608_005 SETCO METHAN HEAD (O.5% WARN & 1
Mackay 1456899_005 SPACER-BAND CGM Trucks 1
Mackay 4058247_005 O-RING ENGINE CGM Trucks 33
Mackay 1012938_005 KIT, REPAIR, MI CGM Drills (Terex) 1
Brisbane 1156912_005 BRG,TAPERED ROLLER,TYPE TDO CGM Draglines 1
Mackay 4056570_005 ELEMENT FLEXIBLE FLANGE PUMP D 1
Mackay 762394_005 SEAL HOUSING, TOP 1
Brisbane GY1R12401_480 SPRINGAIR9900 Navistar 12
Mackay 509439_005 INLET AFTERCOOLER 1
Mackay H9000419_450 FLOWSWITCH Miscellaneous 2
Mackay 961256_005 BALL VALVE DN20 W/BLUE LKG HAN 10
Mackay 144340_450 P/SUPP5AF/DRIVEN Miscellaneous 1
Brisbane 945366_005 THRUST WASHER 116/206X20 3
Mackay 4302151_005 REPAIR KIT FOR 5/3 WAY BLOCK 5
Mackay 1288979_005 BUSHING,8.05x9.498x7.50 CGM Electric Shovels 1
Mackay 337757_005 WEAR PAD CGM Roof Support 4



Mackay 630391_005 Angular contact ball bearing 2
Mackay 1413670_005 JOINT,EXPANSION,10 FL,8 LONG 2
Mackay 842547_005 COOLER HAULAGE UNIT HU150 1
Mackay 1692316_005 FAN/ALTERNATOR PUMP 1
Mackay 111594_005 HOSE CABLE SKK24 SKK24 800MM 1 7
Mackay 1226790_005 BUSHING,8.289x9.535x14.96 CGM Electric Shovels 2
Mackay 873541_005 AIR INTAKE COVER WELDMENT 1
Mackay 634813_005 WARNING LAMP WL2-1 HIRSCH GREE 1
Mackay 1535817_005 BEARING,BALL CGM Shovels (GE) 1
Mackay 127687_005 BEARING(SPH) DIN 635-22228-MB 2
Mackay 634180_005 ISBARRIERS CGM Material Handling 2
Mackay 1466241_005 FINAL DRIVE PINION 2
Mackay 1135761_005 CAPCHORDEND350N CGM Electric Shovels 15
Mackay 107556_005 END CAP,NG6 VALVE CARTRIDGE 19
Mackay 4025886_005 LINE HYDRAULIC TUBE 1
Mackay 1452056_005 OIL SEAL CGM Trucks (GE) 2
Mackay 961366_005 FLIPPER PIN #6 DETAIL 5
Mackay 109369_005 BOLT,NECKED DOWN M48X3X320/65 9
Mackay 505074_005 FAN ANTI-CAVITATION RELIEF BLO 2
Mackay 1462142_005 LIGHT,FLOOD,HALOGEN 24
Mackay 660606_005 ADAPTOR COVER 1
Mackay 505990_005 DRIVE SHAFT - AXLE BREVINI TO 1
Mackay 635401_005 PIN, D43 X 155 TILT CYLINDER F CGM Roof Support 13
Mackay 1464613_005 HOLLOW WHEEL 1
Mackay 374141_005 VOLTAGE MONITOR TRX 1
Mackay 234236_005 GAUGE,PRESSURE 2
Mackay 019780_360 RODINSERT Kress 1
Mackay 4405814_005 BOARD, TEMPERATURE CONTROL CGM Drills (Terex) 1
Mackay 503130_005 PIN TOP - LIFT CYLINDER CGM Diesel 5
Mackay 1609366_005 SWITCH,PRESSURE,300 BAR CGM Draglines 2
Brisbane 507842_005 AIR CLEANER ASSEMBLY CGM Diesel 1
Mackay 4023058_005 FUSE FRONT SHELL 5
Mackay 848563_005 DD150 PIVOT PIN RETAINER INNER 1



Mackay 634985_005 ROD,THREADED M42X3X1090 SK1400 CGM Material Handling 5
Mackay 1234791_005 BRKR,1P,.02A,65V,AM 5
Mackay 108706_005 CAM CGM Roof Support 12
Mackay 634807_005 ISOLATION COUPLER PMC/ICI: AUS 1
Mackay 164511_005 FILTER ELEMENT CGM Roof Support 20
Mackay 514362_005 BLANKING PLATE 6
Mackay 641505_005 CABLE 241.3 35MM 16
Mackay 4000374_005 ON COIL,CIRCUIT BREAKER CGM Draglines 1
Mackay 901129_005 HT-SENSOR 1
Mackay 4018286_005 TAP.ROLLERBEARING CGM Hydraulic Shovels 1
Mackay 1561300_005 VALVE,DIRECTIONAL,D03 CGM Electric Shovels 2
Mackay 4220274_005 VALVE-STR ORBITROL CGM Trucks 1
Mackay 4063649_005 LUG,MOTOR,LH CGM Electric Shovels 2
Mackay 4055935_005 WIPER SEAL DUST PLENUM CHAMBER 3
Mackay 4000723_005 TESTWELDCOUPON CGM Electric Shovels 18
Mackay 1244446_005 CONTACTOR,HEAVY DUTY SIZE 1 CGM Draglines 1
Mackay 660614_005 PRIMARY SUN GEAR 1
Mackay 634726_005 INSERT,THREADED, M42x1.5 x M30 CGM Material Handling 12
Mackay 872567_005 POWER SUPPLY 100-240VAC/12-15V 1
Mackay 003763-001_450 ELEMENTSEP Miscellaneous 4
Mackay 1148495_005 HOSE ASSY,-32 CODE 62,STR-STR CGM Electric Shovels 2
Mackay 634355_005 LOAD RING, VLBS-1.5 22
Mackay 1223349_005 GRID,COUPLING FOR 1120T10 CGM Electric Shovels 1
Mackay 4274815_005 BREATHER,HYD PWR UNIT CGM Electric Shovels 2
Mackay 1236815_005 MODULE,INPUT,16PT,24VDC CGM Electric Shovels 2
Mackay 1342731_005 RETAINER,BEARING CGM Draglines 1
Mackay 1615480_005 DEV1ANZExDOUBLE CGM Material Handling 40
Mackay 758499_005 HARDENED INSERT 2
Mackay 1238463_005 CONVERTER,DC-DC,24V/5V,30W CGM Electric Shovels 3
Mackay 208162_360 SLEEVEINSERT Kress 3
Mackay 1271773_005 BOLT,HEX,3.00x15.75 CGM Electric Shovels 3
Brisbane 1215395_005 RING,BACK UP CGM Draglines 1
Mackay 1413121_005 KIT,HOSE,PNEUMATIC CGM Draglines 2



Mackay 223910_360 HEATERLINESGRP Kress 1
Mackay 1517267_005 FAN BRACKET DETAIL 4
Mackay 909805_005 RADIATORFRAMEASS CGM Diesel 2
Mackay 873799_005 RADIATOR COVER 1
Mackay 754304_005 QUILL SHAFT  ( EL12B ) 2
Mackay 113243_005 MANIFOLD(HYDRAULIC)-4XDN10 4
Mackay 502298_005 BUSH,STEERING CGM Diesel 8
Mackay 172159_005 SEAL CARRIER CGM Continuous Miner 1
Mackay 1427829_005 ROLLER,RND,4x4.25 CGM Electric Shovels 2
Mackay 506021_005 PIPE - ENGINE OUTLET 5
Mackay 4063657_005 PL,.75x28.25x42.00 CGM Draglines 4
Mackay 660611_005 RETAINING PLATE 8
Mackay 4057137_005 REPAIR KIT BUCKET CYLINDER B/H CGM Hydraulic Shovels 1
Mackay 101577_450 RELAYEARTHCONTIN Miscellaneous 2
Mackay 507547_005 SPACER DETAIL 3
Mackay 16H-PB-KIT_450 PARKBRAKEKIT Miscellaneous 8
Mackay 4043395_005 IGBT GASKET 27
Mackay 1449053_005 POWER INDICATOR 10 1
Mackay 110146_450 MODULE415VCABLE Miscellaneous 1
Mackay 4057634_005 KIT SEAL BUCKET GUIDE SEAL KIT CGM Hydraulic Shovels 2
Mackay 638922_005 RETAINER CGM Shearer 2
Mackay 4009088_005 SEAL CGM Trucks 2
Mackay 753385_005 BUSH 2
Mackay 1527387_005 RADIATOR MOUNT BRACKET 2  ASSY 4
Mackay M500_450 TOOTHLOCKPINASS Miscellaneous 14
Mackay 4025887_005 LINE . 1
Mackay 1013454_005 MODUAL-INPUT-DISCRET 2
Mackay 4023958_005 ELECTRICAL UNIT VERSION 2 CMS 1
Mackay 504021_005 MOUNT FAN 2
Mackay 142819_005 COVER FIXED SIDE CGM Material Handling 1
Mackay 1028904_005 SHAFT, CGM Drills (Terex) 3
Mackay 1253621_005 BEARING,CYLINDRICAL ROLLER CGM Draglines 1
Mackay 1602233_005 LEG POCKET FILLER -REAR- CGM Roof Support 1



Mackay 201705_005 BEARING(SPH) DIN 635-23940-MB CGM Material Handling 2
Mackay 1483455_005 COIL,EVAPORATOR CGM Electric Shovels 1
Brisbane 1581666_005 VALVE, ISOLATION, DN10 3
Mackay 126642_005 BOLT(HH) DIN 960-M 30X2X90-10. 103
Mackay 754793_005 OUTER TUBE FOR WET CUTTING 1
Mackay 1452126_005 COUPLING-DRIVE, 7/8 X 1-3/8 CGM Trucks 1
Mackay RUD-RBS-30T_450 EYEPLATE Miscellaneous 3
Mackay 1566789_005 129A FLC CURRENT MONITOR 1
Brisbane 1693647C91_480 KITCACMOUNTING Navistar 12
Mackay 634356_005 LOAD RING, VLBS-4 25
Mackay 753822_005 SHOULDER BOLT 11
Mackay 4039657_005 HOSE CABEL OS4 OS4 400/10100/4 4
Mackay 4499727_005 GEARBOX,15:1 REDUCTION 1
Mackay 1451585_005 TUBE, HYDRAULIC 2
Mackay 1130098_005 BOLT,M24x90,10.9 CGM Electric Shovels 29
Brisbane H24312_020 CMHOSE12S/S All make Parts 4100
Mackay 4212196_005 SEAL 8
Mackay 1135760_005 CAPCHORDEND300N CGM Electric Shovels 12
Mackay 1506322_005 MANIFOLD BLOCK - COOLING CGM Shearer 2
Mackay 4016456_005 VALVE SAFETY 2
Mackay 1660045_005 CIRCULAR CONNECTOR 14POLE PLUG 2
Mackay 1285908_005 PIN,LATCHLEVER,4 IN DIA,IND CGM Electric Shovels 1
Mackay 4057591_005 KIT SEAL CLAM CYL WORKSHOP USE CGM Hydraulic Shovels 1
Mackay 895995_005 POTENTIOMETERROD CGM Shearer 6
Mackay 635539_005 COVER,ACCESS SLOT SCU/PM4 20
Mackay 1463940_005 HOSE, HYDRAULIC CGM Hydraulic Shovels 1
Mackay 1236835_005 MODULE,ANALOG,OUT 4,FLEX CGM Draglines 1
Mackay 1240075_005 TRANSDUCER,PASS THROUGH 13
Mackay 364324_005 BUSH CGM Shearer 2
Mackay 895993_005 POTENTIOMETER CALIBRATION ASSE 2
Mackay 637644_005 PUMPGEAR CGM Shearer 1
Mackay A245852_200 PLATFORMASSY Dealer Made Extras Engineering 2
Mackay 1513701_005 RELAY,24VDC 3NO INC 20A CGM Electric Shovels 2



Mackay 213804_005 BUSH FOR CLEVIS 2
Mackay 892746_005 17.8A FLC CURRENT MONITOR 1
Mackay 1036279_005 1415304 BASE, ACCUMULATOR CGM Drills (Terex) 1
Mackay 861515_005 CHAIN STRIPPER 52X177-6 PC 1
Mackay 868725_005 BLOCK ASSEMBLY 1
Mackay 1682609_005 PISTON CGM Roof Support 2
Mackay 4025452_005 HYDRAULIC TUBE HYDRAULIC MONOB 2
Mackay 1456814_005 SPRING 30
Mackay 020113-001_450 BUSHINGMAS Miscellaneous 1
Mackay 637855_005 BOLTM30X420HE CGM Shearer 10
Mackay 4055924_005 WHIPCHECK EYE BOTH ENDS CGM Drills (Terex) 4
Mackay 374147_005 VOLTAGE TRANSDUCER TYPE AVT 15 1
Mackay 250457_005 SLEEVE CGM Shearer 1
Mackay 1236669_005 CLINOMETER,ELECTRONIC,120 CGM Drills 1
Mackay 892794_005 450A FLC CURRENT MONITOR 1
Mackay 127524_005 FACE SEAL 76.90 H-70 VITON CGM Material Handling 2
Mackay 373843_005 PLANET PIN CGM Material Handling 6
Mackay 633649_005 O-RING CGM Roof Support 91
Mackay 1026901_005 KIT, SEAL - COMPLETE CGM Drills (Terex) 1
Mackay 739471_005 SLEEVE HOLDER 135/80 CGM Roof Support 4
Mackay 1127089_005 SIMATIC DP,INTERFACE ET200M CGM Electric Shovels 1
Mackay 4009084_005 PIVOT TERMINAL 2005649 CGM Trucks 1
Mackay 221112_005 SHAFT,MOTION,1ST CGM Shearer 1
Mackay 125441_005 PLATE,DAGGER REGULAR FOR SPILL CGM Material Handling 10
Mackay 1138956_005 VALVE,CARTRIDGE,STD,NG50 CGM Electric Shovels 1
Mackay 1012077_005 SWITCH, ALARM CGM Drills (Terex) 2
Mackay 757033_005 PRESSURE REDUCER 2
Mackay 507218_005 TAPPED RETAINER RING CGM Diesel 1
Mackay 634154_005 SPRAY CGM Material Handling 6
Mackay 1454039_005 CONTACT, MOVEABLE CGM Trucks (GE) 4
Mackay 506133_005 CABLE 5 CORE x 3m 3
Mackay 126493_005 HEX HEAD BOLT ISO 4014-M 36X15 59
Mackay 4045666_005 SEAL KIT FILTER ASSEMBLY (LOOP 14



Brisbane 945365_005 THRUST WASHER 101/172X20 3
Mackay 635041_005 PINHANDRAIL CGM Material Handling 15
Mackay 177039_005 CLAMPRINGCOMPLET CGM Continuous Miner 2
Mackay 1687872_005 FLANGE EXHAUST PIPE WELDMENT 2
Mackay 1453625_005 BEARING-WHEEL CGM Trucks (GE) 4
Mackay 1247419_005 PIPE,6(S),SMLS,BLACK 20
Mackay 780036_005 BIDI COUPLER PM-4/RS485.A;AUST 1
Mackay 4405356_005 ARMORED CAMERA CABLE 3 METERS 4
Mackay 1421176_005 BEARING CAP 2
Mackay 016698-063L_450 ELEMENTSEP Miscellaneous 3
Mackay 367825_005 SPH-ROLLER BEARING DIN 635-222 CGM Material Handling 10
Mackay 880956_005 PUSH BUTTON BLOCK, 14 WAY 1
Mackay 1025625_005 ELEMENT KIT, W/SEALS-SEPARATOR CGM Jumbo Drills 1
Mackay 1271775_005 NUT,HEX,3.00x4.75 CGM Electric Shovels 2
Mackay 637987_005 VARISEAL CGM Shearer 2
Mackay 1418948_005 SHIM 58
Mackay 638931_005 RETAINER 2
Mackay 1518344_005 MAT FLOOR DRIVER CGM Trucks 4
Mackay 127669_005 BEARING(TAPER-BALL) DIN 628-QJ CGM Material Handling 1
Mackay 1603594_005 CYLINDER LUG CGM Roof Support 2
Brisbane 1408834_005 HUB,LOCKING CGM Draglines 1
Mackay 1408834_005 HUB,LOCKING CGM Draglines 1
Mackay 1123651_005 RTD CGM Dragline (GE) 2
Mackay 1591385_005 HOSE CABLE SKK24 7400MM 1:1 2, 3
Mackay 1148453_005 HOSE ASSY,-40 STR-90,C61 CGM Electric Shovels 1
Mackay 4101087_005 CABLE SET CAB 1
Mackay 955696_005 HA109 HEADLIGHT 24V  35W     ( 1
Mackay 127656_005 BEARING(ROLLER) DIN 5412-NU 32 2
Mackay 605006_005 GLAND, Ex d, TYPE 623/D(M50), 1
Mackay 641756_005 SCREW CGM Material Handling 68
Brisbane 505752_005 SEMS RUN SOLENOID ASSEMBLY CGM Diesel 1
Brisbane 1162880_005 BEARING CGM Draglines 1
Mackay 763064_005 KEYPLATE 5



Mackay 772657_005 CABLE OS-4T/5PIN - OPEN 4500LG 15
Mackay 4055821_005 WHIP CHECK LARGE MAST 4
Mackay 238304_005 MECHANICAL FACE SEAL H-60 1
Mackay 1452320_005 ADAPTER,STR. METRIC CGM Trucks 7
Mackay 1357845_005 BUSHING,4.18ODx4.00IDx4.00W CGM Electric Shovels 14
Mackay 1506323_005 MANIFOLD BLOCK - DRUM WATER 1
Mackay 1237083_005 SWITCH,ETHERNET,8-PT,UNMANAGED CGM Draglines 1
Brisbane 1197424_005 CLAMP,CABLE CGM Draglines 1
Mackay 868568_005 OPERATING HANDLE 1
Brisbane 945367_005 THRUST WASHER 101/172X20 3
Mackay 1013461_005 CABIN MOUNTING PADS CGM Drills (Terex) 4
Mackay 987248_005 PIN-HOIST/PULLDOWN CGM Drills (Terex) 6
Mackay 1032086_005 GEAR PUMP CGM Drills (Terex) 1
Mackay 506030_005 PIPE - ENGINE INLET 4
Mackay 1525096_005 BLOCK,STOP,.472 CGM Electric Shovels 5
Mackay 859244_005 FAN/ALTERNATOR PUMP 1
Mackay 4024586_005 HYDRAULIC HOSE ASSEMBLY OIL CO 2
Mackay 1486951_005 SHIM,.39 CGM Electric Shovels 6
Mackay 749520_005 NUT,LOCK,M24 X 3.0 PITCH,NYLOC 9
Mackay 1567275_005 SLIDE PLATE RH 2
Mackay 1238329_005 PWR SPLY,24VDC,5A,DIN MTD CGM Draglines 2
Mackay 505883_005 PUMP TO HYD MOTOR BRACKET 2
Mackay 1483457_005 CONTACTOR,SIE 12A,7.5 HP CGM Electric Shovels 4
Mackay A245882_200 MOUNTPLATE Dealer Made Extras Engineering 6
Mackay H6253725_450 24VADMSOLENOID Miscellaneous 1
Mackay 4055899_005 SWITCH PRESSURE 3 BAR   LOOP/ 4
Mackay 1109314_005 REACTOR, CGM Dragline (GE) 2
Mackay 1506320_005 INLET MANIFOLD CGM Shearer 2
Mackay 1557950_005 FAN,42IN,12 BLADE,45 DEG CGM Electric Shovels 1
Mackay 869424_005 BAR 4
Mackay 4331786_005 GRILL, RECIRCULATION AIR CGM Trucks 4
Mackay 1452030_005 SEAL KIT-MANIFOLD CGM Trucks 5
Mackay 1454244_005 PIVOTPIN CGM Trucks 1



Mackay 2915165AAA_450 BELLOWSLINERTRIAL Miscellaneous 8
Mackay 506128_005 SENSOR,PRESSURE - 35PSI 1
Mackay 224744_005 HEX HEAD BOLT ISO 4014-M 30X17 CGM Shearer 8
Mackay 981277_005 PAD, WEAR CGM Drills (Terex) 3
Mackay 1527386_005 RADIATOR MOUNT BRACKET 1 ASSY 3
Mackay 1452923_005 SEAL, V-RING CGM Trucks (GE) 10
Mackay 1138239_005 VALVE,DIR CNTRL,D03,SPR CENTER 2
Mackay 506462_005 RADIATOR GUARD 6
Mackay 113681_005 DISPLAY PCB - PM4 2
Mackay 1528239_005 FAN ASSEMBLY CGM Diesel 1
Mackay 981993_005 PIN, CYLINDER CGM Drills (Terex) 1
Mackay 4025889_005 LINE . 1
Mackay 1104692_005 INJECTOR,3 W/MANIFOLD CGM Electric Shovels 2
Mackay 364550_005 COVER 2
Mackay 1450973_005 DISPLAY, FLUORESCENT CGM Trucks 1
Mackay 1418569_005 KIT,ELEC CABLE,CRWD PWR MODULE CGM Electric Shovels 1
Brisbane MT17FTB_020 FRIDGE15LPROMO All make Parts 2
Mackay 237816_005 BEARING ROLLER SPH 23936CCC3W3 1
Mackay 4383754_005 VALVE, CHECK 20PSI C.P. CGM Trucks 1
Mackay 1542010_005 ROD,THREADED 2.25DIA CGM Draglines 1
Brisbane MMAB_020 BRACKETMNTALLOY All make Parts 72
Mackay 505652_005 AXLE SHAFT CGM Diesel 1
Mackay 892748_005 61.0A FLC CURRENT MONITOR 1
Mackay 139894_450 CABLE10M1XBBPLUG Miscellaneous 2
Mackay 506020_005 PIPE - HEAT EXCHANGER 4
Mackay 239910_005 250 DIA PISTON SEAL 4
Mackay 4010552_005 KIT, RETROFIT        85789A-K 1
Mackay 637548_005 BOLT, M20 X 310 LG 24
Mackay 367343_005 PLATE,FRONT 35
Mackay 1046431_005 1417668 FILTER 1
Mackay 4040188_005 ROLLERBRACKETL/H CGM Material Handling 1
Mackay 1007396_005 VALVE, BALL 2" CGM Drills (Terex) 4
Mackay 1418946_005 SHIM 32



Mackay 979338_005 CABLE, HOIST CGM Drills (Terex) 1
Mackay 1457667_005 SENSOR 1
Mackay 1592988_005 BLOCK,STOP,0.551 CGM Electric Shovels 4
Mackay 1454015_005 SENSOR CABLE(DWG A-Z) CGM Trucks (GE) 3
Mackay 912030_005 CABLE GLAND GWP7A   2 1/2"BSP CGM Shearer 1
Mackay 1454923_005 WASHER,MTG,SUBFRAME CGM Trucks 2
Brisbane 1462446_005 JOINT BEARING CGM Hydraulic Shovels 3
Mackay 1467527_005 CONTROL BLOCK 2
Mackay 115152_450 MODULECRM110VIE Miscellaneous 1
Mackay 4057341_005 RELIEF VALVE SECONDARY TRAVEL CGM Hydraulic Shovels 2
Mackay 641376_005 SEAL HOUSING 1
Mackay 1452029_005 WEAR BAND KIT W/O ADH CGM Trucks (GE) 2
Mackay 1226797_005 BUSH,9.470x10.638x14.96 CGM Electric Shovels 1
Brisbane 1451851_005 BUSHING CGM Hydraulic Shovels 4
Mackay 205812_005 CURRENT TRANSFORMER 3
Mackay 502425_005 PIN - LOWER - LIFT CYLINDER CGM Diesel 2
Mackay 506079_005 TRAILER DRIVE SHAFT GUARD 1
Mackay 1465376_005 GEAR PINION 1
Mackay 1452067_005 PANEL ASSEMBLY (VAM) CGM Trucks (GE) 1
Mackay 635073_005 WELDMENTGOAFPLA CGM Material Handling 1
Mackay 1460383_005 PIN 1
Mackay 789799_005 SHANK HPR60 (HM 51) CGM Drills (Terex) 1
Mackay 1598916_005 HEADLIGHT LED WITH TAIL LIGHT 1
Mackay 1409328_005 ELEMENT,HYD FILTER,10 MIC CGM Electric Shovels 5
Mackay 4063466_005 SHIMLAM.031x9.75 CGM Drills 2
Mackay 507217_005 PLATE DETAIL CGM Diesel 1
Mackay 712876_005 OIL LEVEL TUBE MOUNTING BLOCK 2
Mackay 640599_005 TAPPED RETAINING COLLAR 4
Mackay 1452416_005 PISTON CGM Trucks 2
Mackay 4010014_005 SEAL, SHAFT 1
Mackay 846662_005 DOWEL 4
Mackay 4374125_005 Hose 4
Mackay 1726747_005 AIR INTAKE ADAPTER PIPE STAGE CGM Diesel 3



Mackay 4499726_005 COUPLING,FLEXIBLE DRIVE 1
Mackay 4028207_005 GEAR SET SPUR (3 PIECES) 1
Mackay 1011891_005 SWITCH, LIMIT N CGM Drills (Terex) 2
Mackay 1465944_005 FITTING TUBE 29
Mackay 4055570_005 MANIFOLD COMPLETE 1
Mackay 1456978_005 SOCKET, RH120E RAD UPGRADE 4
Mackay 859974_005 INTERLOCK 2
Mackay 1460518_005 PANELING 1
Mackay 1032088_005 SEAL KIT CGM Drills (Terex) 1
Mackay 714703_005 PISTON CGM Roof Support 4
Mackay 889260_005 HV TERMINAL BLOCK ASSEMBLY 2
Mackay 753218_005 DOWEL 12
Mackay 4026936_005 SHAFT SERRATED PUMP DRIVE GEAR 1
Mackay 1556400_005 BSHG,1.38IDx1.63ODx1.48 CGM Electric Shovels 4
Mackay 505649_005 CYLINDER MOUNTS 1
Brisbane 1574738_005 SPACER RING BLANK 28,9+/-0,1 CGM Material Handling 2
Mackay 633650_005 O-RING CGM Roof Support 93
Mackay 501590_005 UNIVERSAL JOINT 3
Mackay 1463313_005 HYDRAULIC HOSE CGM Hydraulic Shovels 3
Mackay 767736_005 HYDR. DISTRIBUTOR 7-FOLD DN 10 CGM Roof Support 6
Mackay 4021621_005 PIN SHOVEL FRONT SHELL 2
Mackay 4206734_005 PLATE 2
Mackay 1126138_005 DIODE,4KV,1400A CGM Electric Shovels 1
Mackay 4010016_005 SEAL, STRIP 3
Brisbane 1524132_005 FLANGE,SAE 2,600 PSI 3
Mackay 4023960_005 SYSTEM CONTROL PROGRAMMED ELEC 2
Mackay 1527349_005 SYSTEM,CAPACITIVE VOLTAGE DET CGM Electric Shovels 1
Mackay 851995_005 FUSE END CAP 2
Mackay 1439484_005 FL8MMx40MMx35MM CGM Electric Shovels 200
Mackay 506125_005 ENGINE WATER PUMP INLET 1
Mackay 893827_005 HOSE RETAINER 6
Mackay 1460389_005 PIN 1
Mackay 113328_005 VALVE,TWIN CHECK,BOLT-ON CGM Roof Support 1



Mackay 234484_005 HEX HEAD BOLT ISO 4014-M 30X18 21
Brisbane 1558093_005 LUG,RUDD,4T 7
Mackay 282136_005 HEX HEAD SCREW ISO 4017-M 30X8 CGM Shearer 6
Mackay 641155_005 100 MICRON FILTER ELEMENT 1
Mackay 1465363_005 GEAR PINION 1
Mackay 1054338_005 HOSE CABLE OS4 OS4 250/3600/40 4
Mackay 4025908_005 LINE . 1
Mackay 640755_005 HINGE, MALE CGM Shearer 6
Mackay 1465350_005 GEAR PINION CGM Hydraulic Shovels 1
Mackay 4336164_005 HOSE,-48,STR-90,C61,96 CGM Electric Shovels 1
Mackay 1465893_005 FLANGE CGM Hydraulic Shovels 1
Mackay 860320_005 SLEEVE HOLDER CGM Roof Support 1
Mackay 1456008_005 THERMOSTAT, OIL CGM Trucks 2
Brisbane SLI048_020 BUSHKITCABROD All make Parts 10
Mackay 1418951_005 SHIM 14
Mackay 632779_005 SPACER BUSHING CGM Material Handling 1
Mackay 507546_005 CLEVIS PLATE DETAIL 2
Mackay 515550_005 FAN ASSEMBLY  600 DIA 1
Mackay 4044955_005 HUBCAP W/HUBOMETER(OIL) CGM Trucks 1
Mackay 4000721_005 TESTWELDCOUPON CGM Electric Shovels 10
Mackay MIN3598S_450 PLATES Miscellaneous 13
Mackay A245885_200 MOUNTPLATE Dealer Made Extras Engineering 6
Brisbane 4019434_005 SHIM 2
Mackay 1418950_005 SHIM 14
Mackay 1439258_005 VALVE,LOCKABLE GUARD CGM Draglines 2
Mackay 777765_005 DISTANCE RING CGM Material Handling 1
Mackay 1452938_005 MODULE-VOLT MEASURING CGM Trucks (GE) 1
Mackay 4011237_005 HOSE ASSY 211-16 CGM Trucks 3
Mackay 389009_005 VALVE,CHECK,DN10STM X DN10STF 4
Mackay 504020_005 NUT PLATE 12
Mackay 1028900_005 ADAPTER, CGM Drills (Terex) 1
Mackay 1457398_005 SLEEVE CGM Hydraulic Shovels 8
Mackay 506019_005 PIPE - HEAT EXCHANGER INTERMED CGM Diesel 2



Mackay 247015_005 150 DIA ROD SEAL 4
Mackay 4063463_005 SHIM.030x9.75x9.7 CGM Drills 4
Mackay 4048530_005 FLANGE KIT HYDRAULIC PUMP DRIV CGM Trucks 3
Mackay 222540_005 TAPERED BUSH 1
Brisbane 514819_005 RTD  CONTROL BOX SEMS 80 C 1
Mackay 514819_005 RTD  CONTROL BOX SEMS 80 C 1
Mackay 4206741_005 BRACKET 2
Mackay 754161_005 GLAND ADAPTOR          F CGM Shearer 2
Mackay 4063468_005 SHIM22GAx15.50x15 CGM Drills 2
Mackay 1556402_005 PIN,ROUND,2x6.35 CGM Electric Shovels 2
Mackay 4044903_005 WIRE HARNESS ASSEMBLY CGM Trucks 1
Mackay 1452165_005 SEAL KIT, ACCUMULATOR CGM Trucks 2
Mackay 1104691_005 INJECTOR,2 W/MANIFOLD CGM Electric Shovels 2
Mackay 848411_005 DRIVE SHAFT 2
Mackay 1556401_005 BSHG,1.38IDx1.63ODx.53 CGM Electric Shovels 4
Mackay 144252_450 CABLE4.2M2XAMPH Miscellaneous 4
Mackay 4058209_005 BRUSH CRANK GROUNDING ENGINE CGM Trucks 12
Mackay P564468_210 Hydraulic Filter, Sp Donaldson 12
Mackay 1435003_005 KIT,HOSE,HVAC FILTER,AIR CGM Electric Shovels 1
Mackay 4025909_005 LINE . 1
Mackay 1484869_005 TUBE, HYDRAULIC 1
Mackay 4025459_005 HYDRAULIC TUBE BOOM ASSEMBLY 1
Mackay 634310_005 FEEDTHRUTERMINAL CGM Material Handling 36
Mackay 1133634_005 SW,LOCAL/REMOTE ELEC ABC2TO1 CGM Electric Shovels 1
Mackay 867631_005 POWER INDICATOR 4 ASSY 1
Mackay 506054_005 PIPE HINGE - ASSEMBLY 2
Mackay 1514836_005 HINGE PLATE DETAIL 3
Mackay 633585_005 REDUCERC/WSEAL CGM Roof Support 24
Brisbane 1195658_005 BEARING CGM Drills 1
Mackay 4057098_005 FILTER CLOTH AIR CONDITIONING CGM Hydraulic Shovels 10
Mackay 640598_005 RETAINING PLATE 2
Mackay 1026837_005 KIT 2
Mackay 1452064_005 RESISTOR PANEL (17FR102A1) CGM Trucks (GE) 1



Mackay 1453377_005 CABLE ASSY, 17-3/4 LG CGM Trucks (GE) 8
Mackay 4013719_005 ROT.SHAFT LIP SEAL 4
Mackay 1144491_005 SHIM SET 2
Mackay 121882_450 MODULEAIMIS420 Miscellaneous 2
Mackay 872566_005 CIRCUIT BREAKER 30mA  230V/25A 2
Mackay 1054340_005 HOSE CABLE OS4 OS4 250/5800/40 3
Mackay 1556404_005 PIN,ROUND,2x4.54 CGM Electric Shovels 2
Mackay 750557_005 VACUUM GAUGE -1 TO 0 BAR 5
Mackay 945186_005 CLEVIS 3
Mackay 4300829_005 Speed Sensor Proximity NCB10-3 CGM Material Handling 1
Mackay 1452059_005 SEAL     WHL HUB  MILL-RT CGM Trucks (GE) 2
Mackay 4025904_005 LINE . 1
Mackay 145317_005 PIECE,SPACER CGM Roof Support 16
Mackay HM04791_450 FILTERELEMENT Miscellaneous 3
Mackay 753316_005 WEARING RING 6
Mackay H9000433_450 RELIEFVALVE Miscellaneous 1
Mackay 221073_360 Valve Foot Brake Dua Kress 1
Mackay 635607_005 BRACKET CGM Roof Support 2
Mackay 108703_005 CAM CGM Roof Support 6
Mackay 4025890_005 LINE . 1
Mackay 127521_005 SEAL(FACE) 76.90 H-28-DURONIT 2
Mackay 164299_005 SEAL,PISTON,EWN 7065-400X370X3 3
Mackay 4027525_005 SEAL WORKING PUMP 2
Mackay 1454180_005 BUSHING-HARDENED 2
Mackay 4063467_005 SHIM16GAx15.50x15 CGM Drills 2
Mackay 112479_005 VALVE,SHUTTLE,DN20STFXDN12STFX 1
Mackay KT44710007_200 MOTORASSEMBLY24V Dealer Made Extras Engineering 1
Mackay 514666_005 CL210 LABELS WET - ENGLISH 4
Mackay 635069_005 PIN,CLEVIS CGM Material Handling 2
Mackay 635484_005 SHEAR PIN - ASHTON CGM Roof Support 10
Mackay 1517364_005 RADIATOR MOUNT 1 WELDMENT 2
Brisbane 228289_005 TAPERED PIN CGM Shearer 1
Mackay 228289_005 TAPERED PIN CGM Shearer 1



Mackay 860419_005 PISTON CGM Roof Support 1
Mackay 641556_005 RINGLOAD5TONNE CGM Material Handling 9
Mackay 836654_005 YIELD VALVE 290BAR 4
Mackay 4025462_005 HYDRAULIC TUBE BOOM ASSEMBLY 1
Mackay 4025470_005 HYDRAULIC TUBE BOOM ASSEMBLY 1
Mackay 1483453_005 ACTUATOR CGM Electric Shovels 1
Mackay 4374126_005 HOSE 4
Mackay 506127_005 COOLANT PIPE CGM Diesel 2
Mackay 1239711_005 SW,PRESS,37PSI INCR. CGM Drills 2
Mackay 1470286_005 RETAINER,PIN CGM Trucks 11
Mackay 321815_005 ROLLER,SELF-ALIGNING CGM Material Handling 1
Mackay 1452807_005 VALVE-RELIEF CGM Trucks 1
Mackay 763578_005 HEX HEAD BOLT ISO 8765-M 24X2X CGM Shearer 9
Mackay 283491_005 STUD,M36X285 LG.10.9 4
Mackay 4024775_005 SAFETY GRILL 2
Mackay 1469503_005 BEARING-USE 1525636 CGM Products 4
Mackay 280678_005 SCREW BOLT M 42X317 CGM Material Handling 4
Brisbane DRMEXN5050BT_020 RADIO/CD/USB/BTOOT All make Parts 4
Mackay 1469447_005 BEARING CGM Hydraulic Shovels 6
Mackay 1098866_005 RETAINER 3
Mackay 641188_005 """ASSY, REVERSE MOV CONTACT " CGM Shearer 3
Mackay 641195_005 """ASSY, THRO'MOVING CONTACT " 3
Mackay 641446_005 BOLT, HEX, M30 X 350 LG CGM Shearer 8
Mackay 1099629_005 SPACER,TUBE,8.5x.75x1.375 CGM Draglines 1
Mackay 001036-070L_450 GASKETKIT Miscellaneous 6
Mackay 4055575_005 GAUGE 100MM 0-60000KPA/8700PSI 2
Mackay 1706997_005 SEAL KIT 2
Mackay 1099448_005 BOLT,ROD-WELDED CGM Electric Shovels 4
Mackay 16G-PB-KIT_450 PARKBRAKEKIT Miscellaneous 4
Mackay 4025911_005 LINE . 1
Mackay 353108_005 MANIFOLD(VALVE) CPL DN4/2/D CGM Roof Support 1
Mackay 1603592_005 SLEEVE HOLDER 125/60 CGM Roof Support 2
Mackay 167257_005 PIN CGM Material Handling 12



Mackay 120654_450 KEYPADVOICECOMRE Miscellaneous 1
Mackay 157896_005 T-PACKING SEAT 25
Mackay 1713658_005 HOSE CABLE SKK24 SKK24 5400MM 2
Mackay 381336_005 V-RING SEAL TWVA 06500-N60 2
Mackay 4331437_005 COMPRESSOR BRACKET CGM Drills (Terex) 1
Mackay 108616_005 TAPPET RELEASE-VALVE CGM Roof Support 16
Mackay A227809_200 STEPASSYHYDR Dealer Made Extras Engineering 1
Mackay 108385_005 PLUG DN10,W/PULL THRDS CGM Roof Support 17
Mackay 4026431_005 HYDRAULIC HOSE 1
Mackay 1469429_005 BEARING, 5-1/4" DX 2
Mackay 1470241_005 PIN-RADIUS ROD 3-1/2 CGM Trucks 1
Brisbane CS560ENCP_020 STACKEXP5X60 All make Parts 4
Mackay 4020126_005 BUSHING STICK CYLINDER CGM Hydraulic Shovels 1
Mackay 1515042_005 RETAINER BATTERY 3/4X3/4X14-3/ CGM Trucks 5
Mackay 4009903_005 COIL-28 VOLT CGM Trucks (GE) 1
Brisbane 2404080_020 BRACKETFIREEXT All make Parts 3
Mackay 1687876_005 AIR INTAKE ADAPTER PIPE STAGE CGM Diesel 1
Mackay 506018_005 PIPE - ENGINE INTERMEDIATE INL 3
Mackay 167639_005 BUSHING 4
Mackay 1239315_005 SUPPRESSOR,SURGE CGM Draglines 2
Mackay 1227316_005 TUBE,11.75ODx1.00Wx5.12 CGM Electric Shovels 1
Mackay A232750_200 20LTW/SCWASHERT Dealer Made Extras Engineering 1
Mackay 4025913_005 LINE . 1
Mackay 4523383_005 PLATE 8
Mackay 635310_005 PIN 45/38.5X110 CGM Roof Support 10
Mackay 502297_005 PIN-STEERING CGM Diesel 4
Brisbane 3530892C1_480 BRACKETRR9900 Navistar 4
Mackay 373835_005 SPACER CGM Shearer 5
Mackay 978678_005 PIN, ELEV CYL-L CGM Drills (Terex) 1
Mackay 1159493_005 SPRING,NEGATOR 8
Mackay 201239_360 Twin Clipper Switch Kress 2
Mackay 505606_005 PIVOT PIN TAILGATE GROUP FH125 CGM Diesel 2
Brisbane CNPB_020 BRACKETNO.PLATE All make Parts 25



Mackay 1577671_005 VALVE,DIRECTIONAL,D03 CGM Electric Shovels 1
Mackay 1435544_005 GUARD,GEARCASE BREATHER,PROPEL CGM Electric Shovels 1
Mackay 1561323_005 HOSE,-24,STR-90,C61,89 CGM Electric Shovels 1
Mackay 4025448_005 TUBE HYDRAULIC HYD SYS MONOBLO 1
Mackay 4114677_005 SWIVEL DN 38 SSO 1
Mackay 4017507_005 KIT SEAL TRAVEL MOTOR CGM Hydraulic Shovels 1
Mackay 752310_005 TAB WASHER 9
Mackay 287650_005 CIRCUIT BREAKER 10A CGM Shearer 2
Mackay 4051571_005 TUBEKTA19WATERP CGM Hydraulic Shovels 4
Mackay 506456_005 PRIORITY FLOW CONTROL VALVE CGM Diesel 2
Brisbane 1192013_005 RETAINER,PL,1x12DIA CGM Drills 1
Mackay 1469430_005 BEARING, 5" DX 2
Mackay 1270471_005 GUIDE PLATE,UPPER (5x9) 2
Mackay 501542_005 4 WAY JOYSTICK PILOT 1
Mackay 852349_005 TRANSMISSION CHARGE PUMP 1
Mackay 507046_005 HOURMETER, FLAMEPROOF, 13MM GL 1
Mackay 4025447_005 LINE HYDRAULIC MONOBLOCK BOOM 1
Mackay 1126870_005 TARGET,RELEASE (PLATE) CGM Electric Shovels 1
Brisbane 4009128_005 ELBOW-SUCTION CGM Trucks 1
Mackay 1456659_005 SPUR GEAR 1
Mackay 500222_005 CYLINDER PIN EJECTOR BUCKET CGM Diesel 2
Mackay 634374_005 HAMMERSLIDEVALVE CGM Material Handling 2
Mackay 1237017_005 MODULE,FLEX OUT,8PT 120V ISOL. CGM Draglines 1
Mackay 1673985_005 UNIVERSAL JOINT 9C 2
Mackay 012001-002_450 DAPTERHUMP Miscellaneous 3
Mackay 1232614_005 SCR,HEX,1.5x18.UNC,GR 8 CGM Electric Shovels 4
Mackay 1556370_005 GREASE CGM Electric Shovels 18
Mackay A122735-01_200 HARNESS Dealer Made Extras Engineering 1
Mackay 189642_360 ANGLEBRACKET Kress 4
Mackay 981645_005 PIN, CYLINDER-MAST E CGM Drills (Terex) 1
Mackay 986680_005 PLATE-SIDE-UPPER ROD CGM Drills (Terex) 2
Mackay 4026267_005 LID 1
Mackay 634231_005 CABLE,TYPE 2S MACHINE,2 CORE x CGM Roof Support 50



Mackay 238160_005 MICROSWITCH W/ROLLER 2
Mackay 751164_005 CABLE,2 TWISTED PAIR SCREENED 4
Mackay 506126_005 COOLANT PIPE 2
Mackay 018781-196_450 BEARING Miscellaneous 4
Mackay 635042_005 HANDRAILBRIDGING CGM Material Handling 5
Mackay 777783_005 SPACER RING CGM Material Handling 1
Mackay 1491458_005 156A FLC CURRENT MONITOR 1
Mackay 4020947_005 FLANGE OIL COOLING HYDRAULIC 1
Mackay 4046162_005 PIN AXLE FRONT CENTRE MAINFRAM CGM Drills (Terex) 1
Mackay 1245573_005 SW,SIGNAL,MINE N.O. CGM Shovels (GE) 1
Mackay 1405983_005 TUBE ASSY,STR,-12 ORSX96 CGM Electric Shovels 3
Mackay 640597_005 RETAINING PLATE 2
Mackay 510081_005 HOSE END 3" 4
Mackay 1165931_005 PIN,DOWEL,.75x2.25 15
Brisbane 4021809_005 LOCKINGPIN CGM Hydraulic Shovels 10
Mackay 1616958_005 EXHAUST FILTER ACCESS DOOR WEL 2
Mackay X59408300082.MDD_450 EASYCHANGEFILTER Miscellaneous 10
Brisbane 44697000L_020 BUSHTAPRDPIN All make Parts 17
Mackay 4054983_005 LID GASKET 3
Mackay 861310_005 SEAL HOUSING CGM Shearer 1
Mackay 1104694_005 INJECTOR,5 W/MANIFOLD CGM Drills 1
Mackay 252751_005 SETSCREW M12 X 25 34
Mackay 1455248_005 VALVE (SERVO CAP) CGM Hydraulic Shovels 1
Mackay 4023662_005 SUCTION HOSE INTAKE SYSTEM 3
Mackay 642281_005 HOSE (WATER COOLER) 7
Mackay 1422029_005 BAR,.38x8x16.00 CGM Drills 1
Mackay 1526950_005 GAS STRUT 1150 N 6
Mackay 505683_005 YOKE WASHER 8
Mackay 754197_005 CAP SCREW M 12X30 55
Mackay P553080_210 Fuel Filter, Water S Donaldson 24
Mackay 640600_005 RETAINING COLLAR 3
Mackay 4009748_005 HOSE ASSY 211-04 CGM Trucks 11
Mackay 113633_005 VALVE,CONTROL 1



Mackay 4058897_005 BELT SEAT RETRACTABLE 3" CGM Trucks 1
Mackay 146136_005 TAPPET CGM Roof Support 20
Mackay 1525085_005 ADPTR,TEE,NW29,NW29,NW29 8
Mackay 633638_005 SEAL.RETAINER SMALL CGM Roof Support 4
Mackay 112561_450 CABLE15M1XBBPLUG Miscellaneous 1
Mackay 4055856_005 AIR FILTER WASH DOWN PUMP CGM Drills (Terex) 12
Mackay 4622187_005 STEP GRIP PLATE DETAIL 3
Mackay 4021391_005 HYDRAULIC HOSE CGM Hydraulic Shovels 8
Mackay 515255_005 FLP CABLE GLAND GWPM1BSS CGM Material Handling 4
Mackay A201015_200 RODRESTRAINT Dealer Made Extras Engineering 4
Mackay 774060_005 LIMIT SWITCH 1
Mackay 345068_005 DOUBLE SOLENOID CGM Roof Support 1
Mackay 635427_005 PIN - CHAIN JOINER 70/54 X 150 CGM Roof Support 4
Mackay 1453216_005 SWITCH-PRESSURE 1
Mackay 126505_005 HEX HEAD BOLT ISO 4014-M 36X22 CGM Material Handling 12
Mackay 1239243_005 LIGHT,INDICATING CGM Draglines 6
Mackay 329D-C7_200 TURBOCOVERENGINE Dealer Made Extras Engineering 1
Mackay 909256_005 WET SCRUBBER SUPPORT BRACKET # 3
Mackay 909255_005 WET SCRUBBER SUPPORT BRACKET # 3
Mackay 1240073_005 TRANSDUCER,VOLT,+/-700 TO +/-1 4
Mackay 1357640_005 KIT,HOSE,HVAC,OP. CAB CGM Electric Shovels 1
Mackay 501512_005 PRESSURE REGULATOR 3
Mackay 764489_005 T-HEAD SCREW M 30X2X110-10.9 CGM Material Handling 34
Mackay 4317304_005 INDICATOR,POSITION 9
Mackay 4057203_005 3 POS VALVE 1
Brisbane 17149S_020 BARTRACKERKIT All make Parts 9
Mackay 209781_360 LEVELINGSYSTEM Kress 1
Brisbane 4021960_005 CONTROL HANDLE LE 2
Mackay 1358347_005 BUSHING,SPRING,4IDx4LONG CGM Drills 3
Mackay 1506400_005 HINGE TOP LH 1
Mackay 1358348_005 BUSHING,SPRING,4IDx2LONG CGM Drills 6
Mackay 121923_450 MODULEIMACMLBIS Miscellaneous 1
Mackay 4499728_005 MTR,3KW,4P,415VAC,IP55,TEFC 1



Mackay 4052722_005 HOSE  FLEXIBLE TURBO CGM Hydraulic Shovels 1
Mackay 108991_005 MAGNETIC HOLDER 3
Mackay 1455331_005 VALVE 5
Mackay 1453615_005 ADAPTER,5/16-18 THRD CGM Trucks (GE) 4
Mackay 777780_005 SPACER RING CGM Material Handling 1
Mackay 285268_005 LATCH R90 CGM Roof Support 4
Mackay A236165_200 MUDFLAP Dealer Made Extras Engineering 1
Brisbane 90-2396SP1_020 SHOCKHENDRICK All make Parts 4
Mackay 896105_005 TRANSCEIVER MOUNTING BLOCK 1
Mackay 501014_005 REACTION PLATE 2
Mackay A129844-01_200 HARNESS Dealer Made Extras Engineering 3
Mackay 977562_005 LEVER, CONTROL 1
Mackay 1124204_005 SCR/MODULE CGM Dragline (GE) 1
Mackay 1465615_005 GASKET 9
Mackay 1024164_005 PIN, SHEAVE-CARRIAGE-SKL CGM Drills (Terex) 1
Mackay 249334_005 CONTACTOR INSULATION BOOTS (1 2
Mackay 4417436_005 HYDRAULIC TUBE 1
Mackay 1579730_005 GAUGE TACHOMETER CAN CGM Trucks 2
Mackay 1469586_005 BAND-WEAR CGM Trucks (GE) 1
Mackay 201702_005 BEARING(SPH) DIN 635-22228-MB CGM Material Handling 1
Mackay 5234_210 LUBERFINER Donaldson 2
Mackay 1579741_005 GAUGE FUEL CAN CGM Trucks 2
Mackay 1543382_005 RETAINER BATTERY 1/4X3/4X32-1/ CGM Trucks 5
Mackay 513845_005 COVER PLATE DETAIL CGM Diesel 2
Mackay 1186759_005 DIAPHRAGM CGM Electric Shovels 1
Brisbane DN2300_480 PANELGRILLEBUMPR Navistar 10
Mackay 4055928_005 ROD SEAL 130MM ID CGM Drills (Terex) 1
Mackay 4048426_005 HEAT COVER PIPE ENGINE CGM Hydraulic Shovels 3
Mackay 750570_005 PRESSURE GAUGE 0-400 BAR 4
Mackay 101498_450 MODULE4XRELAYOUT Miscellaneous 1
Mackay 127710_005 BEARING(SPH) DIN 635-24024 CA CGM Material Handling 1
Mackay 1573791_005 SCR,SOC,M12x1.75x140,CL12.9 CGM Shovels (GE) 6
Mackay 1265026_005 WASHER,THRST,15.5x15.5x.47 CGM Electric Shovels 1



Mackay 1603593_005 PISTON 125 CGM Roof Support 2
Mackay 1104697_005 INJECTOR,LUB,SNGL(SL-11) CGM Electric Shovels 1
Mackay 232814_005 HEX HEAD BOLT ISO 4014-M 20X26 CGM Shearer 4
Mackay 1601671_005 KEYPAD BRACKET 1
Mackay 182702_005 LEMNISCATIC LINK 5
Brisbane BDL1080C_020 LAMPLEDBRODDRV All make Parts 3
Mackay 126457_005 HEX.HEAD BOLT ISO 4014-M 30X14 CGM Material Handling 32
Mackay RX52407500042.MDD_005 INJECTOR CGM Products 1
Mackay 360593_005 PIN HEAD CGM Transport 20
Mackay 4009955_005 KIT-BATTERY REPL.NON-ORDERABLE CGM Trucks (GE) 3
Mackay 4147996_005 BRACKET 1
Mackay 1239434_005 SWITCH,INDUCTIVE PROXIMITY CGM Electric Shovels 2
Mackay 1676701_005 HOSE ASSY R15 DN25X825 SFS 600 CGM Roof Support 2
Mackay 280880_005 RING(SNAP)D471-A 330X6-FST CGM Material Handling 3
Mackay 1416941_005 BRACKET,10 PIPE CGM Electric Shovels 1
Mackay 508299_005 CIRCUIT BOARD,ALTERNATOR BARRI 2
Mackay 113665_005 CPU PCB (W/RESISTORS) 1
Mackay 1518283_005 GLASS REAR CGM Trucks 2
Mackay 1543258_005 GAUGE-COOLANT TEMP,CAN,CEL CGM Trucks 2
Mackay 1543060_005 INJECTOR,SINGLE,NO MANIFOLD 2
Mackay 635370_005 RELAY BAR RETAINER PIN CGM Roof Support 12
Mackay ADE020613_200 RELIEFVALVE Dealer Made Extras Engineering 2
Mackay 1026866_005 BUSHING, CYLINDER CGM Drills (Terex) 3
Mackay 888294_005 CIRCULAR CONNECTOR 37POLE SQ F 2
Mackay A210715_200 MOUNTBRACKET Dealer Made Extras Engineering 6
Mackay 873423_005 BRACKETDETAIL CGM Diesel 2
Mackay 637342_005 SEALKIT CGM Roof Support 8
Mackay 754133_005 SPINDLE,WHEEL ROLLER 4
Mackay 1516848_005 HYDRAULIC TUBE 1
Mackay 1528159_005 VALVE,DIRECTIONAL,D03 CGM Electric Shovels 1
Brisbane 4064646_005 HOSE CGM Hydraulic Shovels 1
Mackay 506029_005 PIPECOOLING CGM Diesel 2
Mackay 4021949_005 RING TRAVEL GEARBOX 1



Mackay 767516_005 PLUG-IN ELBOW SOCKET DN 12 TUR CGM Roof Support 42
Mackay 4414654_005 PRESSURE TRANSDUCER,4000PSI CGM Trucks 1
Mackay 1036688_005 1421624 O RING 36
Mackay 121892_450 MODULEIMACDI4IS Miscellaneous 2
Mackay 155686_005 NUT(COLLAR) NM 36X3-22H 10
Mackay B085001_210 Air Filter, Primary Donaldson 10
Mackay 133583_005 HEX HEAD BOLT ISO 4014-M 20X42 CGM Material Handling 52
Mackay 4339702_005 CABLE HARNESS 1
Mackay 1269779_005 BUSHING CGM Electric Shovels 1
Mackay 111024_005 BOLT,HH,DIN 960-M 20X1.5X80-10 63
Mackay 308057_005 HIGH PRESSURE NOZZLE 602 364 A 16
Mackay 4055354_005 SOCKET3INNPT CGM Drills (Terex) 1
Mackay A122736-01_200 HARNESS Dealer Made Extras Engineering 1
Mackay 507836_005 ALFA FLANGE SAE 62 FLANGE 3/4" CGM Diesel 6
Mackay 4057531_005 GAURD UPPER PLATES DRIVE SHAFT CGM Trucks 1
Mackay 1451237_005 VALVE-CHECK 2
Mackay 500884_005 OUTER HUB BEARING CONE 2
Mackay 754829_005 RETAINING PLATE 1
Mackay 4024932_005 ELBOW 1
Mackay 503993_005 FAN ADAPTOR CGM Diesel 1
Mackay 903270_005 EXHAUST FLANGE PIPE 1
Mackay B0640-0594_450 LEICATARGETPLATE Miscellaneous 3
Mackay 895080_005 SPACER PIPE DETAIL CGM Diesel 14
Mackay 1238669_005 RELAY,SAFETY,24VDC CGM Drills 1
Brisbane 44695000L_020 BUSHSADDLET/ROD All make Parts 23
Mackay 4058179_005 BOLT LONG ENGINE CGM Trucks 6
Mackay 513707_005 BUSH CGM Diesel 6
Mackay 1238428_005 POWER SUPPLY,+/-10VDC CGM Draglines 1
Mackay 4056904_005 SEAL DUST LINATEX 2
Mackay 1620072_005 PLATE-ORIFICE 0.030 CGM Trucks 8
Mackay 121891_450 MODULEIMACIIMIS Miscellaneous 1
Mackay 880705_005 PUSH PIN   F 4
Mackay 1130304_005 MANIFOLD CGM Electric Shovels 1



Mackay 4042033_005 MIRROR 2
Mackay 986710_005 COLLAR-SHAFT-ROLLER- CGM Drills (Terex) 7
Mackay 1418947_005 SHIM 20
Mackay 4023938_005 BRACKET 1
Mackay 1485084_005 PLUG,#16,G1A MALE BSPP/ED NBR CGM Electric Shovels 10
Mackay 509706_005 ACCELERATOR PEDAL PIVOT 1
Mackay 767921_005 FITTING,0.8MM ORIFICE,DN10STMX CGM Roof Support 20
Mackay 1455459_005 VALVE CGM Hydraulic Shovels 1
Mackay 1451248_005 DRIVESHAFT-PUMP CGM Trucks 1
Mackay 232233_005 ADAPTOR 3/4" BSP MALE 1/2" FEM CGM Shearer 27
Mackay 777769_005 COVER CGM Material Handling 1
Mackay ADE003835_200 GEARSET Dealer Made Extras Engineering 1
Mackay AUS33W_190 RECEIVER Dealer Made Extras 4
Mackay A245860_200 PLATFORMASSY Dealer Made Extras Engineering 1
Mackay 900426_005 RUBBER RAIL SECTION 45X60X185 3
Mackay 1118509_005 FAN, CONDENSER CGM Drills 1
Mackay 4026707_005 INITIATOR . 1
Mackay 981623_005 FLANGE KIT, 6" 125# 2
Mackay 141613_450 CABLE2M1XBBPLUG Miscellaneous 1
Mackay 641191_005 CONTACT, FIXED 9
Mackay 853428_005 NeedleValve1/4B CGM Material Handling 5
Mackay 246622_005 OIL LEVEL WINDOW 7
Mackay 633643_005 RING CGM Roof Support 5
Mackay 518966_005 SEAL KIT 2
Mackay 1527914_005 PLENUM MOUNT  ASSEMBLY 3
Mackay 1126132_005 COUPLING COMPLETE CGM Electric Shovels 1
Mackay 502424_005 BUSH CGM Diesel 2
Mackay 4027907_005 FILTER 1
Mackay 1436806_005 ROUND,2.00x7.125 CGM Electric Shovels 2
Mackay 4274846_005 CABLE ASSY,SERIAL DB9 M-F,10FT CGM Electric Shovels 1
Mackay 373844_005 SPACER CGM Shearer 6
Mackay 4039659_005 HOSE CABEL OS4 OS4 400/15000/4 1
Brisbane DELVACSYN80W140-19.9_020 DELVACSYN80W140 All make Parts 2



Mackay 1525669_005 DIODE UNIT 2
Mackay 126441_005 HEX HEAD BOLT ISO 4014-M 30X16 CGM Material Handling 39
Mackay 4059421_005 PUMP DIAPHRAGM POTABLE WATER T CGM Drills (Terex) 1
Mackay 1483469_005 BREAKER,3-PHASE 10A CIR CGM Electric Shovels 1
Mackay 506057_005 PIPE HINGE - ASSEMBLY CGM Diesel 1
Mackay 4057196_005 RELAY INSERT FOR  2764662 CGM Hydraulic Shovels 12
Mackay 4297583_005 HOSE,50.8IDX66.6OD CGM Hydraulic Shovels 6
Brisbane 860420_005 GUIDE BUSH (PISTON) CGM Roof Support 8
Mackay 335320_005 FRAMEPICKINGC/D CGM Belt Products 2
Mackay 246990_005 CURRENT TRANSFORMER 2
Mackay 3146107_450 SILICATEADDITIVE Miscellaneous 100
Mackay 341529_005 CYLINDER BUSHING CGM Roof Support 2
Mackay 1450170_005 FILTERPURGELINE CGM Electric Shovels 1
Mackay 500848_005 AIR CLEANER ** 1
Mackay 1244801_005 FUSE,HIGH SPEED 275A 500V 3
Mackay 4008441_005 VALVE, CHECK, PILOT TO OPEN CGM Material Handling 1
Mackay 128420_005 PLUG-IN W-SOCKET DN 25/135o CGM Roof Support 4
Mackay 1123277_005 VALVE,HEAD PRESSURE CONTROL CGM Electric Shovels 1
Mackay 1415037_005 VALVE,CARTRIDGE,STD,NG32 CGM Electric Shovels 1
Mackay 341565_005 GLAND NUT(ROD)-200/125 CGM Roof Support 1
Mackay 505887_005 ELBOW 180 3
Mackay 1127224_005 ELEMENTS KIT CGM Electric Shovels 5
Brisbane 310.159_020 PYROMETERKIT900C All make Parts 3
Mackay 1031014_005 VALVE, BYPASS 4
Brisbane 2507757C1_480 VALVEHCV Navistar 4
Mackay 1683562_005 MANIFOLD BLOCK DN 25 2
Mackay 1015303_005 ELEMENT, FILTER-OIL-HYD-10 MIC 3
Mackay 1456991_005 SOCKET 1-USE 1520750 CGM Hydraulic Shovels 4
Mackay 1236824_005 MODULE,FLEX IN 8PT 120V CGM Draglines 1
Mackay 128571_005 DISC(OUTER) 737-14-8507 CGM Material Handling 4
Mackay 171457_005 WASHER 2
Mackay 4194399_005 BRACKET 2
Mackay 4010284_005 CABLE CGM Trucks 1



Mackay 121889_450 MODULERTD1ISC/W Miscellaneous 1
Mackay 121881_450 MODULEAIMIS010 Miscellaneous 1
Mackay 223818_360 Air Cleaner Mtg Str Kress 1
Mackay 1039596_005 HOSEASMJCA27811 CGM Drills (Terex) 6
Brisbane 2424LEDH_020 TAILLAMPLED All make Parts 2
Mackay 1138240_005 SWITCH,OIL LEVEL,AUX UNIT 1
Mackay 662313_005 CABLE DCS COMS 1
Brisbane BF4-20LT_020 BRAKEFLUID20LT All make Parts 3
Mackay 219258_005 RETAINING PLATE CGM Shearer 1
Mackay 379582_005 FITTING,ADAPTER,M40X2 X DN25/2 3
Mackay 506015_005 PIPE - HEAT EXCHANGER INTERMED CGM Diesel 1
Brisbane 164297_005 SEAL,PISTON,EWN 7065-285X260X2 3
Mackay 164297_005 SEAL,PISTON,EWN 7065-285X260X2 3
Mackay 4052716_005 HOSE TURBO OIL FEED ENGINE CGM Hydraulic Shovels 2
Brisbane 994205_020 HORTONSEALKIT All make Parts 5
Brisbane CECB_020 CABELECTCONNBRK All make Parts 24
Mackay 506052_005 PIPEHINGEASSEM CGM Diesel 1
Mackay 1573786_005 SCR,SOC,M30x3.5x150,CL12.9 4
Mackay 1008286_005 BREAKER, 5 AMP CGM Drills (Terex) 4
Mackay 506053_005 PIPEHINGEASSEM CGM Diesel 1
Mackay 946338_005 SAMINCO DRIVE OUTPUT LINK 3
Mackay 1035482_005 1157709 VALVE, THERMOST CGM Drills (Terex) 2
Mackay 641698_005 VALVE,BALL ASSEMBLY CGM Material Handling 1
Brisbane A5000_020 SLAVEVALVEASSY All make Parts 5
Brisbane 1525075_005 CBL,3-0.5MM2,220V,5M 9
Mackay 252235_005 BOLT,933DH 16X35 8
Mackay 851999_005 MAGNET 2
Mackay 986709_005 SHAFT-ROLLER-GUIDE- CGM Drills (Terex) 2
Mackay 4308833_005 SWITCH, 3 POLE CGM Drills (Terex) 1
Mackay 240905_005 FULL NUT BS 3692-M 20-12 CGM Shearer 88
Mackay 4021297_005 SOCKET 1
Mackay 4021876_005 BUSHING 1
Mackay 753362_005 BUSH 2



Mackay 839757_005 4.2KV TERMINAL BLOCK 2
Mackay 164456_450 3.6KV10AFUSE Miscellaneous 2
Mackay 4369750_005 HYDRAULIC HOSE 2
Mackay 1012996_005 WIRE, 16GA.-TFFN GREEN/WHITE 27
Mackay 888291_005 CIRCULAR CONNECTOR 37POLE SQ F 2
Mackay 888279_005 CIRCULAR CONNECTOR 37POLE SQ F 2
Mackay 4016791_005 SEAL CAP HYDRAULIC SYSTEM CGM Hydraulic Shovels 1
Mackay 515440_005 WET SCRUBBER TANK MOUNT ASSEMB CGM Diesel 1
Brisbane 4014301_005 TRANSMITTER CGM Hydraulic Shovels 1
Mackay 204128_005 SHIM, BEARING RETAINER CGM Continuous Miner 3
Mackay 282115_005 STANDPIPE 4
Mackay 859982_005 MICROSWITCH SPINDLE (F) 2
Mackay 223020_005 ADJUSTABLE MICRO-SWITCH TYPE 9 1
Mackay 751232_005 301941L-LOK, DIA.10X100 17
Mackay 1026283_005 KIT, SEAL CGM Drills (Terex) 1
Brisbane 69210000_020 BUSHT/RODULTRA All make Parts 13
Mackay 1573796_005 SCR,SOC,M24x3.0x140,CL12.9 CGM Electric Shovels 8
Mackay 1153003_005 BUSH,1.51x1.88x1.75 CGM Drills 1
Mackay 1481554_005 CYL,HYD,3"X1.75"X500,C/W CBAL CGM Material Handling 1
Mackay 637567_005 BOLTM30X340HEX CGM Shearer 3
Mackay 756553_005 HOSE FRAS 25MM 20
Mackay 633737_005 SEALING DISC-DN20 9
Mackay 637833_005 TOP COVERS - PIVOT PIN 5
Mackay 1137088_005 KIT,AIRSPRING CGM Electric Shovels 1
Mackay 159404_450 CABLE20M2XAMPHP Miscellaneous 1
Mackay 1606812-WIDE_450 CLEANERBAR Miscellaneous 11
Mackay 957542_005 CROSSCONNECT2PI CGM Material Handling 20
Mackay 139862_005 BOLT,SCREW, M 42X587 CGM Material Handling 2
Mackay 356899_005 SEAL(PISTON)-EWN 7065-255MMX23 3
Mackay 1069161_005 CABLE ASSY, RA HIGH SPEED OIL CGM Shearer 1
Mackay 1543061_005 JOINT, SWIVEL,-16 ORB& -16 ORS CGM Trucks 4
Mackay 4025865_005 LINE CAM BUS . 1
Mackay 1497393_005 FLTR,AIR CGM Electric Shovels 2



Mackay A245862_200 PLATFORMASSY Dealer Made Extras Engineering 1
Mackay 107613_005 PIN,VALVE SWITCH CGM Roof Support 12
Brisbane 81504_020 BEARINGINPUTSHAF All make Parts 13
Mackay 733550_005 DOUBLE NIPPLE NW50 CGM Roof Support 13
Mackay 4058145_005 SPACER SLEEVE ENGINE CGM Trucks 9
Mackay 4468306_005 PIPE 1
Mackay 4009115_005 HOSE ASSY 1-1/2"ID X 30" CGM Trucks 1
Mackay 1124232_005 THERMOSWITCH ASSM "DC GX" CGM Dragline (GE) 1
Mackay 1233046_005 SCR,SOC,.75x2.75 UNC GR8,PLTD CGM Electric Shovels 16
Mackay 888735_005 BPLM Remote Display Cable 2
Mackay 4025425_005 BRACKET CGM Hydraulic Shovels 1
Mackay 634474_005 CHAINLOCK19X64.5 CGM Material Handling 2
Mackay 1059909_005 VALVE, HYDRAULIC, UNLOADING 1
Mackay 764327_005 HEX.HEAD BOLT ISO 4014-M 36X13 CGM Material Handling 15
Mackay 208869_005 OIL LEVEL HOUSING 1
Mackay 108953_005 VALVE(CONTROL) 1
Mackay 126628_005 HEX HEAD SCREW ISO 4017-M 30X7 CGM Material Handling 20
Mackay 986711_005 MOUNT-ROLLER-GUIDE- CGM Drills (Terex) 2
Mackay 1461553_005 MAT 1
Mackay 1461492_005 MODULE 1
Mackay 1238744_005 RELAY,SEALED,24VDC,700-R,KIT CGM Drills 1
Mackay 1421175_005 RETAINER,TRIP ARM CGM Electric Shovels 1
Mackay 1620071_005 TUBE ASSEMBLY CGM Trucks 3
Mackay 1069162_005 CABLE ASSY, RA GEAR MESH TEMP CGM Shearer 1
Mackay P566273_210 Dt-Hf4-9-25Um Elemen Donaldson 6
Mackay A245897_200 IDLABEL Dealer Made Extras Engineering 1
Mackay 1065365_005 COMPLETE 3D TILT MONITOR BRACK 2
Mackay 249644_005 ADAPTOR(STR) 3/4BSPM X 3/4STF CGM Shearer 15
Mackay 500700_005 CYLINDER SLAVE THROTTLE CGM Diesel 1
Mackay 4010099_005 CABLE ASSEMBLY, 102 IN LONG CGM Trucks (GE) 2
Mackay 4425548_005 THREADED PLATE CGM Hydraulic Shovels 1
Mackay 1523173_005 UNION,BULKHEAD,L28 7
Mackay 206073_005 THERMOMETER PIPE LINE 2



Mackay 4025565_005 HYDRAULICHOSE CGM Hydraulic Shovels 1
Mackay 176822_005 BEARING ROLLER 1
Mackay 4055583_005 COIL HER 24VDC/48V 50Hz COMP V 4
Mackay 1467869_005 CLIP-USE 1523958 CGM Hydraulic Shovels 12
Mackay 501525_005 COOLANT LOSS VALVE 1
Mackay 204457_360 Seal Double Lip Vito Kress 4
Mackay 1453317_005 KIT-PARK BRAKE SEAL CGM Trucks 1
Mackay 502827_005 SIGHT GLASS - 3/4 BSP 5
Mackay 633740_005 FLUSHINGCONNECTIO CGM Material Handling 1
Mackay 1029922_005 KIT, CGM Drills (Terex) 1
Mackay 635072_005 KEEPERPLATE CGM Material Handling 1
Mackay 1451883_005 RELAY 1
Mackay 4027093_005 LID CONTROL BLOCK CGM Hydraulic Shovels 1
Mackay 4057354_005 COVERPLATEPUMPD CGM Hydraulic Shovels 1
Mackay 506017_005 PIPE - ENGINE INTERMEDIATE OUT CGM Diesel 2
Mackay 1113288_005 SHIM,PISTON & DRIVE RING CGM Electric Shovels 2
Mackay 4214575_005 PIPE-RAD LTC ENG OUT CGM Trucks 1
Mackay 356877_005 ELBOW,PLUG-IN ADAPTER,LUMBERG CGM Roof Support 1
Brisbane 4022069_005 CLIP 4
Mackay 514658_005 COVER 4
Mackay 4308763_005 VALVE, SUCTION CGM Drills (Terex) 1
Mackay BPM-MHM-90C-0618_190 18MMX3/890ELBOW Dealer Made Extras 20
Mackay 1129902_005 PROTECTOR,MOTOR CGM Electric Shovels 1
Mackay 1680456_005 SWITCH,ETHERNET CGM Electric Shovels 1
Mackay 639879_005 PINSTABSHOECYLI CGM Continuous Miner 1
Brisbane 4027356_005 CLIP 3
Mackay 343657_005 O-RING 407X5 CGM Material Handling 9
Mackay 893643_005 TEMPERATURE PROBE ADAPTER CGM Shearer 2
Mackay 1618808_005 PLUG-IN T-SOCKET DN 10 30
Mackay 109514_005 NUT(COLLAR) NM 30-22H 16
Mackay 4011812_005 SHIM-BRAKE CGM Trucks 17
Brisbane 953411_005 GAUGE BRACKET MACHINING 1
Mackay 4237969_005 MANIFOLD-4 INJECTOR 1



Mackay 888481_005 CIRCULAR CONNECTOR 37POLE PLUG CGM Shearer 2
Mackay 888482_005 CIRCULAR CONNECTOR 37POLE PLUG CGM Shearer 2
Mackay A103509-01_200 ALUMCLAMPBLOCK Dealer Made Extras Engineering 1
Mackay 1453131_005 SEAL KIT 57138 CGM Trucks 1
Mackay 4020810_005 SEAL SLEW BRAKE 1
Mackay 1517510_005 FAN SUPPORT NUT PLATE DETAIL 5
Mackay 1516492_005 SEAL KIT 1
Mackay D9N-001_450 ADAPTERKIT Miscellaneous 1
Mackay 4418859_005 CAP 1
Mackay 1069160_005 CABLE ASSY, RA LOW SPEED OIL T CGM Shearer 1
Mackay 1455807_005 TUBE ASSY, HYDRAULIC CGM Trucks 3
Mackay 749580_005 CAP SCREW ISO 4762-M 24X130-12 CGM Shearer 5
Mackay 509256_005 THROTTLE CABLE 4500 2
Mackay 514378_005 SENSOR MOUNTING PLATE CGM Diesel 3
Mackay 1015163_005 WIRE, ELECT, SXL, 16GA, BROWN/ 21
Mackay 1360838_005 SEAL,SHAFT,15 ID CGM Draglines 1
Mackay 1593516_005 HOSE ASSY R15-DN25X1400-S-SO-Z CGM Roof Support 2
Mackay 4013098_005 KIT,SEAL-VITON DEP/USE 2001977 CGM Trucks 1
Mackay 1264255_005 PLATETEST.75x12. CGM Electric Shovels 4
Brisbane 986680_005 PLATE-SIDE-UPPER ROD CGM Drills (Terex) 1
Mackay 1417773_005 VENT,VACUUM BREAKER CGM Electric Shovels 1
Mackay 1453185_005 BELT-V,POLY CGM Trucks 7
Mackay 633756_005 ORING18X2.5 CGM Material Handling 72
Mackay 4046067_005 PIN - FRONT AXLE MAINFRAME/CRA 2
Mackay 679096_005 WASHER D150/75-20 CGM Material Handling 10
Mackay 246610_005 ADAPTOR 4
Brisbane RDBD189_020 BRAKEDRUMGPDRV All make Parts 4
Mackay 500223_005 CYLINDER PIN PLATE 1
Mackay 852821_005 NUTPROTECTIONCOV CGM Material Handling 69
Mackay 140281_005 PIN 37X150X110 CGM Material Handling 2
Mackay 4054976_005 SWITCH ELECTRICAL AIR CONDITIO CGM Hydraulic Shovels 1
Mackay 4052116_005 RING SLEW GEARBOX CGM Hydraulic Shovels 3
Mackay 1450169_005 ELEMENT,SEPARATOR CGM Electric Shovels 2



Mackay 1573787_005 SCR,SOC,M30x3.5x90,CL12.9 CGM Electric Shovels 4
Mackay 758507_005 SPACER 1
Mackay 1451126_005 BLANKET, EXHAUST CGM Trucks 1
Mackay 1465465_005 GASKET SET CGM Hydraulic Shovels 2
Mackay 1206958_005 MOTOR ASSY CGM Drills 1
Mackay 00305796_450 DISCSEMIFLEX Miscellaneous 40
Mackay 1470560_005 PLUG-IN ELBOW SOCKET DN 25SSO CGM Roof Support 3
Mackay 1132542_005 STARTER,MOTOR CGM Electric Shovels 1
Mackay 513995_005 PIN LIFT CYL TOP PIVOT LIFT AR CGM Diesel 1
Mackay 204172_360 LOWERRETAINERPLA Kress 7
Mackay 637545_005 SETSCREW M30 X 100 GD 8.8 15
Mackay 1515113_005 ANGLE CGM Roof Support 6
Mackay 351057_005 FITTING(TEE)-DN32STFXDN32STFXD CGM Shearer 9
Mackay 1454119_005 KIT-ADHESIVE (NON-HAZARDOUS) CGM Trucks (GE) 2
Mackay 4057374_005 BUSHING FLANGED CRANE SUPPORT CGM Hydraulic Shovels 3
Mackay 750250_005 OIL SEAL 115MM X 140MM 2
Mackay 1418949_005 SHIM 14
Mackay 372216_005 400A 600V FUSE 5
Mackay 1457940_005 SEAL, V-RING CGM Trucks (GE) 5
Mackay 871430_005 TOROIDAL CURRENT TRANSFORMER 1 1
Mackay 888469_005 CIRCULAR CONNECTOR 14POLE PLUG CGM Shearer 2
Mackay 1693963_005 TUBE ASSY-HYD CGM Trucks 3
Mackay 1421181_005 WASHER,DIA 4.75 CGM Electric Shovels 4
Mackay 1100999_005 FLANGE,HALF,2,6000PSI CGM Electric Shovels 9
Mackay 4009152_005 BUSHING CGM Trucks 1
Mackay 4087813_005 STUD BOLT RR M 42X630 DIN 2510 CGM Material Handling 2
Mackay 774184_005 ADAPTOR 1
Mackay 1579757_005 MODULE TIMING CGM Trucks 2
Mackay 195-Z11-6691_450 FILTER Miscellaneous 2
Mackay 183544_360 THROTTLECYLINDER Kress 1
Mackay A211738_200 BOSS Dealer Made Extras Engineering 22
Mackay 1007362_005 KEY CGM Drills (Terex) 3
Mackay 663328_005 CONNECTING PIN CGM Material Handling 2



Mackay 945187_005 RETAINER PLATE 3
Mackay 514876_005 PIN (LIFT ARM PIVOT) FRONT - F CGM Diesel 1
Mackay 639482_005 VALVE COOLANT LOSS 1
Mackay 1195547_005 WIPER ASSY,32" BLADE 1
Mackay 108955_005 SEAT,VALVE 4
Mackay 1522849_005 RDCR,S10-S8,SWVL 21
Mackay 1485069_005 DUO-CONE SEAL CGM Hydraulic Shovels 1
Mackay 1461290_005 NUT 2
Mackay 507199_005 RUD 16 TONNE VRBS CGM Diesel 1
Mackay 1460721_005 ORING 2
Mackay 508051_005 CABLE,SEMS 2 CORE 4 PIN X 2M CGM Diesel 1
Mackay 1453603_005 HOSE ASSY FC300-32 CGM Trucks 1
Mackay 128388_005 T-SOCKET DN 12 CGM Roof Support 14
Mackay 1513883_005 VALVE,TXU CGM Electric Shovels 1
Mackay 126474_005 HEX.HEAD BOLT ISO 4014-M 30X20 CGM Material Handling 16
Mackay 281088_005 ADAPTER PLATE(SOLENOID VALVE) 2
Mackay 4058142_005 GASKET INTAKE MANIFOLD 18
Mackay 1413139_005 CLAMP,QUICK 5
Mackay 994637_005 PIN-CLEVIS-MAST ELEVATING CYLI CGM Drills (Terex) 1
Mackay 164283_005 GUIDE BUSH (PISTON) 6
Mackay 215774_005 HEX HEAD BOLT ISO 4014-M 24X20 CGM Shearer 4
Mackay 366108_005 SEAT(VALVE) 25
Brisbane 20550_020 COVERBEARING All make Parts 14
Mackay 515232_005 FILTER ELEMENT 1
Mackay 016308-002L_450 COUPLER Miscellaneous 10
Brisbane 1466340_005 FILTER 1
Mackay 663570_005 HEX HEAD SCREW ISO 4017-M 30X2 CGM Material Handling 2
Mackay 888227_005 CIRCULAR CONNECTOR 26POLE SQ F 1
Mackay 235044_005 ANTI-VIBRATION WASHER TYPE AW 4
Mackay 902485_005 N/C LOGIC ELEMENT CGM Diesel 1
Mackay 888402_005 CIRCULAR CONNECTOR 7POLE PLUG CGM Shearer 2
Mackay 1461103_005 O RING CGM Hydraulic Shovels 7
Mackay 1227296_005 WASHER,CONICAL 27MM CGM Electric Shovels 9



Mackay 360742_005 IMPULSE TRANSMITTER PMC-D AUST CGM Roof Support 1
Mackay 1452058_005 WEAR BAND CGM Trucks (GE) 2
Mackay 1236785_005 SLC 500 DC INPUT CARD CGM Drills 1
Mackay 846415_005 DOWEL 4
Mackay 1453804_005 BRACKET,LADDER SPRT CGM Trucks 2
Mackay 1558097_005 SCR,HEX,M24x3.0x110mm,CL10.9 CGM Electric Shovels 19
Mackay 1488644_005 CABLE ASSY, SHEAR PIN SWITCH ( 3
Mackay 356898_005 SEAL(ROD)-EWN 7062-335MMX360MM 3
Mackay 225118_005 PISTON WEAR RING 3
Mackay 1464547_005 HOSE 1
Mackay 106259_005 VALVE CONE 5
Mackay 1535819_005 SEAL CGM Shovels (GE) 1
Mackay 4290099_005 RECEIVER ASSY DRY BKE 1
Mackay 228178_005 HEX HEAD BOLT ISO 4014-M 24X14 CGM Shearer 5
Mackay 4145090_005 HOSE ASSY 6
Mackay 1453765_005 RETAINER CGM Trucks 3
Mackay 1421196_005 LUG,ROCK GUARD CGM Electric Shovels 2
Mackay 164281_005 GUIDE BUSH (ROD) 6
Mackay 172989_005 .005 SHIM CGM Continuous Miner 3
Mackay 771695_005 INTERCHANGE COUPLING APM 13 FE 4
Mackay 1125431_005 RESISTOR,GROUND FAULT CIRCUIT CGM Electric Shovels 1
Mackay 1415120_005 TUBE ASSY,-12 ORS,FORMED CGM Electric Shovels 1
Mackay 128407_005 PLUG-IN T-SOCKET DN 12 CGM Roof Support 10
Mackay 4055742_005 VALVE SHUTTLE 1/4 BSPP . 4
Mackay 1452790_005 KIT-SEAL CGM Trucks 30
Mackay AUS33W-C_190 CAP Dealer Made Extras 5
Mackay 399304_005 INTERCHANGE COUPLING APM 9 FEM 4
Mackay 164243_005 Wearband,Rod,140Mmx1 CGM Roof Support 8
Mackay 1210512_005 TENSIONER,MECH 1
Mackay 4044454_005 MOUNT-LOAD DISPLAY CGM Trucks 2
Mackay 1130170_005 SUPPRESSOR,SURGE 400-600V CGM Electric Shovels 7
Mackay 4186860B_005 MEMORYCARD CGM Hydraulic Shovels 1
Mackay 758531_005 PLUG 1



Brisbane 4017371_005 ADAPTER CABLE 1
Mackay 1124191_005 AUX. CONTACT CGM Electric Shovels 2
Mackay 1104690_005 INJECTOR,1 W/MANIFOLD CGM Drills 1
Mackay 4010098_005 CABLE ASSEMBLY, 108 IN LONG CGM Trucks (GE) 2
Mackay 941679_005 FILLNECK CGM Diesel 1
Mackay 888308_005 CIRCULAR CONNECTOR 7POLE PLUG CGM Shearer 2
Mackay 514898_005 PIN RAS/TILT PIVOT CGM Diesel 1
Mackay 128769_005 SWITCH,PRESSURE CGM Roof Support 1
Mackay 4303107_005 ROD MOUNT 4
Mackay 4057222_005 BOSCH ISOLATER FOR A100225 . CGM Trucks 1
Mackay 888295_005 CIRCULAR CONNECTOR 7POLE PLUG CGM Shearer 2
Mackay 242157_005 EXTRACTION PLATE CGM Shearer 2
Mackay 753312_005 WEARING RING 2
Mackay EAF5128_210 ENDURANCEVERSION Donaldson 3
Mackay 1244086_005 BODY,CLAMP,1.42 ID,5S CGM Electric Shovels 10
Mackay 126476_005 HEX.HEAD BOLT ISO 4014-M 30X14 CGM Material Handling 24
Mackay 1499801_005 LAMP-USE 1525607 CGM Hydraulic Shovels 3
Mackay A253167_200 MOUNTBRKTASSY Dealer Made Extras Engineering 1
Mackay 873675_005 BRACKETDETAIL CGM Diesel 1
Mackay 767505_005 ELBOW SOCKET DN 12; S40-8-8 CGM Shearer 12
Mackay 1523810_005 ROT SHAFT LIP SEAL 1
Mackay HOSETRACKERGUN_190 HOSETRACKERGUN Dealer Made Extras 1
Mackay 209799_005 BEARING ROLLER 22212 CGM Shearer 1
Mackay 643068_005 SHUTDOWN CYLINDER 1
Mackay SFC-3525E_450 STAUFFHYDFILTER Miscellaneous 13
Mackay 1P7405BV_450 EYEBOLT3/8 Miscellaneous 83
Mackay 127493_005 SEAL B2 150X180X15 CGM Material Handling 2
Mackay P778984_210 Air Filter, Primary Donaldson 7
Mackay 859984_005 DRIVE SPINDLE(F) 2
Mackay 1123287_005 STRUT,GAS CGM Electric Shovels 2
Mackay 894439_005 POLYURETHANE COVER CGM Diesel 3
Mackay 1456949_005 SPACER 1
Mackay 1526601_005 EXHAUST PIPE, WELDMENT 2



Mackay 1467629_005 CONE-USE 1524822 CGM Hydraulic Shovels 1
Mackay 1457172_005 SOCKET 2
Brisbane 1140320_005 SHIM,SHEET,22GAx11x24 CGM Draglines 4
Mackay 226009_360 Carrier Seal Kress 1
Mackay 751474_005 UHF ANTENNA 6
Mackay DY7106885000_450 FIL/AIRSTDHK400 Miscellaneous 4
Mackay 4057903_005 ELEMENT CONE-STACK ENGINE CENT CGM Hydraulic Shovels 2
Mackay 00796977_450 RESPIRATORFILTER Miscellaneous 22
Mackay 4009922_005 SHIM CGM Trucks (GE) 6
Mackay 128713_005 ADAPTER R1/2" SKK24M 2
Mackay 126627_005 HEX HEAD SCREW ISO 4017-M 30X6 CGM Material Handling 12
Mackay 1010832_005 VALVE, COUNTER BALANCE CGM Drills (Terex) 1
Mackay 4418858_005 CAP 1
Mackay 500773_005 QUICK CONNECT 3/4" BSPP MALE 6
Mackay 1455326_005 VALVE 1
Mackay 888411_005 CIRCULAR CONNECTOR 26POLE PLUG CGM Shearer 2
Mackay 634999_005 M12 x 45 HH BOLT 16
Mackay 1413142_005 VALVE,EXHAUST,ADJUSTABLE 2
Mackay 1466834_005 DISK 4
Mackay 1527346_005 UNIT,COMP,ROUND KNOB,I-O-II CGM Electric Shovels 3
Mackay 4147966_005 BRACKET 2
Mackay 1013090_005 COUPLING W/MALE CGM Drills (Terex) 2
Mackay 321296_005 HEX HEAD SCREW ISO 4017-M 36X1 CGM Material Handling 18
Mackay 1462196_005 LID 1
Mackay 902789_005 BLOCK CGM Diesel 2
Mackay 1468545_005 BUSHING 2
Mackay 983363_005 CABLE, CONTROL CGM Drills (Terex) 1
Mackay 351503_005 FILTER ELEMENT TYPE 30 W/SEALI CGM Material Handling 1
Mackay 113515_005 FILTER UNIT,25MIC(B/M) 2
Mackay 1484878_005 FLOAT VALVE BRASS UNMODIFIED CGM Diesel 2
Mackay 1460537_005 PANEL 1
Brisbane FAWMC_020 FIRSTAIDKITMULT All make Parts 7
Mackay 4021703_005 LINE ASSEMBLY 1



Mackay 169795_005 TUBE BOTTOM RADIATOR HOSE CONN CGM Continuous Miner 2
Mackay 367861_005 REDUCER M 42X1,5/G1 CGM Material Handling 2
Mackay VKA3/06SCF_450 TESTFITTING Miscellaneous 3
Mackay 1118492_005 CUTOUT,LOW PRESSURE CGM Electric Shovels 1
Mackay P550775_210 LUBESPINONFULL Donaldson 3
Mackay 1471988_005 Y-ADAPTER 3XOS-4  TYP 3 CGM Shearer 1
Mackay 1456356_005 SUPPORT RING 2
Mackay 4011901_005 PAD-FOAM FLOOR CGM Trucks 1
Mackay 4021390_005 HYDRAULIC HOSE CGM Hydraulic Shovels 3
Mackay 1282934_005 HEAD,BAR,.75x5.50x5.50 CGM Electric Shovels 2
Mackay 510218_005 GASKET FILTER TO EXHAUST CONDI 1
Brisbane ORUHF55001_020 UHFCBRADIO5WHND All make Parts 2
Mackay 871357_005 FUSE 2A 600V FNQ-R-2 2
Mackay 159610_360 CABLEASSY Kress 2
Mackay 1239239_005 SW,PB,RED,PSH/PL,W/ENCLOSURE CGM Electric Shovels 1
Mackay 1543302_005 KIT,CCU BATTERY UPGRADE 2
Mackay 144710_360 CABLE5COND12FT Kress 3
Mackay 1451940_005 SHIM (6.75 OD X .005) CGM Trucks 21
Mackay 203912_005 PIN-49.8MM DIA X 212MM OVERALL 2
Mackay 1452380_005 GAUGE,HYD,-15 TO +15 PSI 2
Mackay 225194_360 Tube Str -8 Stnls Kress 2
Mackay 1454425_005 FUSE, BATTERY CGM Trucks (GE) 4
Mackay 126356_005 HEX.HEAD BOLT ISO 4014-M 20X75 CGM Material Handling 56
Mackay 997350_005 ADAPTER, ENGINE EXHA CGM Drills (Terex) 2
Mackay TQ4704044_450 RETURNFILTERS/S Miscellaneous 2
Mackay 1573459_005 SCR,SOC,M12x1.75x70,CL12.9 CGM Electric Shovels 4
Brisbane 946912_005 GAUGE BRACKET MACHINING 1
Mackay 128169_005 SPRING,COMPRESSION,1.9X9.9X41. CGM Material Handling 29
Mackay 283024_005 HEX HEAD BOLT ISO 4014-M 24X13 CGM Shearer 4
Mackay 504454_005 RELIEF VALVE CGM Diesel 1
Mackay 4214576_005 PIPE-RAD LTC ENG IN CGM Trucks 1
Mackay 113331_005 CARTRIDGE,CONTROL VALVE,NG6 1
Mackay 1453632_005 BEARING,BALL,1 ROW CGM Trucks (GE) 1



Mackay 07924421_450 TORCHHEADSUP Miscellaneous 6
Mackay 4052357_005 SENSOR SPEED ENGINE CONTROL MO CGM Hydraulic Shovels 1
Mackay 1036442_005 1418860 PIN, RING RETAI 1
Mackay 1521089_005 DISK/WASHER CGM Hydraulic Shovels 1
Mackay 1027853_005 LINK, 3
Mackay 128168_005 SPRING,COMPRESSION,1X5.5X45.6 CGM Material Handling 26
Mackay 012001-004_450 ADPTRHUMPH Miscellaneous 1
Mackay 1071296_005 V-PACKING,PISTON ROD 4
Mackay 514284_005 BUSH (TILT CYL ROD PIVOT) CGM Diesel 1
Mackay 4020801_005 DISK BRAKE EXTERNAL SLEWING BR 2
Mackay 1123280_005 VALVE,CHECK CGM Drills 1
Mackay 4020481_005 RELAY 1
Mackay 4052181_005 CONNECTOR SAE J1283 BATTERY CH CGM Trucks 1
Mackay 1452275_005 SWITCH-COOLANT LEVEL CGM Trucks 2
Mackay 888310_005 CIRCULARCONNECTOR CGM Shearer 2
Mackay 1451124_005 BLANKET, EXHAUST CGM Trucks 1
Mackay 4005643_005 SEAL-DUST-SKS 30 DEGREE CGM Drills (Terex) 1
Mackay 4286488_005 PROTECTOR,SUPPL,2P,4A,CUR C CGM Draglines 1
Mackay 1455876_005 TRANSMITTER 2
Mackay 133873_005 RING(SNAP) DIN 472-250X5-FST CGM Material Handling 3
Mackay 749898_005 HEX HEAD SCREW ISO 4017-M 24X2 CGM Shearer 1
Mackay 752874_005 RESISTANCE,RECTIFIER,UNIT,100 1
Mackay 1104679_005 INJECTOR,SINGLE,81713 1
Brisbane 0125172000_020 HOSECACF/LNR4 All make Parts 3
Mackay 4220229_005 STEM-VALVE, 82.90"LG CGM Trucks 2
Mackay 164282_005 GUIDE BUSH (PISTON) 6
Mackay 108618_005 SPRING,VALVE CGM Roof Support 48
Mackay 1535811_005 KEY,1.25x1.25x2.5 CGM Shovels (GE) 1
Mackay 506164_005 CLAMP 8
Mackay 4021291_005 HYDRAULIC HOSE 1
Mackay 377695_005 O-RING 339.3X5.7-NBR 70 CGM Material Handling 6
Mackay 1271779_005 SHIM,BAR,.50x4x7.25 CGM Electric Shovels 1
Mackay 4374095_005 Hose 1



Mackay 220437_005 BEARING WRAPPED 5
Mackay 888406_005 CIRCULAR CONNECTOR 10POLE PLUG CGM Shearer 2
Mackay 888221_005 CIRCULAR CONNECTOR 10POLE SQ F 2
Mackay 144675_005 Seal,Rod,140Mmx160Mm CGM Roof Support 4
Mackay 1210685_005 BAR,1x1x6.00 CGM Draglines 1
Brisbane 1455095_005 WASHER 1
Brisbane 70-225_020 HOSESILICO21/4 All make Parts 296
Mackay 1702598_005 SWITCH, PRESSURE-W/CONNECTOR CGM Drills (Terex) 1
Brisbane 70-125_020 HOSEPUROSIL1.25 All make Parts 445
Mackay 109639_005 BOLT(HH) DIN 931-M 16X95-10.9 CGM Material Handling 12
Mackay 1155981_005 BUSHING,1.50x1.88x1.75 CGM Drills 1
Mackay 4058123_005 HEAD BOLT LONG CGM Trucks 2
Mackay 1528199_005 SCR,SOC,.375x5,UNC,GR8 CGM Electric Shovels 4
Mackay 853718_005 VACUUM GAUGE 15 BIS 0 PS 1
Mackay 391420_005 STAPLE-DN40SUPERSTECKO X 115MM 6
Mackay 1581623_005 THROTTLE CABLE 4500 1
Mackay 201675_005 SUBPLATE W/SAE PORTS CGM Material Handling 1
Brisbane FF2200_020 FUELFILTER All make Parts 10
Mackay 991209_005 FLANGE, KIT-2 1/2 SAE X 2 1/2 CGM Drills (Terex) 1
Mackay 1130608_005 CABLE,ETHERNET CGM Electric Shovels 1
Mackay 1082853_005 FILTER,BREATHER,1"STD EXT 1
Mackay 1133282_005 VALVE,BALL 7/8 ODS CGM Drills 1
Mackay 502105_005 VALVE,PRESSURE REDUCING CGM Diesel 1
Mackay 1453957_005 AIR BAFFLE CGM Trucks (GE) 1
Mackay 164294_005 SEAL,ROD,EWN 7062-370X390X20 2
Mackay 504103_005 Water Hose Fraz 3/4 11
Mackay 128179_005 D-CLIP EWN 6303-6.3 7
Mackay 15L129_200 MURPHYGAUGE Dealer Made Extras Engineering 1
Mackay 1457407_005 SITE GLASS 3
Mackay 639088_005 AUX.CONTACTPACKET CGM Shearer 1
Mackay 126478_005 HEX HEAD BOLT ISO 4014-M 30X11 CGM Material Handling 6
Mackay 641497_005 BOLT  M24 X 130 HEX HD GD 10.9 12
Mackay 1027728_005 KIT, CGM Drills (Terex) 10



Mackay 1138367_005 RELAY,PUMPDOWN & PRESSURIZER CGM Electric Shovels 3
Mackay 1129900_005 MODULE,FEEDER,3 POLE CGM Electric Shovels 2
Mackay 108888_005 LEVER,OPERATING 1
Mackay 251227_005 CAP SCREW 6
Mackay 500051_005 SEAL KIT ** 1
Mackay X59399100083.MDD_005 TURBOCLAMP CGM Products 8
Mackay 641550_005 CABLE209/0.4FOUR CGM Continuous Miner 1
Mackay 1410842_005 GAUGE,SIGHT,17 CGM Electric Shovels 1
Mackay 173036_005 THRUST BUSHING CGM Transport 2
Mackay 506528_005 RADIATOR GUARD 1
Mackay 1527354_005 LEVEROPERATIONAL CGM Electric Shovels 1
Mackay 4214274_005 BATTERY PACK, 3,6V LITHIUM CGM Trucks 6
Mackay 4565002_005 HYDRAULIC TUBE 1
Mackay 888229_005 CIRCULAR CONNECTOR 14POLE SQ F 2
Mackay 4017439_005 INJECTOR 12
Mackay 634036_005 ADAPTORHYDRAULI CGM Shearer 2
Mackay 888405_005 CIRCULAR CONNECTOR 10POLE PLUG CGM Shearer 2
Mackay 1452055_005 BAFFLE RING CGM Trucks (GE) 3
Mackay 127977_005 O-RING 622X8 CGM Material Handling 2
Mackay 4027352_005 SHAFT CGM Hydraulic Shovels 1
Mackay 274198_005 OIL DIPSTICK L=685 CGM Material Handling 1
Brisbane 105C137_020 CLUTCHRELSEFORK All make Parts 7
Mackay 108987_005 CABLE,TEMPERATURE SENSOR F/CST 1
Mackay 1456821_005 SPRING 62
Brisbane 4020736_005 DISC WASHER SLEW GEARBOX CGM Hydraulic Shovels 1
Mackay 4018297_005 HOSE ASSEMBLY HYDRAULIC FUEL+I CGM Hydraulic Shovels 1
Mackay 1098346_005 SCR,HEX,1.25x6,UNC,GR5 8
Brisbane LF691A_020 FILTER All make Parts 12
Mackay WF2072_450 FILTER Miscellaneous 11
Mackay 1406275_005 SWITCH,ASSY,A.C. HI PRESS CGM Drills 1
Mackay 633505_005 PIN,ROLL DIN 1481 16X32 CGM Material Handling 70
Mackay 1460210_005 PIN(RH120E) 1
Mackay R280X_020 UNIVERSALJOINT17 All make Parts 4



Mackay 362007_450 CUPWASHER Miscellaneous 32
Mackay 355491_005 SEAT(DELRIN VALVE) 52
Mackay 1453341_005 GUIDE ADJUSTER CGM Trucks 5
Mackay 4383599_005 SWITCH-PRESS 500 PSI INCR CGM Trucks 1
Mackay 644318_005 ROUND CONNECTOR M12X1 WWASC4S 3
Mackay 1462828_005 HYDRAULIC HOSE 3
Mackay 1484723_005 ROT.SHAFT LIP SEAL CGM Hydraulic Shovels 1
Mackay 1458651_005 SCRAPER 2
Mackay 1519344_005 HINGE LH 1
Mackay 1415343_005 SILENCER,AIR 3
Mackay 1621912_005 CONTROL CABLE SKK24 - KEYPAD ( CGM Shearer 1
Mackay 1517506_005 RADIATORMOUNTBRA CGM Diesel 2
Mackay 4018756_005 LID BUCKET CGM Hydraulic Shovels 1
Mackay A247744_200 MOUNTPLATE Dealer Made Extras Engineering 1
Mackay 4220279_005 VALVE-SOL CARTRIDGE,W/MANIFOLD CGM Trucks 1
Brisbane VKBA5811_020 WHLBRGKITTRLR All make Parts 2
Mackay 127918_005 O-RING 470X4 72 NBR/872 CGM Material Handling 13
Mackay 663371_005 CODING PLUG CP1 6.8K ATEX 1
Mackay 4274853_005 PROTECTOR,SUPP,1P,3A,CURVE C CGM Electric Shovels 1
Mackay 4011186_005 HOSE ASSY FC300-12 1
Mackay 4287966_005 WIRING HARNESS FOR RH340B 2
Mackay 504849_005 BALL VALVE 1
Mackay 164292_005 SEAL,ROD,EWN 7062-265X285X16 3
Mackay 196297_005 THRUST WASHER - 100 1
Mackay 4164392_005 HOUSING CGM Roof Support 1
Mackay 201538_005 BEARING(ROLLER) DIN 5412-NJ 22 CGM Material Handling 1
Mackay 4013099_005 SEAL-KIT CGM Trucks 26
Mackay 107612_005 NIPPLE,VALVE CGM Roof Support 5
Mackay 1239263_005 PUSHBUTTON,RED E-STOP CGM Draglines 1
Mackay 1244923_005 INSULATOR,15KV CGM Draglines 1
Mackay 138543-032_360 HOSEASSY12100R Kress 1
Mackay 639606_005 CABLE, 3 CORE X 120SQMM TYPE 2 1
Mackay 1454222_005 TIP,SILVER INSERT 1



Mackay 164289_005 SEAL,STATIC,405X391.5X15 3
Mackay 1573790_005 SCR,SOC,M16x2.0x140,CL12.9 CGM Electric Shovels 4
Mackay 1573784_005 SCR,SOC,M20x2.5x80,CL12.9 CGM Electric Shovels 4
Mackay 210176_005 10 WAY STRAIGHT SOCKET 3
Mackay 128558_005 DISC(INTERIOR) 737-14-6254 CGM Material Handling 3
Brisbane N122R50424_020 ELEMENTASSY10MIC All make Parts 4
Mackay 128414_005 FITTING(ADAPTER) G 3/4"A-DN 12 CGM Roof Support 10
Mackay 633712_005 CABLE SKK24 HIRSCH 500MM 1:1 1
Mackay 109318_005 BOLT(HH) DIN 931-M 30X95-10.9 CGM Material Handling 7
Mackay 888226_005 CIRCULAR CONNECTOR 26POLE SQ F 1
Mackay 164280_005 GUIDE BUSH (ROD) 6
Mackay 107013_005 PISTON SEAL 165MMX145MMX20MM CGM Roof Support 3
Mackay 1468060_005 CIRCLIP CGM Hydraulic Shovels 7
Mackay 108956_005 SEAT,VALVE 5
Mackay 108581_005 LOCKING SCREW CGM Roof Support 3
Mackay P546614_210 Air Filter, Primary Donaldson 1
Brisbane 1043_020 INSERTH/LAMPHLLA All make Parts 3
Mackay RF-G3/4-CS_190 ?NEEDLEVALVE Dealer Made Extras 2
Mackay 503224_005 BOLT AXLE - FRONT AXLE 4
Brisbane P020_020 CMHOSEM/P3/4 All make Parts 1700
Mackay 888206_005 CIRCULAR CONNECTOR 7POLE SQ FL 1
Mackay 372644_005 BRACKETDROPRIGI CGM Belt Products 6
Mackay 4237696_005 HORN-ELECTRIC CGM Trucks 2
Brisbane CLT008P_020 LUBEHOSET/OBEAR All make Parts 21
Mackay 356893_005 WIPER(ROD)-335X355X10.2 TYPE 8 3
Brisbane 1451741_005 MICROSWITCH 5
Mackay 1451797_005 PIN 2
Mackay 506350_005 BREATHER MOUNT 1
Brisbane 47692000L_020 BUSHT/RODPRMX All make Parts 17
Mackay 1453803_005 BRACKET-LADDER SPRT CGM Trucks 2
Mackay 131112_005 BUSHING CGM Roof Support 6
Mackay 859946_005 GASKET - EXHAUST MANIFOLD 162- CGM Diesel 1
Mackay 108891_005 BELLOWS,VALVE,V 6-20 066 3



Mackay 4012603_005 HOSE ASSY FC300-16 1
Mackay 110711_005 GAUGE(PRESSURE) 1/4"NPT 0-6000 1
Mackay 143600_005 PIN,24.3MM DIA X 156MM LG 5
Mackay 894441_005 PLATE DETAIL 2
Mackay 151887-032_360 HOSEASSY6100R2 Kress 2
Mackay 888210_005 CIRCULAR CONNECTOR 10POLE SQ F 1
Mackay 1287196_005 PATENT PLATE CGM Draglines 1
Mackay 1450167_005 ELEMENT,OIL FILTER CGM Electric Shovels 1
Mackay 108586_005 SPRING PLATE 5
Mackay 900428_005 RUBBER RAIL SECTION 45X60X320 1
Mackay 6004.J3301_450 ELEMENTEMT Miscellaneous 1
Mackay 978710_005 BUSHING, STEEL CGM Drills (Terex) 2
Mackay 1460535_005 PANEL 1
Mackay 106191_005 FITTING, THREADED VALVE CGM Roof Support 8
Mackay 1453493_005 PLUG,#8 O-RING BOSS CGM Trucks 39
Mackay 4022150_005 O RING WORKING PUMP CGM Hydraulic Shovels 1
Brisbane 6544631_020 YOKE1810F/RND54 All make Parts 1
Mackay UF171_450 FAN Miscellaneous 2
Mackay 1454326_005 KEY-ANTI ROTATION (MT36/3700) CGM Trucks 1
Mackay 146502-080_360 HOSEASSY12100R Kress 1
Mackay 173228_005 SEAL/OIL 3
Mackay 637626_005 ORING CGM Shearer 3
Mackay 767918_005 SCREW-IN NIPPLE 1 1/4"BSP/DN 3 CGM Shearer 9
Mackay 1469463_005 BEARING 5
Mackay 764307_005 HEX.HEAD BOLT ISO 4014-M 36X24 CGM Material Handling 10
Mackay 1138372_005 CONTACTOR 1
Mackay 1135521_005 DIODE,GLASTIC SHOVEL CGM Electric Shovels 1
Mackay 747702_005 PLUG-IN ELBOW SOCKET DN 12/135 CGM Roof Support 7
Mackay 1234907_005 BREAKER,2A,1P,DIN CGM Drills 1
Mackay 1642795_005 HOSE 1
Mackay 888203_005 CIRCULAR CONNECTOR 7POLE SQ FL 1
Mackay 1013092_005 CLAMP - BOSS CGM Drills (Terex) 4
Brisbane A4740_020 FILTER/REGULATOR All make Parts 4



Mackay 1014216_005 RETAINER, CYLIN CGM Drills (Terex) 1
Mackay H01819_008 HOSEASSY Miscellaneous Hydraulic Hose & Fittings 2
Mackay 1453176_005 ADAPTER,STR. METRIC CGM Trucks 1
Mackay 619199_190 METRICREDUCER Dealer Made Extras 6
Mackay 504842_005 CARTRIDGE,PRESSURE RELIEF VALV CGM Diesel 1
Mackay 1124130_005 GU POWER SUPPLY DIODE CGM Electric Shovels 1
Mackay 860042_005 STOP PIN 1
Mackay 1124184_005 CURRENT LIMITING RESISTOR CGM Electric Shovels 1
Mackay 298135_005 CLEVIS, BREAKER RESET CGM Continuous Miner 1
Brisbane TAHSB_020 HIGHWAYSAFETYBAG All make Parts 1
Mackay 289227_005 RELAY, OVERLOAD THERMAL RAN..6 1
Mackay 641447_005 V-325A NBR V RING SEAL 2
Mackay 1001425_005 WASHER NORD-LOCK NL1" CGM Drills (Terex) 11
Mackay 4383830_005 SWITCH, PRESS 2025 PSI DECR CGM Trucks 1
Mackay 1525650_005 BUSHING 3
Mackay A3004-BPKG_450 SPEEDSENSOR Miscellaneous 1
Mackay 1713514_005 LOAD INDICATOR TABLE 3
Mackay 4130801_005 CABLE SET 1
Brisbane SAB_020 AIRBAGSLEEPER All make Parts 2
Mackay 127920_005 O-RING 315X5-72NBR/872 CGM Material Handling 8
Mackay 518632_005 FILTER ELEMENT 2
Mackay 1413136_005 COVER,TAMPER PROOF 5
Mackay 25555A_400 GKTELIMINATOR50ML Loctite 7
Mackay 001035-035L_450 HUMPRUBBER Miscellaneous 2
Mackay 767456_005 STRAIGHT SOCKET DN 32 CGM Roof Support 10
Mackay 1724047_005 BUSHING 1
Mackay 845210_005 BOLT, M30 X 120 GR: UNBRAKO BL CGM Continuous Miner 6
Mackay 221668_005 OILSAMPLINGADAPT CGM Shearer 1
Mackay 4012456_005 HOSE ASSY FC300-08 CGM Trucks 3
Brisbane 506154_005 UNI JOINT 1
Mackay 630325_005 RD-BOLT DIN603 M20X100-8.8 CGM Material Handling 10
Mackay 641669_005 PIN CGM Material Handling 2
Mackay 99424_450 SPEEDISLEEVE4.25 Miscellaneous 4



Mackay 4620367_005 INDEXING PLUNGERS M16x1,5- BOL 10
Mackay 133629_005 HEX.HEAD SCREW ISO 4017-M 30X9 CGM Material Handling 8
Mackay 1152451_005 PIN,ROUND,2.00x10.25 CGM Electric Shovels 1
Mackay 1567752_005 LOCKING PLATE 2x M24/SW36 2
Brisbane FS1280_020 FILTERF/W All make Parts 12
Mackay 234252_005 GRUBSCREW(FLAT-PT) 3/4" X 3/4" CGM Shearer 1
Mackay 634600_005 PINDIA.40X160LG. CGM Material Handling 2
Mackay 638774_005 BOLTM20X265HEX CGM Shearer 2
Mackay 1465595_005 GASKET 2
Mackay 993272_020 SOLENOID12VHORTN All make Parts 1
Mackay 972399_005 KIT, SEAL 1
Mackay 4056001_005 GASKET DIN PLUG CONTROL VALVE 89
Mackay 127982_005 O-RING 88
Mackay 510509_005 WHEEL CHOCK BRACKET 2
Mackay 4057535_005 BULKHEAD H LINK GREASE HOSES CGM Hydraulic Shovels 2
Mackay 1031590_005 VALVE, GLOBE (OIL DR CGM Drills (Terex) 1
Mackay 1026579_005 SEAL, SHAFT CGM Drills (Terex) 2
Mackay 501534_005 FUEL CAP 1
Mackay 753614_005 BOLT(SH) M 12X40-12.9 CROSS DR 19
Mackay 1589467_005 LOCKING DEVICE FOR STAPLE DN25 100
Mackay 128698_005 RECEPTACLE(GRMNT); SKK-24 #20/ 2
Mackay 217683_005 ADAPTOR 1/2" BSP FEMALE/FEMALE CGM Shearer 5
Mackay 867425_005 HANDLE 1
Mackay 1013522_005 HANDLE CAB DOOR GRAB 2
Mackay 4056073_005 TX VALVE ORIFICE 2
Mackay 1027711_005 CAP, CGM Drills (Terex) 1
Brisbane RL6590SR_020 ELBOW65S/RAD All make Parts 4
Mackay 108643_005 OIL SEAL CGM Roof Support 39
Mackay 4414656_005 VALVE-PROP. PRESSURE REDUCING CGM Trucks 1
Mackay 1556416_005 ADPTR,MAINTENANCE ZERK,1/2 NPT CGM Electric Shovels 6
Mackay 1579027_005 CARD IND [A-Z] CGM Trucks 8
Mackay 128035_005 O-RING 11X2-NBR 90 CGM Roof Support 76
Mackay 108657_005 LOCKING SCREW R1/4" CGM Roof Support 6



Mackay 1244870_005 HORN,BACK-UP ALARM,12-36V CGM Drills 1
Mackay 1450782_005 CAPSCR,HX,1-1/4-7NC CGM Trucks 14
Mackay 506016_005 PIPE - HEAT EXCHANGER RADIATOR CGM Diesel 2
Brisbane 1539_020 WORK/REVLAMP All make Parts 3
Mackay 253180_005 SEAL,O'RING,CORD,125 I/D X 15 CGM Shearer 3
Mackay 753395_005 DOWEL 3
Mackay 4045823_005 PIN CYLINDER SAFETY ARM MOUNTI 2
Mackay 750256_005 OIL SEAL 130 X 160 X 15 6
Mackay 1353555_005 TEE,16 ORS-16 ORB-16 ORS CGM Electric Shovels 2
Mackay 04002640_200 CONTACTN/OPEN Dealer Made Extras Engineering 14
Mackay 1450972_005 IN-LINE RELAY ASSEMBLY 2
Mackay 764282_005 HEX.HEAD BOLT ISO 4014-M 30X38 CGM Material Handling 8
Mackay 1517336_005 FAN SUPPORT SPACER DETAIL 2
Mackay 4058297_005 COUPLINGENGINE CGM Trucks 1
Mackay 4055423_005 HANDLE DOOR PULL INTERNAL CABI CGM Drills (Terex) 2
Mackay 1459249_005 RELAY CGM Hydraulic Shovels 5
Brisbane CAU1255BL_020 BULBH712V55W90 All make Parts 10
Mackay 506777_005 TERMINAL BLOCK ASSEMBLY 1
Mackay 1104696_005 INJECTOR ASSY SL33x2 CGM Electric Shovels 1
Mackay A129791-01_200 HARNESS Dealer Made Extras Engineering 1
Mackay 128083_005 WASHER 5 THICK-55/38 DIA. 34
Mackay 1525075_005 CBL,3-0.5MM2,220V,5M 3
Mackay 978292_005 SEAL-DUST-REAR CGM Drills (Terex) 1
Mackay 1468309_005 CABLE, 85114C-9U2 2
Mackay 4021825_005 PIPE CAT WALK 3
Brisbane 1029962_005 COIL, CGM Drills (Terex) 3
Mackay 1029962_005 COIL, CGM Drills (Terex) 3
Mackay 1030312_005 KIT, 1
Mackay 4057128_005 O-RING IDLER CGM Hydraulic Shovels 21
Mackay 513824_005 FIT SOCKET 1" BSPT x 1" BSPT - 3
Mackay 106732_005 GUIDE BUSHING 165MMX159.1MMX25 CGM Roof Support 4
Mackay 192962_005 NUT(COLLAR) NM 20-22H 18
Mackay 138543-052_360 HOSEASSY12100R Kress 1



Mackay 1477711_005 SPACER, PIN CGM Trucks 2
Mackay 223611_360 Bypass Valve Assy Kress 1
Mackay 1483470_005 BREAKER,1-PHASE 20A CIR CGM Electric Shovels 1
Mackay 610018_005 SEAL CAP CGM Roof Support 19
Mackay 1232577_005 SCR,HEX,1.25x9.5,UNC,GR8 CGM Electric Shovels 4
Mackay 4055607_005 WEBBE STEM SDMO 2 WATT 2
Mackay 1468931_005 BRACKET-MIRROR 1
Mackay H9000276_450 TANKBREATHER2MIC Miscellaneous 3
Mackay 05092255_450 Gloves Leather Warrior –500 XL Miscellaneous 32
Mackay 640756_005 PIN, HINGE 2
Mackay 751170_005 POWER CABLE 25MM2 1
Mackay 1010687_005 PRESS, INDICATO CGM Drills (Terex) 1
Mackay 501522_005 GOVERNOR 1
Mackay 127898_005 O-RING DIN 3771-115X5-N-NBR 90 CGM Roof Support 19
Mackay 4057274_005 CARTRIDGE VALVE COIL . 1
Mackay 126846_005 CAP SCREW ISO 4762-M 10X25-12. CGM Shearer 50
Mackay 282104_005 GACO CORD 5.7X2434 4
Mackay 977982_005 R9100075 WIPER-BOOM-2500 2
Mackay 900381_005 MOUNT BLOCK 2
Mackay 639805_005 GASKET EXHAUST CGM Diesel 3
Mackay A212408_200 FACEPLATE Dealer Made Extras Engineering 4
Mackay 1677210_005 CABLE,CAN,M12-M,M12-M,0.3M CGM Electric Shovels 1
Mackay CN1-2016_190 NIPPLE Dealer Made Extras 7
Mackay 281124_005 BACK-UP RING 6
Mackay 902486_005 PRESSURE RELIEF VALVE 1
Mackay 4012253_005 HOSE ASSY FC310-08 CGM Trucks 2
Mackay 039566_360 PRESSUREGAUGE06 Kress 1
Mackay 4046719_005 PIN AXLE FRONT CENTRE MAINFRAM CGM Drills (Terex) 1
Mackay 888208_005 CIRCULAR CONNECTOR 10POLE SQ F 1
Mackay 1527362_005 RELAY,CONTACTOR,3NO+1NC CGM Electric Shovels 1
Brisbane 4017223_005 O-RING 9
Mackay 231717_005 PLATE3/4IN CGM Transport 1
Mackay 633586_005 STAPLE - KKF32 CGM Roof Support 23



Mackay 221404-073_360 HOSEASSY8100R2 Kress 1
Mackay 1513875_005 RECEIVER,LIQUID 1
Mackay A129839-01_200 HARNESS Dealer Made Extras Engineering 1
Brisbane 3595995_020 WINDOWKIT All make Parts 24
Mackay 1452713_005 PRIMING PLUNGER CGM Trucks 15
Mackay 144985_005 STOPCOCKLOCKON CGM Roof Support 1
Mackay HM11095_450 BRACKETMOUNT Miscellaneous 1
Mackay 164284_005 RING,BACKUP,260.70X285.70X5.0 3
Mackay 4044297_005 GUARD-DRIVELINE CGM Trucks 1
Mackay 974170_005 WIRE, SAFETY-16 GA.STAINLESS S CGM Drills (Terex) 86
Brisbane 2591790C2_480 TANKRADSURGEO/F Navistar 2
Brisbane 8037028P_020 SENSORHORTON200F All make Parts 2
Mackay 1456553_005 STEM-VALVE,  13-1/2"LG CGM Trucks 2
Mackay 1239203_005 SW,PB,2P,NC,RED,LOW LVL CGM Electric Shovels 1
Mackay 360669_005 SPRING DOWEL PIN 35X70-C 67 CGM Material Handling 2
Mackay 870946_005 OS4 TO HERSCHMANN CABLE 450MM 2
Mackay 4048799_005 BOLT 12 POINT HEAD CGM Hydraulic Shovels 7
Mackay 372007_005 PUSHBUTTON SWITCH 1
Mackay A129842-01_200 HARNESS Dealer Made Extras Engineering 1
Mackay 1129904_005 BREAKER,CIRCUIT,1-POLE CGM Electric Shovels 1
Mackay 4386088_005 PROTECTOR/CONTACT KIT,1NO+1NC CGM Electric Shovels 1
Mackay 1264877_005 CHOCK,SQUARE,.50x3 CGM Electric Shovels 4
Brisbane 3565267C1_480 SPRINGHOODCABLE Navistar 2
Mackay 234432_005 LIMIT SWITCH BODY 1
Mackay 108984_005 FOIL,PM4 CHAIN TENS UNIT 2
Mackay P162742_210 O-Ring Kit Donaldson 17
Mackay 107605_005 SPRING,VALVE 30
Brisbane 8074_020 NUTCOVER1.5/16 All make Parts 220
Mackay 315306_005 RETURNROLLC536B CGM Belt Products 2
Mackay 1462270_005 LEVER-DOOR HANDLE 2
Brisbane KIT4455_020 KITSWITCH All make Parts 1
Mackay KIT4455_020 KITSWITCH All make Parts 1
Brisbane 1466326_005 FILTER CGM Hydraulic Shovels 3



Mackay 896110_005 FAN 24VDC 2W  69m3/h  80X80X25 2
Mackay 1543020_005 CIRCUIT BREAKER 6A 2
Mackay 4027019_005 UNI JOINT JOYSTICK 1
Mackay 4214462_005 BATTERY CABLE,325/24 CGM Trucks 1
Mackay H00255_008 HOSEASSY Miscellaneous Hydraulic Hose & Fittings 1
Mackay 639083_005 STRAP CGM Shearer 1
Mackay 1465039_005 HANDLE-LADDER CGM Trucks 1
Mackay 635400_005 PIN - RETAINING CGM Roof Support 1
Brisbane 130688_005 CYLINDER BUSHING 103X105 2
Mackay 248110_005 BREATHER & FILTER 2
Mackay 1453577_005 SWITCH-PUSH BUTTON CGM Trucks 1
Mackay 1580695_005 VSTI PLUG  18X1,5-ED71 5
Mackay 4211183_005 CLAMP CGM Hydraulic Shovels 6
Mackay 1048656_005 5000372 HINGE, 8 FT.LG. CGM Drills (Terex) 2
Mackay 880346_005 FUEL FILTER / WATER SEPARATOR 1
Mackay 128034_005 RINGSEAL35X25X2 CGM Roof Support 6
Mackay 1620020_005 TUBE ASSEMBLY CGM Trucks 1
Mackay 1458290_005 SCREW, HEX HD 2
Mackay 506765_005 SIGHT GLASS GUARD CGM Diesel 1
Mackay 1135788_005 GASKET,OUTER,ACCESS COVER 5
Mackay 1453032_005 BREATHER CAP CGM Trucks 1
Mackay 1027938_005 ELEMENT, CGM Drills (Terex) 1
Mackay P550485_210 Lube Cartridge Donaldson 12
Mackay 1450789_005 CAPSCR,HX,1/4-20NC CGM Trucks 192
Mackay 1232143_005 SCR,HEX,.312x1,UNC,GR 5 CGM Electric Shovels 34
Brisbane RS4637_020 FILTERAIRSEC All make Parts 4
Mackay 641785_005 ORING12X2 CGM Material Handling 25
Mackay 107614_005 PISTON,YIELD VALVE CGM Roof Support 5
Brisbane 4067100_005 ANALOGUE IMAC INPUT RTD CGM Material Handling 2
Mackay 1460904_005 O RING 3
Mackay 4057541_005 MOUNTING PLATE VSL8 GREASING S CGM Hydraulic Shovels 1
Mackay 106147_005 O-RING 30
Mackay 1028310_005 O RING, CGM Drills (Terex) 1



Mackay 637748_005 FUSEHOLDER32A CGM Shearer 3
Mackay 1026530_005 TOOL, SEAL INST 1
Mackay 1232482_005 SCR,HEX,1x5,UNC,GR5 CGM Electric Shovels 14
Mackay 4044345_005 COVER CGM Trucks 1
Mackay 360783_005 FUSE 62MA TYP 451 CGM Roof Support 6
Mackay 386340_005 FUSE HOLDER 2
Mackay 236404_005 WASHER CGM Shearer 15
Mackay 232460_005 BOLT(HH) DIN 933-M 10X25-8.8(H 18
Mackay 888484_005 CIRCULAR CONNECTOR 37POLE PLUG CGM Shearer 1
Mackay 896312_005 RELAY C5-A20X 12V DC 2-POLE 16 1
Mackay 1454148_005 VALVE-GAS 1
Mackay 1686959_005 1/8BSPTSOCKET CGM Diesel 10
Mackay 4045671_005 SEAL KIT FILTER ASSY'S 0088595 16
Mackay 249327_005 O-RING BS 4518-31.6X2.4-NBR 70 CGM Shearer 32
Mackay 513835_005 REDUCING NIPPLE 1"BSPT x 3/4" 3
Mackay 1013682_005 EVAP. FAN BLOWER 1
Mackay 133939_005 VALVE(BALL) DN20 CGM Roof Support 1
Mackay 1006002_005 FITTING, OIL SIPHON CGM Drills (Terex) 5
Mackay 4020330_005 HOSE 10
Brisbane 343-4009_020 CAPHUB6HOLEW All make Parts 5
Mackay 146502-031_360 HOSEASSY12100R Kress 1
Mackay 1459665_005 PLATE-ORIFICE,0.050 DIA CGM Trucks 4
Mackay 4009546_005 HOSE ASSY 211-04 CGM Trucks 2
Mackay 4480777_005 SOCKET 1
Brisbane 1613064_005 O-RING 6
Mackay 1027608_005 KIT, CGM Drills (Terex) 1
Mackay 1452494_005 VALVE-MANUAL,CARTRIDG 1
Mackay 4056971_005 BLIND GUIDE CABLE 860 LONG OPE CGM Drills (Terex) 2
Mackay SEBP2809_390 3306INDUSTRIALEN Literature 1
Mackay 70-350_020 CMHOSE31/2PUROS All make Parts 92
Mackay 888407_005 CIRCULAR CONNECTOR 10POLE PLUG CGM Shearer 1
Brisbane 144675_005 Seal,Rod,140Mmx160Mm CGM Roof Support 2
Mackay 1236822_005 CONNECTOR,FRONT CGM Electric Shovels 1



Mackay 01060953_450 RED/WHS/FLAGROPE Miscellaneous 10
Mackay 1013024_005 CLAMP AIR LINE CGM Drills (Terex) 7
Mackay 4042020_005 CYL.HEAD SCREW 21
Mackay 334282_005 NUT(LOCK) SPROCKET M 27X2-10 1
Mackay 1459357_005 RAD SUPPORT LINK 2
Mackay 516526_005 FIT PLUG 1/2" BSPT STAINLESS S 6
Mackay 209615-108_360 HOSEASSY8100R2 Kress 1
Mackay 4012257_005 HOSE ASSY FC310-08 CGM Trucks 1
Mackay 108602_005 WASHER,SPRING CGM Roof Support 15
Brisbane 85920038_020 SENSORSPDDUAL4W All make Parts 1
Mackay 504111_005 NIPPLE, 3/4" BSPT Mx1/2" BSPT CGM Diesel 4
Mackay 1028257_005 CAPSCREW, 37
Mackay 146198-054_360 HOSEASSY8100R2 Kress 1
Mackay 900586_005 CLEVIS PIN ISO 2340-B-20X65-ST 4
Mackay 642181_005 SPINDLE,E022020851 8
Mackay 108629_005 SEAL,OIL 29
Mackay 1681088_005 NAMEPLATE OIL LEVEL TRANSDUCER 4
Mackay 1681089_005 NAMEPLATE OIL COOLING WATER (E 4
Mackay 637517_005 BOLTM30X75HEX CGM Shearer 7
Mackay MA6A24_450 24VCLUTCH6IN Miscellaneous 1
Mackay 126879_005 CAP SCREW ISO 4762-M 12X55-8.8 CGM Material Handling 98
Mackay 4053604_005 FILTER FUEL CGM Drills (Terex) 3
Mackay 1232601_005 SCR,HEX,1.5x6.5,UNC,GR5 CGM Electric Shovels 3
Mackay 4043784_005 HOSE ASSY GALAXY -06 CGM Trucks 2
Mackay 128143_005 PLUG(SEALING) GPN 300 F 182 CGM Material Handling 127
Mackay 1239992_005 THERMOCOUPLE,STRAIGHT 6 CGM Electric Shovels 1
Mackay 164286_005 WIPER,ROD,265X280X10.2/18 3
Mackay 108603_005 SPRING,VALVE CGM Roof Support 16
Brisbane 1307_020 LAMPDRVQH(1) All make Parts 2
Mackay 732015_005 STIRCOMATIC SEAL 16X10X1,9 CGM Roof Support 25
Mackay 881325_005 LEVER, STOP SWITCH CGM Shearer 1
Mackay 767246_005 BREATHER PLUG TYPE F-1451, M30 CGM Material Handling 2
Mackay 868531_005 PUSH PIN (F) 2



Mackay 4147994_005 PIN 3
Mackay 4235783_005 MEASUREMENT CONN 1
Brisbane 70-150_020 HOSEPUROSIL1.5 All make Parts 187
Brisbane 4064605_005 PARESOLEIL CGM Hydraulic Shovels 2
Mackay 4057281_005 CROSSOVERTUBE6M CGM Hydraulic Shovels 6
Mackay 4274852_005 PROTECTOR,SUPP,1P,1.6A,CURVE D CGM Electric Shovels 1
Mackay 127222_005 PIN(ROLL) ISO 8752-16X40-C 67 CGM Material Handling 45
Mackay 126687_005 BOLT(CH) DIN 603-M 20X60-8.8 CGM Material Handling 16
Mackay 1239982_005 THERMOCOUPLE,STRAIGHT,8 INCH CGM Draglines 1
Mackay 145592-015_360 HOSEASSY12100R Kress 1
Mackay 1681087_005 NAMEPLATE LIFTING POINT (ENG.) 6
Mackay CB55-2020_190 ELBOW Dealer Made Extras 1
Brisbane 694844_020 STUDJUNCTIONBLOK All make Parts 2
Mackay 107074_005 O-RING 9 X 1.5 PUR 92 31
Mackay 764319_005 HEX.HEAD SCREW ISO 4014-M 42X2 CGM Material Handling 2
Mackay 1028731_005 ELEMENT, CGM Drills (Terex) 2
Mackay RF-G1/2-CS_190 ?NEEDLEVALVE Dealer Made Extras 2
Mackay 1687880_005 TUBE DETAIL 2
Mackay 4402961_005 INSULATING FILM CIRCUIT BREAKE 1
Mackay 507750_005 GREASE SEAL-PINION 1
Mackay 888404_005 CIRCULAR CONNECTOR 10POLE PLUG CGM Shearer 1
Mackay 1621517_005 SEAL, OUTSIDE FRONT DUST - SKS 1
Mackay HM11086_450 PLATE Miscellaneous 1
Mackay 633744_005 RING,BACK-UP DN13 14X18.1X0.8 6
Mackay 1453145_005 ARM-WIPER 1
Mackay 1454405_005 HOSE ASSY 211-04 CGM Trucks 1
Mackay 4042748_005 ASSORTMENT BOX HEX SCREW 1
Mackay 4023428_005 HYDRAULIC HOSE 1
Mackay 641431_005 HEX HEAD BOLT ISO 4014-M 24X25 1
Mackay 4220278_005 VALVE-CARTRIDGE,RELIEF CGM Trucks 1
Mackay 503211_005 FILTER HOUSING O-RING 5
Mackay HM08174_450 LINKWIPERD/S Miscellaneous 1
Mackay 1124180_005 CROWN CLIPS CGM Electric Shovels 1



Mackay 4044567_005 HOSE ASSY FC310-08 2
Mackay 4018990_005 HEX.HD.SCREW 27
Mackay 107075_005 O-RING 8X2 PUR 92 CGM Roof Support 29
Mackay 1353584_005 TEE,16ORS FSW-16ORS-4FORB CGM Electric Shovels 1
Mackay 388665_005 FISCHER SOCKET (5-WAY CABLE-MO 1
Mackay HM08175_450 LINKWIPERP/S Miscellaneous 1
Mackay 131060_005 PISTON GUIDE CGM Roof Support 5
Mackay 641182_005 SEAL, OIL 6
Mackay 1124533_005 SHIELD CLIP CGM Electric Shovels 1
Mackay 1452361_005 NUT-HX,CRNLK 2-12NF CGM Trucks 1
Mackay 630315_005 HEX HEAD BOLT ISO 4014-M 24X19 CGM Material Handling 21
Mackay 019474-001_450 SWITCH Miscellaneous 1
Brisbane Z8-60_020 CLAMP6T/BOLT All make Parts 17
Mackay 1013531_005 HEINEMANN 50 AMP CGM Drills (Terex) 2
Mackay 1233428_005 WASHER,FLAT,.25,CAD PL CGM Electric Shovels 13
Mackay 764332_005 HEX.HEAD BOLT ISO 4014-M 16X14 CGM Roof Support 10
Mackay HDHS8658_008 HOSEAS Miscellaneous Hydraulic Hose & Fittings 1
Mackay 514501_005 NEEDLE VALVE 1
Mackay 1453906_005 BAR,BUS CGM Trucks (GE) 1
Mackay 146502-018_360 HOSEASSY12100R Kress 1
Mackay 1464360_005 HOSE 2
Brisbane 163075_020 TEMPSENDERDIFF All make Parts 2
Brisbane 3560048C1_480 SWITCHFAN Navistar 6
Mackay 1147361_005 HOSE ASSY,-12 STR-STR,ORS CGM Electric Shovels 1
Mackay MLM-MLF-3645_190 METRICREDUCER Dealer Made Extras 2
Mackay 4211714_005 FITTING 3
Mackay 887080_005 1-CONDUCTOR FEMALE PLUG 3-POLE 8
Mackay 880963_005 PUSHBUTTON SPACER 2
Mackay 1236530_005 FUSE,LINK,100AMP,TYPE K CGM Drills 3
Mackay 1452302_005 ADAPTER,STR. METRIC CGM Trucks 2
Mackay 753846_005 SET SCREW M 16X30 16
Mackay 1460400_005 PIN CGM Hydraulic Shovels 2
Mackay 4025464_005 HYDRAULIC TUBE BOOM ASSEMBLY 1



Mackay 4017144_005 O RING CGM Hydraulic Shovels 5
Mackay 107607_005 RING,BACK UP 30
Mackay 1509994_005 PLUG-IN SOCKET DN 10 WITH REST CGM Roof Support 6
Mackay 1031764_005 VALVE, COUNTERBALANC CGM Drills (Terex) 1
Brisbane 90040064_020 HOSECLAM91114MM All make Parts 27
Mackay 4043764_005 O-RING,63 RIM 2
Mackay 155704_005 O-RING 33X2.5 20
Mackay 282088_005 SET SCREW M 16X25 6
Mackay 1234905_005 BREAKER,5A,1P,DIN CGM Drills 1
Mackay 1527352_005 HANDLECIRCUITBRE CGM Electric Shovels 1
Mackay 106810_005 RING,BACKUP CGM Roof Support 20
Mackay 01273545_450 FACESHIELD227500C Miscellaneous 4
Mackay 1524937_005 ADPTR,TEE,NW10,NW10,NW10 5
Brisbane 70-350_020 CMHOSE31/2PUROS All make Parts 73
Mackay 1026488_005 SEAL, COUPLING 1
Mackay 4045744_005 CAPSCREW HEX HEAD DRILL SLIDE CGM Drills (Terex) 4
Mackay 356894_005 SEAL(STATIC)-EWN 70671-274X262 3
Mackay 1451460_005 SUPPORT 1
Mackay 4011164_005 GAUGE,RESTRICTION IND CGM Trucks 1
Mackay 1457869_005 SEALING RING CGM Hydraulic Shovels 6
Mackay 507751_005 DUST SHIELD-FLANGE 1
Mackay 955392_005 SHOULDER BOLT FOR EL37 BOX 1
Mackay 337887_005 LOCKING PIN CGM Roof Support 4
Mackay 4274854_005 AUX CONT BLK,5SY CB 1NO,1NC CGM Electric Shovels 1
Mackay 4019775_005 DISTRIBUTOR 1
Mackay 4021289_005 HYDRAULIC HOSE CGM Hydraulic Shovels 1
Mackay 394826_005 O-RING 557.58X5.33-NBR 70 4
Mackay 1452987_005 RESISTOR ASSY CGM Trucks 1
Mackay 1463267_005 HYDRAULIC HOSE 1
Mackay 4052247_005 BLADEWIPERCURVED CGM Drills (Terex) 1
Mackay 243375_005 CAP SCREW 12
Mackay RF-G3/8-CS_190 3/8NEEDLEVALVE Dealer Made Extras 2
Mackay 4029027_005 SEAL-DUST-SKS-30 DEGREE CGM Drills (Terex) 1



Mackay 633745_005 RING,BACK-UP SG 22X19X0.8 PA 7
Mackay 1462225_005 LID CGM Hydraulic Shovels 1
Mackay 23511670.DDC_450 BOLTALT.ADJ. Miscellaneous 1
Mackay 126402_005 HEX HEAD BOLT ISO 4014-M 24X80 CGM Material Handling 9
Brisbane HM315K_020 HUBOMETER315RPKM All make Parts 1
Brisbane HM308K_020 HUBOMETER308RPKM All make Parts 1
Mackay HM308K_020 HUBOMETER308RPKM All make Parts 1
Mackay HM315K_020 HUBOMETER315RPKM All make Parts 1
Mackay HDHS6417_008 HOSEASSY Miscellaneous Hydraulic Hose & Fittings 1
Mackay 1032128_005 SHAFT SEAL CGM Drills (Terex) 1
Mackay 1482554_005 SEAL,FLG,SAE,-48 2
Mackay 507821_005 QUICK CONNECT 3/8" BSPP FEMALE 5
Mackay 176687_005 SHIM CGM Continuous Miner 2
Mackay 955576_005 WASHER,NORD-LOCK,12MM,CL.10.9, 44
Mackay 639239_005 HYDRAULIC HOSE 2200 LENGTH 2
Mackay 206057_005 FACE FOR GAUGE 2
Mackay 01-858-015_450 VALVE Miscellaneous 1
Mackay 1453040_005 BEZEL-SW/IND(DWG A-F) CGM Trucks 10
Brisbane VDO331535_020 HOURMETERLCDRESE All make Parts 2
Mackay 4235780_005 MEASUREMENT CONN 1
Mackay 309204_005 RETAINING DISK F/SWITCH BLOCK; 4
Mackay 509855_005 ADAPTOR - REDUCER HUMP CGM Diesel 4
Mackay 509708_005 ACCELERATOR PEDAL MOUNT 1
Mackay 1006532_005 SHIM, WEAR, PAD CGM Drills (Terex) 1
Mackay 167760_005 NUT(CAP) 14
Mackay 1462768_005 HYDRAULIC HOSE CGM Hydraulic Shovels 1
Brisbane RDBD127_020 BRAKEDRUMGPMULT All make Parts 1
Mackay MHM-MHF-3642_190 METRICREDUCER Dealer Made Extras 2
Mackay 1454068_005 TUBING,1/2"ID X 10'LG CGM Trucks (GE) 2
Mackay 4055606_005 COIL 24V DC 6W . 2
Mackay 4323655_005 KIT - DIRT SEAL 1
Mackay 846754_005 LOCKING RING 3
Mackay 106836_005 RING,BACK UP,8X5.4X0.8-PA12 30



Mackay 749418_005 DISC-LOCK WASHER 10MM (1 PAIR) 42
Mackay F08J24_190 CLAMPHALF Dealer Made Extras 3
Mackay 240193_005 10 WAY STRAIGHT PLUG 2
Mackay 106226_005 O-RING, DIN 3771-32X3-N-NBR 90 CGM Roof Support 43
Mackay 4021288_005 HYDRAULIC HOSE 1
Mackay 127946_005 O-RING 310X5 CGM Material Handling 4
Mackay 998489_005 CLAMP, MOUNTING BAND CGM Drills (Terex) 7
Mackay 4026207_005 HYDRAULIC HOSE 1
Mackay 1034868_005 OR6 O RING CGM Drills (Terex) 5
Mackay 106231_005 CAP, VALVE DUST CGM Roof Support 19
Mackay 639801_005 GASKET, INLET PIPE CGM Continuous Miner 1
Mackay 236803_005 BOLT  M24 X 75 HEX HD GD 8.8 12
Mackay 4057364_005 BLANKOFFPLATE1 CGM Hydraulic Shovels 2
Mackay 4212760_005 HEX.HD.SCREW 14
Mackay 1029066_005 KIT, CGM Drills (Terex) 1
Mackay 1453788_005 HOSE ASSY FC211-12 CGM Trucks 1
Mackay 127391_005 Seal,Rod,Ewn 7062-12 CGM Roof Support 2
Mackay 9Y4384_870 BRACKET Used Parts - Used As Is 1
Mackay 144523-028_360 HOSEASSY8100R2 Kress 1
Mackay 1413141_005 BLOCK,PORTING 1
Mackay 4054228_005 DRIER INLINE AIRCONDITIONER CGM Hydraulic Shovels 1
Mackay 636403_005 PINROLLM6X34 CGM Material Handling 33
Mackay 4058251_005 O-RING OIL COOLER CGM Trucks 1
Mackay 1007944_005 HOSERADIATOR21 CGM Drills (Terex) 2
Mackay 503579_005 SPRING 1
Mackay 281097_005 O-RING-UK9-301006 8
Mackay 4010291_005 SEAL, BOTTOM (WATER RAD ONLY) CGM Trucks 35
Mackay 4121087_005 PLATE 2
Mackay 351505_005 OIL LEVEL PLATE P-45 CST ENGLI 1
Mackay 1026947_005 PLUG, SCREW (00 CGM Drills (Terex) 4
Mackay 4012457_005 HOSE ASSY FC300-08 CGM Trucks 1
Brisbane 90040028_020 HOSECLAMP3357MM All make Parts 39
Brisbane HHR76_020 HUMPHOSE76 All make Parts 2



Mackay 224687-021_360 HOSEASSY8100R2 Kress 1
Mackay 4521345_005 HOSE 3
Mackay 641736_005 ROLLER CGM Material Handling 1
Mackay 895229_005 2-CONDUCTOR TERMINAL BLOCK F. 10
Mackay 1580517_005 MARKER TERMINAL A-M CGM Trucks 4
Mackay 973929_005 CAPSCREW,HXHEAD GR8 -1 1/4-7UN CGM Drills (Terex) 1
Mackay 4002863_005 ROLLER BEARING CGM Drills (Terex) 1
Mackay 015120_360 PIN Kress 1
Mackay 1463338_005 HYDRAULIC HOSE 1
Mackay 751348_005 O-RING BS 4518-184.5X3.0-NBR 7 CGM Shearer 8
Mackay 127306_005 CAP(SEAL) SS 150X180X3.5 CGM Material Handling 4
Mackay 637506_005 BOLTM16X120HE CGM Shearer 28
Mackay 106261_005 VALVE SEAT 2
Mackay 144523-018_360 HOSEASSY8100R2 Kress 1
Mackay 514674_005 ADAPTOR - 45 ELBOW CGM Diesel 2
Mackay 1234909_005 BREAKER,7A,1P,DIN CGM Drills 1
Mackay 1234904_005 BREAKER,1P,10A,277V,48VDC,B CGM Drills 1
Mackay 767318_005 TAMPERPROOF CAP 1
Mackay 108263_005 SEALING RING 10MM X 8MM X 1.5M CGM Roof Support 47
Mackay 108801_005 RING,SEALING 44
Mackay 634490_005 "PIN,SELLOC 1/2X2 3/4""" 11
Mackay 131066_005 OPERATING PIN CGM Roof Support 1
Mackay 4009881_005 STRIP CGM Trucks (GE) 10
Mackay 1520472_005 HEX.HD.SCREW 16
Mackay 1129899_005 MODULE,SIDE FEEDER,4 POLE CGM Electric Shovels 1
Mackay 1463144_005 HYDRAULIC HOSE 2
Mackay 155678_005 DOUBLE NIPPLE DN12 CGM Roof Support 12
Mackay 1233140_005 SCR,PHILLIPS HD,FLAT,.25x1 CGM Electric Shovels 9
Mackay 4056087_005 ARM DRIVE - ADJUSTABLE CAB FRO CGM Drills (Terex) 1
Mackay 126590_005 HEX HEAD SCREW ISO 4017-M 20X7 CGM Material Handling 8
Mackay 369734_005 NOTCH -  CLAMP DN 6 CGM Roof Support 2
Brisbane S960814_020 ADAPTORM/F7/8UNO All make Parts 7
Mackay 1108502_005 INJECTOR,REPLACEMENT CGM Draglines 1



Mackay 4020812_005 SPRING SLEW BRAKE CGM Hydraulic Shovels 9
Mackay 507220_005 INDICATOR BOARD SEMS 02 - CHIN 1
Mackay 1453510_005 ADAPTER,BULKHD STR CGM Trucks 5
Mackay 1264256_005 PLATETEST.75x3.0 CGM Electric Shovels 5
Mackay 642182_005 LOCKNUT, E052006202-DBT 8
Mackay 151520-026_360 HOSEASSY6100R2 Kress 1
Mackay 077842_360 RETAININGRING Kress 5
Mackay 633480_005 CHEESE HEAD SCREW ISO 1207-M 3 CGM Roof Support 68
Mackay 4383855_005 RESISTOR, 100W 1
Mackay PS3-4_450 PRESSURESWITCH Miscellaneous 4
Mackay 108661_005 BOLT(SPEC) M10X30-10.9 CGM Roof Support 5
Mackay 172767_005 PLUG/VENT 3/8" 1
Mackay 1132541_005 CONTACT CGM Electric Shovels 1
Mackay 4137173_005 BELT, 9 HP ENGINE CGM Drills (Terex) 2
Mackay 1611858_005 VALVE, 1/4" 100 PSI POP OFF - CGM Drills (Terex) 1
Mackay 108608_005 OIL SEAL CGM Roof Support 9
Mackay 1402658_005 VALVE,CARTRIDGE,CHECK,100PSI CGM Drills 1
Mackay 1590-06004_450 RADIATORCAP Miscellaneous 1
Mackay 1681082_005 NAMEPLATE OIL LEVEL (ENG.) 4
Mackay 1681083_005 NAMEPLATE OIL SAMPLE (ENG.) 4
Mackay 1681084_005 NAMEPLATE OIL DRAIN (ENG.) 4
Mackay 4015994_005 O RING 56
Mackay 633763_005 ORING37X3NBR90 CGM Material Handling 6
Mackay 1611859_005 VALVE, 1/4" 150 PSI POP OFF - CGM Drills (Terex) 1
Mackay 0274137_005 SCRAPER CGM Hydraulic Shovels 3
Mackay 1140320_005 SHIM,SHEET,22GAx11x24 CGM Draglines 1
Mackay 1459512_005 PRESSURE SWITCH-USE 1520915 CGM Products 1
Mackay 373925_005 CAP SCREW ISO 4762-M 12X30-12. CGM Shearer 15
Brisbane K3455_020 SPEEDSENSORKIT( All make Parts 2
Mackay 280881_005 O-RING 320X4 CGM Material Handling 4
Mackay 173368_450 SEALPMKIT Miscellaneous 14
Mackay 126563_005 HEX HEAD SCREW ISO 4017-M 12X3 CGM Roof Support 62
Mackay 1525098_005 SHL REDUCTION 5



Brisbane FS1251_020 FILTERF/W All make Parts 4
Mackay 4057604_005 SUPPORT CLAMP BUCKET HYDRAULIC CGM Hydraulic Shovels 18
Mackay 764396_005 HEX. SCREW ISO 4017-M 24X100-8 CGM Material Handling 20
Mackay 1531183_005 HOSE,SUCTION,1.5 ID,150 PSI CGM Electric Shovels 1
Mackay 4012593_005 HOSE ASSY FC300-04 CGM Trucks 1
Mackay 1025845_005 KIT,SEAL,BRAKE VALVE CGM Drills (Terex) 3
Mackay 385029_005 SCREWED RING CGM Roof Support 4
Mackay 4067612_005 CAP CGM Roof Support 19
Mackay 385031_005 SEAL BEARING CGM Roof Support 4
Brisbane 90040052_020 HOSECLAMP7195MM All make Parts 28
Mackay 1244916_005 INSULATOR,GLASTIC,2.0HIGH CGM Shovels (GE) 6
Mackay 1452231_005 CONNECTION STRAP CGM Trucks (GE) 2
Mackay 127911_005 O-RING DIN 3771-140X5-N-NBR 90 CGM Material Handling 8
Mackay 4059478_005 RADIATOR CAP SK50I 16LBS PSI CGM Drills (Terex) 1
Mackay 145345_005 BUSHING (VALVE HOUSING) 1
Mackay 1163348_005 PIN,RD,.75x8 1
Mackay 4058239_005 O-RING WATER MANIFOLD CGM Trucks 3
Mackay 1148689_005 RING,RET,EXT 3.765IDx.111W CGM Electric Shovels 2
Mackay CB63-080808_190 TEE Dealer Made Extras 4
Mackay 107580_005 PISTON (VALVE) 1
Mackay 4044497_005 HOSE ASSY FC211-04 CGM Trucks 2
Mackay 1457881_005 SEALING RING 8
Brisbane 8PK1820_020 BELTMICROV All make Parts 2
Mackay 633917_005 NUTBRASSDOMESUI CGM Material Handling 1
Mackay 1028849_005 SWITCH - MUSHROOM 1
Mackay 1457883_005 SEALING RING-USE 1524152 CGM Hydraulic Shovels 2
Mackay 1463678_005 HYD HOSE 1
Brisbane 3540459C1_480 SEALOVALSURROUND Navistar 3
Mackay EF01030_450 LEAD Miscellaneous 1
Mackay 127036_005 HEX.NUT DIN 985-M 48-10 CGM Roof Support 2
Mackay 156004_005 WEARBAND,ROD,EWN 70611-125X25X CGM Roof Support 4
Mackay 1148690_005 RING,RET,INT CGM Electric Shovels 8
Mackay 172663_005 GASKET 1



Mackay 1458156_005 SEAL 4
Mackay 1528202_005 SCR,SOC,M5x0.8x30,CL12.9 CGM Electric Shovels 12
Brisbane 3596143_020 KITWNDWSTNL4024 All make Parts 3
Mackay 127443_005 SEAL,PISTON,200MMX183MMX20MM CGM Roof Support 1
Mackay 1453594_005 HOSE ASSY 211-04 CGM Trucks 1
Mackay 321788_005 RING(SNAP) DIN 472-140X4-FST CGM Material Handling 6
Mackay 887083_005 1-CONDUCTOR FEMALE PLUG 6-POLE 3
Mackay 4058337_005 FILTER FUEL PRIMARY ENGINE CGM Drills (Terex) 6
Mackay 127964_005 O-RING 90X2;20.0040.0900 CGM Material Handling 4
Mackay 1027606_005 GASKET, AIR INLET 1
Mackay 1029320_005 PIN, 2
Mackay 205560_360 TEESTR Kress 1
Brisbane M1862-12_020 JOINER12MM All make Parts 7
Mackay 106308_005 SPRING, VALVE CGM Roof Support 13
Brisbane RDSA5020_020 SLACKADJGP10SPL All make Parts 4
Mackay 1525577_005 MODULE,MOUNTING,12 TERM 1
Mackay 1556333_005 FTG,HOSE,EL,90D,-04 NPT,SWIVEL CGM Electric Shovels 1
Brisbane 4305310_020 GASKETPTO8BLT All make Parts 16
Mackay 04328666_450 HARDHATBRIM Miscellaneous 13
Mackay 4055271_005 WINDOW RUBBER H-SECTION CABIN CGM Drills (Terex) 2
Mackay 1579007_005 CARD INDICATOR BRAKE OIL PRESS CGM Trucks 2
Mackay 127650_005 BEARING(ROLLER) DIN 5412-NJ 20 CGM Material Handling 1
Mackay 1452861_005 SUPPRESSOR NETWORK CGM Trucks (GE) 1
Mackay 04270781_450 EARPLUGPROSOFTCL Miscellaneous 1
Mackay 1564147_005 BREAKER, 10 AMP CIRCUIT - SKS CGM Drills (Terex) 1
Mackay 1451034_005 UNIT, LIGHT 1
Mackay 222130_360 STANDOFF Kress 2
Mackay 955414_005 HEX.HEAD SCREW ISO 8676-M 24X2 CGM Shearer 4
Mackay 334112_005 O-RING,DIN 3771-118X4.5-NBR 90 CGM Roof Support 9
Mackay 128067_005 SEALING RING DIN 7603-A 10X14- CGM Roof Support 60
Mackay 356897_005 SEAL(ROD)-EWN 7062-235MMX255MM 1
Mackay 207543_005 CAP SCREW M 16X45-12.9 8
Mackay 172269_005 .005 SHIM CGM Continuous Miner 1



Mackay 1464698_005 HEX.HD.SCREW-USE 1520749 CGM Hydraulic Shovels 64
Mackay X007834_210 Seal Clamp Donaldson 8
Mackay 504114_005 PLUG, FIT 1-1/4 BSPT - ST.STL. 4
Mackay 4118212_005 HYDRAULIC HOSE 1
Mackay 01492932_450 DIESELFILINSERT Miscellaneous 2
Mackay 1456974_005 SOCKET, STRAIGHT 10
Mackay 04288006_450 C/BOARDCORR1220X Miscellaneous 1
Brisbane TR22692_020 BELT15A1755 All make Parts 2
Mackay 1466616_005 DOME LIGHT (24 DVC) CGM Trucks 2
Mackay 4058246_005 SEAL RING WATER PUMP 3
Mackay 515007_005 LED VIEWER RETAINER 1
Brisbane 97078438_020 RODHCVLINKKIT All make Parts 3
Mackay 1413122_005 ELBOW,.38BSP-Mx.38BSP-F 3
Mackay 1455789_005 TUBE ASSY-1/4",JIC CGM Trucks 1
Brisbane R675X_020 1710H/RUNI All make Parts 1
Mackay 108954_005 GUIDE SLEEVE 2
Brisbane 16-726S_020 SOCKET7PINSTADRY All make Parts 2
Mackay 1485091_005 DISK/WASHER CGM Hydraulic Shovels 1
Mackay 895281_005 2-CONDUCTOR EARTH TERMINAL  F 6
Mackay 1008196_005 FILTER CGM Drills (Terex) 1
Mackay 1457888_005 SEALING RING 1
Brisbane 633502_005 BOLT,HAMMER HEAD M24X2X90X45 4
Mackay 1092505_005 U-BOLT,.75UNC,10 PIPE,RUB.COAT CGM Electric Shovels 1
Mackay 1458719_005 ROT.SHAFT LIP SEAL CGM Hydraulic Shovels 1
Mackay 1577525_005 HOSE ASSY 2ST-DN6ST/STX2100-ZN CGM Shearer 1
Mackay 106821_005 GUIDE BUSHING (PISTON) 150MMX1 CGM Roof Support 2
Mackay 107461_005 RING,BACK UP,W16-21.1X17X0.8-P 15
Mackay 4023429_005 HYDRAULIC HOSE 1
Mackay 1462877_005 HYDRAULIC HOSE CGM Hydraulic Shovels 2
Mackay 4014033_005 SCREW S54 SLEW BOX 4
Mackay 1463524_005 HYD.HOSE 1
Brisbane 45045001_020 SPACERPLATE3MM All make Parts 6
Mackay 1457993_005 SEAL RING CGM Hydraulic Shovels 4



Mackay 4049165_005 SHIM 24 GA FEED TABLE ASSEMBLY 12
Brisbane 1469X12_020 CONN90D3/4X1/2NP All make Parts 4
Brisbane 45045003_020 SPACERPLATE10MM All make Parts 4
Mackay 635306_005 PIN 50/43.5X134 CGM Roof Support 2
Mackay 003763-051_450 GASKET Miscellaneous 2
Brisbane 9530_020 BELT13A1345 All make Parts 4
Mackay 1360887_005 SEAL,V RING,FACE TYPE 1
Mackay 4056842_005 PINCLEVISREARMA CGM Drills (Terex) 1
Mackay 634745_005 SHIM,SAFETY 20MM 1
Mackay 4057603_005 NUT GLAND STRAIGHT 16MM FLEX H CGM Hydraulic Shovels 8
Brisbane 4055856_005 AIR FILTER WASH DOWN PUMP CGM Drills (Terex) 1
Mackay 1231549_005 NUT,JAM,2,UNC CGM Electric Shovels 4
Mackay 4112144_005 NAME PLATE - 230hp WET, APPROV 1
Mackay 1453440_005 O'RING 3
Mackay 219070_005 PIN(SPIRAL) IS0 8750-16X35 CGM Shearer 2
Mackay 1242048_005 BRUSH,(ELECT PARTS) 1
Brisbane A14507_020 NIPPLEGREBUTT All make Parts 1
Mackay 633736_005 BACK UP RING SG 42/37X1.4 MM P CGM Material Handling 3
Mackay 108646_005 SPRING,VALVE 5
Mackay 2P5145L_450 BRUSHKT(KITOF2 Miscellaneous 2
Mackay 126419_005 HEX.HEAD BOLT ISO 4014-M 24X80 CGM Material Handling 7
Mackay 127795_005 GLAND(VALVE) E023.025.201 8
Mackay 228056_005 SEAL,O'RING,CORD,145 I/D X 15 1
Mackay 1681086_005 NAMEPLATE BREATHER (ENG.) 4
Mackay 1680883_005 NAMEPLATE OIL FILL (ENG.) 4
Mackay 128512_005 RING(SNAP) DIN 7993-A 5-X 12 C 98
Mackay 1451150_005 BALL-CHECK VALVE CGM Trucks 6
Mackay 4020535_005 SHIM 1
Mackay 001554-056_450 CPSW3/8X Miscellaneous 94
Mackay 217622_005 SEAL,WASHER,BACK/UP,240X250(SE 1
Mackay 1465969_005 FITTING 90 1
Mackay 755733_005 O-RING, 3MM X 1.776M NBR 70 3
Mackay 250771_005 O-RING BS 4518-419.3X5.7-NBR 7 CGM Shearer 2



Mackay 1362971_005 SEALANT,SILICONE,CLEAR 2
Mackay 240754_005 WASHER BAK UP 6
Mackay 131023_005 CONE,VALVE 1
Mackay 133633_005 BOLT(HH) DIN 931-M 24X80-8.8 6
Mackay 637134_005 FIT PLUG 1/4 BSPT M 11
Mackay 1035115_005 Y60540 KIT, SEAL CGM Drills (Terex) 1
Brisbane 4017448_005 RUBBER CAP 3
Mackay 4057063_005 FILTER COOLANT ENGINE CGM Hydraulic Shovels 3
Mackay BKSHS_450 BLACKHEATSHRINK Miscellaneous 750
Mackay ORSHS_450 ORANGEHEATSHRINK Miscellaneous 750
Mackay BKSHSPP_450 PURPLEHEATSHRINK Miscellaneous 750
Mackay BLSHS_450 BLUEHEATSHRINK Miscellaneous 750
Mackay WHSHS_450 WHITEHEATSHRINK Miscellaneous 750
Mackay 106784_005 WEARBAND,PISTON,360MMX355MMX30 1
Mackay 1031310_005 SEAL KIT CGM Drills (Terex) 1
Mackay 127557_005 CIRCLIP DIN 471-260X5-FST CGM Material Handling 1
Mackay 1528197_005 SCR,SOC,M10x1.5x125,CL12.9 4
Mackay 1621516_005 SEAL, INSIDE FRONT DUST - SKS 1
Mackay 208529_360 MAGNET3.25DIA Kress 3
Mackay 894924_005 PUSH PIN 1
Mackay 203750_005 RING,SNAP INTERNAL CGM Continuous Miner 1
Brisbane R280X_020 UNIVERSALJOINT17 All make Parts 1
Mackay 1451043_005 LAMP UNIT CGM Trucks 1
Mackay 793-CUTIN_008 SEALKIT Miscellaneous Parts Not Elsewhere Classified 1
Mackay 507794_005 GASKET 3
Mackay 126560_005 HEX HEAD SCREW ISO 4017-M 12X4 CGM Material Handling 46
Brisbane 063876_020 WASHERRUBBER All make Parts 50
Mackay 1024171_005 BUSHING, BEARING ADJUSTMENT CGM Drills (Terex) 1
Mackay 1450166_005 ELEMENT,AIR FILTER CGM Electric Shovels 1
Mackay 874624_005 RUBBER ELBOW 90 DEGREE COBRA CGM Diesel 2
Mackay 1466743_005 DISK/WASHER 1
Mackay 106697_005 BACK UP RING 67.8X63X3 PA12 CGM Roof Support 9
Brisbane R680_020 BUSHPYROPROBE All make Parts 6



Mackay 1163717_005 BUSHING 6
Mackay 1457889_005 SEALING RING 1
Mackay 634770_005 CABLE HIRSCH HIRSCH 900MM 1:1 2
Mackay 114817_360 HY/TKTRANBREATHE Kress 2
Mackay 4015218_005 BULB 2
Mackay 144449_005 RING,BACKUP,111.9X107X3-PA12 CGM Roof Support 7
Mackay 350850_450 HOLDER Miscellaneous 5
Mackay 638064_005 FUSERESETTABLE3 CGM Shearer 3
Mackay 165266_005 HEX.HEAD BOLT ISO 4014-M 30X85 CGM Material Handling 9
Brisbane 90040044_020 HOSECLAMP6583MM All make Parts 23
Mackay 1051999_005 HOSE ASM,JCAF310-08-91 1
Mackay 1200342_870 SCREEN Used Parts - Fixed Price 1
Mackay 4086236_005 VALVE HANDLE SW10 160 LENGTH 3
Mackay 107464_005 SUPPORTING RING CGM Roof Support 11
Mackay 1121110_005 FLANGE SEAL KIT, REPLACE. 2
Mackay 1453044_005 INSERT-BEZEL CGM Trucks 19
Mackay 127944_005 O-RING EWN 7064-300X7-85NBR CGM Material Handling 1
Mackay 887074_005 RECEPTACLE TERMINAL BLOCK 1-PO 10
Brisbane TL-105-H_020 LONGVEHSIGNHNGD All make Parts 1
Mackay 156009_005 RING,BACK-UP 14
Mackay 636958_005 FIT PLUG 1-1/2 BSPT STEEL FLUS CGM Diesel 1
Mackay 4010589_005 HOSE ASSY 211-04 CGM Trucks 1
Mackay 503569_005 SPRING SEAT CGM Diesel 1
Mackay 764873_005 HEX.HEAD SCREW ISO 4017-M 12X4 CGM Material Handling 30
Mackay 972457_005 KIT, SEAL-FILTER ASSY CGM Drills (Terex) 1
Brisbane M1862-10_020 JOINER10MM All make Parts 7
Mackay 1035615_005 FITTING, ALEMITE-VENT PLUG-1/8 CGM Drills (Terex) 9
Mackay 127265_005 WASHER ISO 7091-48-100 HV CGM Roof Support 11
Brisbane STM3664024_020 HUBCAPDEFENDER All make Parts 2
Mackay 20550_020 COVERBEARING All make Parts 2
Mackay 956905_005 CONNECTOR QC 0,5/12-STF-3,81 3
Brisbane 1615479_005 DEV1AUSExDOUBLE CGM Material Handling 1
Brisbane 1615480_005 DEV1ANZExDOUBLE CGM Material Handling 1



Mackay 503568_005 SPACER 1
Mackay 70-125_020 HOSEPUROSIL1.25 All make Parts 90
Mackay 128095_005 RING(SEAL) DIN 7603-A 42X49-CU CGM Material Handling 33
Mackay 504613_005 VALVE - BALL (BSPT) 1
Mackay 126565_005 HEX HEAD SCREW ISO 4017-M 12X2 CGM Roof Support 14
Mackay 1459753_005 PLATE CGM Hydraulic Shovels 1
Mackay P500014_210 Air Filter, Primary Donaldson 2
Mackay 4041658_005 ADPTR,G 1/2 PORT-S12,SWVL 2
Mackay 1579716_005 LIGHTER CICAR 12V W/GND CGM Trucks 1
Mackay 126297_005 Hex Head Bolt Iso 40 CGM Roof Support 26
Mackay 209586_360 PLATECLAMP Kress 1
Mackay 1467529_005 CONTAINER, FUEL SEPERATOR 1
Mackay 236140_005 WASHER  BACK UP 5
Mackay 1469398_005 BEZEL-SW/IND CGM Trucks 5
Mackay 366467_005 SEAT(METAL VALVE) 6
Mackay 751374_005 O-RING BS 4518-379.3X5.7-NBR 7 CGM Shearer 3
Mackay 1621518_005 SEAL, REAR DUST - SKS CL 1
Mackay 1463138_005 HYDRAULIC HOSE 1
Mackay A4740_020 FILTER/REGULATOR All make Parts 1
Mackay 641714_005 RINGBACKUP CGM Roof Support 1
Mackay 843820_005 TERMINAL BLOCK PCB 3 WAY 8
Mackay 4211801_005 CYL.HEAD SCREW 4
Mackay 4023096_005 RING SEALING HYDRAULIC CYLINDE 3
Mackay 4056077_005 DRIER IN-LINE AIR CONDITIONER 1
Mackay 323833_005 HEX HEAD SCREW ISO 4017-M 12X7 CGM Shearer 9
Mackay 870312_005 OS8-CONNECTOR SOCKET TWO-SIDED 2
Mackay P776730_210 Air Filter, Primary Donaldson 1
Mackay 961673_005 BOLT, 1/2"UNC x1-1/2"GR:UNBRAK 16
Mackay CN73-2416_190 REDUCINGBUSH Dealer Made Extras 2
Mackay 1036642_005 1421058-04 BOLT KIT CGM Drills (Terex) 15
Mackay 641811_005 RINGBACKUP12X8.5 CGM Roof Support 4
Mackay 1460580_005 PACKING CGM Trucks (GE) 3
Brisbane 1457022_005 SOCKET CGM Hydraulic Shovels 3



Mackay WV12L_190 EQUALELBOW Dealer Made Extras 5
Mackay 228736_005 GRUBSCREW(CUP-PT) M12 X 12 LG CGM Shearer 8
Mackay 1454567_005 WASHER-FLAT(3/4"BOLT) CGM Trucks (GE) 13
Mackay 4118213_005 HYDRAULIC HOSE 1
Mackay 1231673_005 NUT,HEX,LOCK,HVY,.25,UNC 18
Mackay 1454268_005 SEAL,O-RING CGM Trucks (GE) 5
Mackay 4013733_005 CIRCLIP TRAVEL GEAR CGM Hydraulic Shovels 2
Mackay 4569134_005 SHIELD TERMINAL 3/8 MM CGM Electric Shovels 1
Mackay 1523180_005 UNION,TEE,L28 CGM Hydraulic Shovels 1
Mackay 638773_005 CAP SCREW M8 X 20 LONG WITH DR 23
Mackay 201707_005 O-RING 305X5 CGM Material Handling 2
Mackay 638775_005 CAP SCREW 23
Mackay 1457859_005 SEALING RING 6
Mackay 4274838_005 PROTECTOR,SUPPLMTRY,1P,0.5A CGM Electric Shovels 1
Mackay 1451149_005 SCREW-CHECK VALVE CGM Trucks 3
Mackay 107601_005 CONE,VALVE 1
Mackay BS434_450 SEALNBR70ORING Miscellaneous 17
Mackay A106019-01_200 CRANELOCKOUT Dealer Made Extras Engineering 2
Mackay 127250_005 WASHER(FLAT) DIN 125-43-ST 50 CGM Material Handling 15
Mackay H9000262_450 ORINGSAE Miscellaneous 6
Mackay 1465994_005 FITTING 1
Mackay 127983_005 O-RING 12X2.5-NBR 90 CGM Roof Support 16
Mackay 018157-114L_450 PLUG Miscellaneous 6
Mackay 169033_005 BOLT(SH) 3/4-10 X 2-1/2 CGM Continuous Miner 3
Mackay 764245_005 HEX.HEAD BOLT ISO 4014-M 20X28 CGM Material Handling 12
Mackay 641105_005 MOTORBRUSH CGM Shearer 1
Mackay CB63-020202_190 TEE Dealer Made Extras 4
Brisbane 972513_005 KIT, BASIC VALV 1
Mackay 972513_005 KIT, BASIC VALV 1
Mackay 1454656_005 LIGHTER-CIGAR,12V CGM Trucks 1
Mackay 636310_005 BOLTHHM24X4010. CGM Material Handling 6
Brisbane Z8-35_020 CLAMPTBOLT3.5 All make Parts 6
Mackay 1460980_005 O RING 4



Mackay 128050_005 O-RING 330X4 CGM Material Handling 2
Mackay 1450732_005 CAPSCR,HX,3/4-10NC CGM Trucks 14
Mackay 508736_005 BREATHER 2
Mackay 1452210_005 SPRING CGM Trucks (GE) 2
Mackay 1465108_005 GUIDE RING 2
Mackay 159115_005 HEX HEAD SCREW ISO 4017-M 16X4 CGM Material Handling 23
Mackay 1455707_005 TUBE FITTING 2
Mackay 133961_005 O-RING 13X2.5-NBR 85 CGM Roof Support 34
Mackay 1358505_005 CLAMP,CUSHION,3.50" I.D. CGM Drills 1
Mackay 764213_005 HEX.HEAD BOLT ISO 4014-M 16X11 CGM Material Handling 4
Mackay 127359_005 Grooved Ring Seal 15 CGM Roof Support 3
Mackay 126906_005 CAP SCREW ISO 4762-M 16X120-8. CGM Material Handling 17
Mackay 211950_005 BEARING, BALL M35 X 47 X 7 REF 1
Mackay 4137048_005 LIGHT,RED CGM Electric Shovels 1
Mackay 633518_005 RODPACKING CGM Roof Support 3
Mackay 1451229_005 COUPLING-QUICK 1/4NPT PORT CGM Trucks 1
Mackay 1519473_005 SCR,HEX,M12x1.75x90mm,CL8.8 CGM Hydraulic Shovels 23
Mackay 230238_005 SET SCREW 8
Mackay 126583_005 HEX HEAD SCREW ISO 4017-M 16X4 CGM Material Handling 29
Brisbane 1232577_005 SCR,HEX,1.25x9.5,UNC,GR8 CGM Electric Shovels 1
Mackay 633875_005 PLUGMAGNETICSUIT CGM Material Handling 2
Mackay 1451148_005 SPRING-CHECK VALVE CGM Trucks 5
Mackay 1036192_005 1413839 SEAL, U CUP, PA CGM Drills (Terex) 2
Mackay 4053156_005 SWITCH SPRING ELECTRICAL CGM Hydraulic Shovels 1
Mackay 1037703_005 SCR,HEX,.75x2,UNC,GR5 CGM Drills 15
Mackay 172925_005 .005 SHIM CGM Continuous Miner 1
Mackay 4051628_005 SEAL O-RING EXHAUST MANIFOLD CGM Hydraulic Shovels 1
Mackay 349499_005 SETSCREW,FLAT-PT,DIN 913-M 4X4 CGM Roof Support 23
Mackay 133632_005 HEX.HEAD SCREW ISO 4017-M 36X1 CGM Material Handling 4
Mackay 1455042_005 WASHER 5
Mackay 4043342_005 BEARING CAP GRID BLOWER CGM Trucks (GE) 1
Mackay 1472502_005 WASHER, FLAT, 1/4 X .625 OD CGM Trucks 61
Mackay 267840_005 O-RING 690X4 CGM Material Handling 1



Mackay 133623_005 HEX HEAD SCREW ISO 4017-M 20X6 CGM Material Handling 8
Mackay 128865_005 BOLT(HH) DIN 961-M 20X1.5X45-1 7
Mackay 127961_005 O-RING 5.5X1.5 32
Mackay 4303700_005 SCRAPER 3
Mackay 715214_005 O-RING DIN 3771-321X4-N-NBR 65 CGM Roof Support 2
Mackay 635859_005 LEGINTENSIFICATIO CGM Shearer 3
Brisbane AF25618_020 FILTERAIR All make Parts 1
Mackay 289139_005 SHIM 0.007 CGM Continuous Miner 2
Mackay 957430_005 PLUG UNO 1-5/8"  INHEX 2
Mackay 133720_005 NUT,HEX DIN934 M36-10 8
Mackay 507372_005 SEAL, FACE 1
Mackay 4053385_005 BLOCK MOUNTING ROTARY DRIVE SU CGM Drills (Terex) 1
Mackay 127444_005 RING,PUR SEALING,14X8X1.9 CGM Roof Support 24
Mackay 129495_005 SPLIT PIN S/S 4.0X40 CGM Roof Support 31
Mackay 972391_005 KIT, CYLINDER S CGM Drills (Terex) 2
Mackay 126873_005 CAP SCREW ISO 4762-M 12X50-8.8 CGM Roof Support 20
Mackay 636885_005 BOLT, 3/4" UNC X 2-1/2" GR:UNB 6
Mackay 1468810_005 BULB 4
Mackay 4009096_005 O-RING AUTOMOTIVE 2.73 ID 3
Mackay 1464699_005 SCR,HEX,M10x1.5x60mm,CL8.8 CGM Hydraulic Shovels 36
Mackay 633533_005 SEAL EO21.010.032 2
Mackay 1028555_005 SUPPORT RING CGM Drills (Terex) 1
Mackay 1461173_005 O RING CGM Hydraulic Shovels 20
Mackay 171029_005 SHIM .005/MIN BUY 5 PCS. * CGM Continuous Miner 1
Mackay 4055792_005 LIGHTLEDRED. CGM Drills (Terex) 3
Mackay 90040064_020 HOSECLAM91114MM All make Parts 10
Mackay 1012644_005 NIPPLE 2 1/2 X 1
Mackay 001167-005L_450 RETAINERPI Miscellaneous 1
Mackay 661976_400 ODCFREECLEANER& Loctite 2
Mackay 4048424_005 CLAMP HYDRAZORB CGM Trucks 2
Mackay 1009213_005 BELT-A/C COND-C CGM Drills (Terex) 3
Mackay 641739_005 RINGBACKUP CGM Material Handling 3
Brisbane AF25957_020 FILTERAIR All make Parts 1



Mackay 986722_005 SETSCREW-NYLON TIP- SOCKET HEA CGM Drills (Terex) 11
Mackay 127332_005 SPRING WASHER VSKZ 5 22
Mackay 231247_005 CSK SCREW ISO 10642-M 4X12-12. 6
Mackay CB9-2020_190 SOCKET Dealer Made Extras 2
Mackay 1467795_005 CLIP 1
Mackay 1467165_005 CYL.HEAD SCREW 80
Mackay 130889_005 O-RING 44X3-NBR 90 CGM Roof Support 30
Mackay 641762_005 RINGSCREW CGM Material Handling 1
Mackay 005349-001_450 RETAINERDI Miscellaneous 1
Mackay 129506_005 O-RING DIN 3770-B 25X2.5-NBR 9 CGM Roof Support 20
Mackay 1413619_005 PLUG,SOC HD,-20 ORB,ZERO-LEAK CGM Electric Shovels 3
Mackay 1455716_005 TUBE FITTING 1
Mackay 1415344_005 NIPPLE,.5BSPx.38BSP 3
Mackay 126308_005 HEX HEAD BOLT ISO 4014-M 12X10 CGM Material Handling 14
Mackay 81504_020 BEARINGINPUTSHAF All make Parts 1
Mackay 502432_005 SEAL 8
Mackay 1452647_005 WASHER LOCK CGM Trucks 5
Mackay 1519517_005 HEX.HD.SCREW CGM Hydraulic Shovels 23
Mackay 1025599_005 PLUG, PIPE, GRB CGM Drills (Terex) 3
Mackay 4009431_005 ADAPTER,45 DEG CGM Trucks 2
Mackay 1458307_005 PLUG,M26X1.5 2
Mackay 4059513_005 FILTER FUEL PRIMARY ENGINE CGM Drills (Terex) 1
Mackay 513315_005 FLANGE GASKET 1
Mackay 127852_005 O-RING 19X2-85NBR CGM Roof Support 112
Mackay 4118211_005 HYDRAULIC HOSE 2
Mackay 1573460_005 SCR,SOC,M6x1.0x65,CL12.9 CGM Electric Shovels 1
Mackay 133686_005 CAP SCREW ISO 4762-M 12X55-A 2 CGM Roof Support 20
Mackay 203989_005 Guide Bushing (rod) CGM Roof Support 2
Mackay 1460665_005 O-RING CGM Hydraulic Shovels 1
Mackay 4009063_005 COTTER PIN, 1/8 X 2"LG CGM Trucks 32
Mackay 1469840_005 ADAPTER,STRAIGHT CGM Trucks 5
Brisbane ALA34_020 NIPPLE1/8BSP45 All make Parts 3
Mackay 1454304_005 WSHR,HARDND,5/8 CGM Trucks 12



Mackay 1579779_005 CARD INDICATOR CHECK ENGINE CGM Trucks 1
Mackay 637317_005 WASHER 1" HARD FLAT ZN 28
Mackay 633752_005 ORING34X3 CGM Material Handling 3
Mackay 1523184_005 SOCKET 2
Mackay 1481017_005 PLUG #16 O-RING BOSS CGM Trucks 5
Mackay 4009891_005 STRAP, BARE CON. FLD. CGM Trucks (GE) 1
Mackay 108660_005 STOP,VALVE CGM Roof Support 1
Brisbane K2003_020 KITPIN&BUSH All make Parts 13
Mackay 134028_005 O-RING 340X6 72NBR/872 CGM Material Handling 2
Brisbane 1469-0406_020 ELBOW1/4TX3/8NP All make Parts 5
Brisbane 91660_020 LAMPLICPLT3LED All make Parts 2
Mackay 1467171_005 CYL.HD.SCREW CGM Hydraulic Shovels 17
Mackay 870279_005 OS4-CONNECTOR SOCKET TWO-SIDED 2
Mackay 133968_005 O-RING DIN 3771-36.2X3-NBR 90 CGM Roof Support 14
Mackay 634112_005 SCREWLOCKINGDIN CGM Roof Support 4
Mackay 106763_005 WEARBAND,ROD,80MMI.D.X85MMO.D. CGM Roof Support 2
Mackay 4056270_005 EXPANDER / ADAPTOR 3
Brisbane 4017449_005 RUBBER CAP 1
Mackay 127545_005 RING(SNAP) DIN 471-140X4-FST CGM Material Handling 2
Mackay 1527596_005 SCR,SOC,M6x1.0x75,CL12.9 CGM Electric Shovels 4
Mackay 1450981_005 WASHER-RUBBER CGM Trucks (GE) 8
Brisbane 4304602_020 BREATHER1/4NPT All make Parts 5
Brisbane 0893470_020 INSECTREMOVER All make Parts 2
Mackay 1472497_005 NUT, HX, 3/8-16NC CGM Trucks 52
Brisbane 1469X8X8_020 CONN90D1/2X1/2NP All make Parts 6
Mackay 023326_360 LEVER Kress 1
Mackay CB56-1209_190 ELBOW90M/M3/4BSP Dealer Made Extras 2
Mackay 128400_005 DOUBLE NIPPLE DN 10 CGM Roof Support 5
Mackay 1037471_005 WASHER,FLAT 0.750,TYPE A CGM Drills (Terex) 24
Mackay 634747_005 SHIM,SAFETY 6MM 1
Mackay A129693-01_200 HARNESS Dealer Made Extras Engineering 1
Mackay 1454246_005 BULB,REPLMT CGM Trucks 3
Mackay 107608_005 RING,BACK UP 20



Mackay 1466808_005 DISK 7
Mackay 4011082_005 HOSE ASSY 272-08 1
Mackay 896561_005 ORING10x2 CGM Material Handling 10
Mackay 663200_005 HEX.HEAD BOLT ISO 4014-M 10X55 CGM Roof Support 12
Mackay 127892_005 O-RING DIN 3771-100X5-N-NBR 90 CGM Roof Support 4
Mackay 1353591_005 FTG,TEE,#4MORB-#4FORB-#4FORB 1
Mackay 1133971_005 BUS CONNECTOR,STEP 7 PLC 2
Mackay 126307_005 HEX HEAD BOLT ISO 4014-M 12X14 CGM Roof Support 11
Mackay 986618_005 SWITCH, PUSH CGM Drills (Terex) 1
Mackay 1450865_005 CAPSCR,HX,5/16-18NC CGM Trucks 45
Mackay 1459250_005 RELAY CGM Hydraulic Shovels 1
Mackay 210397_005 O-RING BS 4518-259.3X5.7-NBR 7 CGM Shearer 2
Mackay 4009082_005 LOCK WIRE, .051 SS 1LB CAN 1
Mackay 4013856_005 TUBE FITTING FUELING GREASE SY 1
Mackay 107602_005 PISTON,VALVE 1
Mackay 633770_005 GUIDINGBAND CGM Material Handling 2
Brisbane 4064545_005 SNAP RING CGM Hydraulic Shovels 1
Brisbane K363-413-1_020 WASHERSHOCK7/8I All make Parts 12
Brisbane 750256_005 OIL SEAL 130 X 160 X 15 1
Mackay 106839_005 SUPPORTING RING CGM Roof Support 14
Mackay 1232457_005 SCR,HEX,1x1.75 UNC,GR5 4
Brisbane 4022105_005 HEX HEAD SCREW BEARING ENGINE 2
Mackay 126620_005 HEX HEAD SCREW ISO 4017-M 30X7 CGM Material Handling 4
Mackay 106750_005 SUPPORTING RING 12,00-8,50-0,8 CGM Roof Support 5
Mackay 215213_005 HEX HEAD SCREW ISO 4017-M 16X3 CGM Shearer 12
Mackay 763593_005 GACO CORD 3X1900 CGM Shearer 6
Mackay SC540_450 PLASTICCAP Miscellaneous 50
Mackay 894726_005 O-RING 40X1.5 5
Mackay 765043_005 PARALLEL PIN ISO 2338-12 M6X70 CGM Shearer 9
Mackay 252745_005 SCREWCAPM6X10 CGM Shearer 16
Mackay 247745_005 BOLT(HH) 7/8 X 4 GR5 NC CGM Transport 8
Mackay P112803_210 Vacuator Valve Donaldson 3
Mackay 510639_005 NAMEPLATELOCKING CGM Diesel 1



Brisbane CB25530_020 CIRCUITBRKR30A All make Parts 1
Mackay 4052326_005 GASKETENGINE CGM Hydraulic Shovels 1
Brisbane 5004052_020 VALVEKITDELAY/CH All make Parts 2
Mackay 636246_005 "BOLT, 1/2"" UNC x 3-1/2"" GR: CGM Continuous Miner 16
Brisbane 4017436_005 PLUG PIPE GREASING SYSTEM-LOWE 2
Mackay 4017436_005 PLUG PIPE GREASING SYSTEM-LOWE 2
Mackay 1232488_005 SCR,HEX,1x6,UNC,GR5 CGM Electric Shovels 2
Mackay 1466032_005 FITTING 1
Mackay 1465468_005 GASKET SET 3
Mackay 106721_005 SUPPORTING RING 47,80- 43,00- CGM Roof Support 5
Mackay 127458_005 Rod Wipperewn 7060-1 CGM Roof Support 2
Mackay 127858_005 O-RING 27.3X2.4 CGM Material Handling 29
Mackay 1453314_005 KIT-BOOT 56417 83954 SERIES CGM Trucks 1
Mackay 127794_005 HANDLE,BLOCK BALL VALVE LONG 2
Mackay 4306520_020 NUTHEXFLANGED All make Parts 1
Mackay 1459145_005 RH200 ROUND STEEL CGM Hydraulic Shovels 1
Brisbane CGL500ML_020 CITROGEL500ML All make Parts 6
Mackay A213893_200 TRANSPRESSURELAB Dealer Made Extras Engineering 1
Mackay 384786_005 PIN-8MM DIA X 151MM LG CGM Roof Support 2
Mackay 208684_005 NUT,FULL,M30 (GRADE 12.9) CGM Shearer 2
Mackay 1460778_005 O RING 11
Mackay 134025_005 O-RING 440X4-85NBR CGM Material Handling 2
Brisbane A14551_020 HOSEGRE/GUN300 All make Parts 2
Mackay 1466939_005 DIODE-USE 1525326 CGM Products 4
Mackay 127075_005 SETSCREW(FLAT-PT) DIN 913-M 20 4
Mackay 356889_005 PISTON(WEARBAND)-255MMX250MMX3 1
Mackay 216787_005 O'RING  M44.5 X 3  (EXP) CGM Shearer 1
Mackay 127357_005 GROOVED RING SEAL 137X129X8.2 CGM Roof Support 2
Mackay 127929_005 O-RING 520X5 72 NBR/872 CGM Material Handling 1
Mackay 238636_005 O RING,209.3MM ID X 5.7MM N70 CGM Shearer 1
Mackay 4154959_005 GAUGE BRACKET 1
Brisbane 32002_020 BAGS/SEAL18X14 All make Parts 2
Mackay 06807657_450 LOCTITEFREEZE/REL Miscellaneous 3



Mackay 4015873_005 O RING 1
Mackay 1580465_005 CAPSCR HX 1/4-20NC CGM Trucks 39
Mackay 1520684_005 SCR,HEX,M20x2.5x90mm,CL8.8 CGM Hydraulic Shovels 5
Mackay 902487_005 1.5MM ORIFICE CGM Diesel 1
Brisbane 1461145_005 O RING 3
Mackay 642429_005 PLUG CGM Roof Support 2
Brisbane 0283-5-35_020 SCREWPANM5X35SS All make Parts 81
Mackay 1457365_005 SLEEVE CGM Hydraulic Shovels 1
Mackay 131025_005 BUSHING,VALVE 1
Mackay 127551_005 CIRCLIP DIN 471-200X4-FST CGM Material Handling 2
Mackay 127904_005 O-RING EWN 7064-215X5-85NBR CGM Material Handling 2
Brisbane SEPATA5_020 ALIBRITE5LSEPTO All make Parts 1
Mackay 386346_005 WASHER(SPRING)6 I/D,DISC 8
Brisbane TL105A_020 LONGVEHICLEAL All make Parts 1
Mackay 127840_005 O-Ring Din 3771-17.3 CGM Roof Support 15
Mackay 108620_005 SEAL,OIL,14MMX6MMX10MM CGM Roof Support 9
Mackay 004440_360 BOLTHXHD.502 Kress 30
Mackay NEEG2593_390 9U7400DECAL Literature 4
Mackay 641732_005 RINGWEAR CGM Material Handling 1
Mackay 345098_005 PAN HEAD SCREW ISO 7045-M3.5X3 CGM Roof Support 32
Mackay 633536_005 ORING17.3x2.4 CGM Roof Support 8
Mackay 1028659_005 PLUG, CGM Drills (Terex) 1
Mackay 896314_005 ADJACENT JUMPER 57A INSULATED 6
Mackay 001562-005L_450 NUTS.L.3/ Miscellaneous 26
Mackay 1459627_005 PLUG 4
Mackay 1149679_005 KEY,BAR,1x1.25x5.62 2
Mackay P550632_210 Fuel Filter, Cartrid Donaldson 1
Mackay 503654_005 VALVE 2 WAY 3/4 1
Mackay 214864_005 O-RING,M189.5 X 3  N70 BUNA 3
Mackay 634367_005 BOLT,MASTER LINK 5/8" Dia x 3 3
Brisbane ALA44_020 NIPPLE1/8BSP90 All make Parts 2
Mackay 127952_005 O-RING 78.97X3.53 CGM Material Handling 2
Mackay 1037591_005 121075 WASHER,LOCK 5/8,SPRING CGM Drills (Terex) 6



Mackay 222823_005 BOLT(SH) DIN 912 M6 X 12 DRILL 9
Mackay 1518153_005 SCR SELF DRILLING CGM Trucks 30
Mackay 107459_005 RING,BACK UP,18.1MMX14MMX0.8MM CGM Roof Support 7
Mackay 126779_005 CAP SCREW ISO 4762-M 5X20-8.8 CGM Roof Support 69
Mackay 1460825_005 O RING 8
Brisbane 14-N1108_020 TUBE1/2ODBLK All make Parts 7
Mackay 126306_005 BOLT (HH) M12 X 70 - 8.8 CGM Continuous Miner 7
Mackay 1458501_005 BOLT,STACKING,METRIC,4S,HVY CGM Hydraulic Shovels 2
Mackay 1491912_005 STRINGER 2
Mackay 4213397_005 SLEEVE,CABLE,SPIRALPROTECTION 3
Mackay 106312_005 Supporting Ring 22,0 CGM Roof Support 5
Brisbane ALA165_020 NIPPLEM6X90 All make Parts 2
Brisbane ALA189_020 NIPPLE1/4X90 All make Parts 2
Brisbane 1461446_005 MOUNT 2
Mackay 1456138_005 SWITCH, TOGGLE CGM Trucks 1
Mackay 1460629_005 O-RING 2
Mackay 1026470_005 BLEEDER PLUG CGM Drills (Terex) 2
Mackay 641579_005 NUT 1-1/4" UNF GR 8 ZN STANDAR 8
Mackay 235168_005 O-RING 219.5 I/D X 3.0 SECT 2
Mackay 1231696_005 NUT,HEX,LOCK,HVY,1,UNC CGM Electric Shovels 3
Mackay 1453710_005 FILLER CAP CGM Trucks (GE) 1
Brisbane 1468101_005 CIR CLIP 19
Mackay 4317303_005 SPRING,BELLEVILLE WASHER CGM Electric Shovels 3
Mackay 766020_005 O-RING 314X8 CGM Material Handling 1
Mackay 507833_005 PLUG CGM Diesel 4
Mackay 214185_005 O RING 5.1/2" X 3/16" 9
Mackay 133991_005 O-RING DIN 3771-275X5-N-NBR 90 CGM Material Handling 1
Mackay 1460619_005 O-RING CGM Hydraulic Shovels 4
Mackay 900600_005 HEX SOC SET SCREW  ISO 4026-M CGM Shearer 63
Brisbane N3501MRT_020 TEE1/8NPTMRUN All make Parts 6
Mackay 1028815_005 PIN, CGM Drills (Terex) 16
Mackay 133696_005 CAP SCREW ISO 4762-M 20X200-8. CGM Material Handling 4
Mackay 1455647_005 TUBE FITTING 2



Mackay 1452208_005 HORN CGM Trucks (GE) 1
Mackay 505817_005 LABELRADIATOR CGM Diesel 1
Mackay 128097_005 RING(SEAL) DIN 7603-A 27X32-CU CGM Material Handling 9
Brisbane 1461028_005 O RING CGM Hydraulic Shovels 5
Mackay 131043_005 PISTON,VALVE CGM Roof Support 1
Mackay 1451941_005 SHIM (6.75 OD X .002) CGM Trucks 1
Brisbane VDO230013_020 GAUGELINEKIT5M All make Parts 2
Mackay P502353_210 Lube Cartridge Donaldson 2
Mackay 108582_005 VALVE SPRING 5
Mackay 4027536_005 NUT JOYSTICK 1
Mackay 106837_005 RING,BACK UP 11
Mackay 4012842_005 WASHER,FLAT(1/2"BOLT) CGM Trucks (GE) 9
Mackay 4057069_005 FILTER COOLANT SPIN ON ENGINE CGM Hydraulic Shovels 1
Mackay 887139_005 STAGGERED JUMPER 1-3 WIDTH 5MM 5
Brisbane 12065298_020 CONNECTOR/PLUGLWP All make Parts 3
Brisbane 1458626_005 SCRAPER 1
Mackay 901115_730 ADAPTER SVE Truck 1
Mackay 1454593_005 CONNECTOR-CABLE CGM Trucks (GE) 1
Mackay 108266_005 RING,SEALING CGM Roof Support 2
Mackay 1452565_005 MOUNT, COOLER CGM Trucks 1
Mackay 252264_005 NAME TAG CGM Transport 1
Brisbane 1464107_005 CLAMP,HOSE,48ID CGM Hydraulic Shovels 6
Mackay 232330_005 O-RING BS 4518-39.6X2.4-NBR 70 CGM Shearer 7
Mackay 107606_005 RING,BACK UP 13
Mackay 1462730_005 HYDRAULIC HOSE 1
Mackay 1466058_005 FITTING 1
Mackay 1462848_005 HYDRAULIC HOSE CGM Hydraulic Shovels 1
Brisbane 32336_020 NO36HOSECLAMP All make Parts 10
Mackay 134015_005 ROD GUIDE RING, 80X15X2.5;TYPE CGM Roof Support 2
Mackay 1035570_005 122142 PIN,COTTERED 0.188 3.00 CGM Drills (Terex) 11
Brisbane 1543311_005 SEAL 2
Mackay 4274855_005 AUX CONTACT,RETROFIT,2NO CGM Electric Shovels 1
Mackay 891162_005 SEAL I FOR CIOS CGM Roof Support 3



Mackay 127550_005 CIRCLIP DIN 471-190X4-FST CGM Material Handling 1
Mackay 128100_005 RING(SEAL) DIN 7603-A 30X36-CU CGM Material Handling 16
Mackay 13A1105_450 A/CBELTDRILLS Miscellaneous 1
Brisbane 1522073_005 DISK/WASHER 2
Mackay 1556413_005 PIN,COTTER,.25x5.00 CGM Electric Shovels 6
Brisbane 1460X10_020 OLIVE5/8 All make Parts 15
Mackay 1232458_005 SCR,HEX,1x2,UNC,GR5 CGM Electric Shovels 2
Mackay 507831_005 PLUG CGM Diesel 4
Mackay 4047115_005 O RING CLAM CYLINDER UPGRADE CGM Hydraulic Shovels 1
Mackay 1034607_005 ADAPTER,90, -08MOR X -08MJIC CGM Drills (Terex) 1
Mackay 126361_005 HEX.HEAD BOLT ISO 4014-M 20X80 CGM Material Handling 8
Brisbane 1864-4_020 TEEQ/F1/4A/BRK All make Parts 2
Mackay 4418303_005 TAPER LOCK 1
Mackay 1450952_005 NYLINER,TYPE 6 CGM Trucks 2
Mackay H9000261_450 ORINGSAE Miscellaneous 6
Mackay 887140_005 STAGGERED JUMPER 1-4 WIDTH 5MM 4
Mackay 381157_005 O-RING BS 4518 - 229.5 X 3.0 CGM Shearer 1
Mackay 106260_005 COMPRESSION SPRING 4
Mackay 107067_005 O-RING DIN 3771-140X4.5-N-NBR CGM Roof Support 2
Mackay 134014_005 PISTON GUIDE RING D.100 15X2,5 CGM Roof Support 2
Mackay 107093_005 O-RING 36.0X1.5-NBR 90 CGM Roof Support 10
Mackay 1468040_005 CIRCLIP 10
Mackay 1461033_005 O RING 2
Mackay 1523580_005 ADPTR,M22X1.5-L18,STUD CGM Hydraulic Shovels 3
Mackay 1469739_005 ARM, CRANK 1.38 DBL LINK CGM Trucks 1
Mackay 108834_005 RESTRICTOR 4
Mackay CB3-1712_190 NIPPLE Dealer Made Extras 2
Mackay 896317_005 END AND INTERMEDIATE PLATE 2.5 10
Mackay 1028359_005 WASHER, CGM Drills (Terex) 15
Mackay 1467610_005 CONNECTING NUT 5
Mackay 274359_005 HEX HEAD SCREW ISO 4017-M 12X3 CGM Roof Support 32
Mackay P105220_210 Vacuator Valve Donaldson 2
Mackay 1465990_005 FITTING CGM Hydraulic Shovels 2



Mackay 1015185_005 PLUG, PIPE, SPE CGM Drills (Terex) 3
Mackay 126591_005 HEX HEAD SCREW ISO 4017-M 20X4 CGM Material Handling 12
Mackay 764384_005 HEX.HEAD SCREW ISO 4017-M 20X5 CGM Material Handling 4
Mackay 251614_005 O-RING BS 4518-84.5X3.0-NBR 70 CGM Shearer 3
Mackay 633534_005 BALL-SHAPED PLUG 1
Mackay 835855_005 BOLT, M16 x 40 GR:10.9 BLK HH 8
Brisbane 1525257_005 HOSE 4
Brisbane AL185_020 NIPPLE1/4STR All make Parts 3
Brisbane AL162_020 NIPPLE8MMSTR All make Parts 3
Brisbane 1460972_005 O RING 3
Mackay 1519992_005 SCREW DRIVER 1
Mackay 127828_005 O-RING DIN 3771-10X2-N-NBR 90 CGM Roof Support 12
Mackay 4440506_005 HOSE 1
Mackay 1461092_005 O RING 11
Mackay 1527597_005 SCR,HEX,M16x2.0x35mm,CL12.9 CGM Electric Shovels 1
Mackay 1043061_005 SCR,SOC,.5x1.5,UNC,GR 8 CGM Drills 8
Mackay 127854_005 O-RING 18X2-NBR 90 CGM Roof Support 13
Mackay 157898_005 O-RING 28X1 SIMRIT 88 NBR 156 CGM Roof Support 12
Mackay 209857_005 WASHER,NORD-LOCK 5MM(1 PR) 17
Mackay 127363_005 Grooved Ring Seal  E CGM Roof Support 1
Mackay 1472553_005 CAPSCR, HX,5/16-24NF X 3/4 GR5 CGM Trucks 24
Mackay 1094_450 REPAIRKIT7001317 Miscellaneous 1
Mackay 633654_005 STRIPPER,100X112.2X7.1;TYP 842 CGM Roof Support 2
Mackay 126354_005 HEX HEAD BOLT ISO 4014-M 20X70 CGM Material Handling 6
Mackay 1014884_005 RING-SNAP CGM Drills (Terex) 1
Mackay 1472562_005 GASKET RUBBER CGM Trucks 4
Mackay 106840_005 SUPPORTING RING 14,0 - 10,5 - CGM Roof Support 4
Mackay 1455701_005 TUBE FITTING 1
Brisbane 10008B.608_020 BARBTITE1/21/2J All make Parts 3
Mackay 751344_005 O-RING BS 4518-164.5X3.0-NBR 7 CGM Shearer 3
Mackay 127200_005 PIN(ROLL) ISO 8752-10X20-C 67 CGM Material Handling 12
Mackay 207215_005 WASHERDISCLOCK6 CGM Shearer 12
Brisbane 12048074_020 TERMINALMPF/MALE All make Parts 38



Mackay M1862-10_020 JOINER10MM All make Parts 2
Mackay 4010751_005 O-RING CGM Trucks 15
Mackay 4014598_005 SOCKET PUMP GOVERNING 1
Mackay 500473_005 SEAL KIT,HYDRAULIC TANK 1
Mackay 219039_005 SEAL NU-LIP 0.549"X0.103" 5
Brisbane 1468X8X4_020 CONN1/2X1/4NPT All make Parts 3
Mackay 126562_005 HEX HEAD SCREW ISO 4017-M 12X2 CGM Roof Support 29
Mackay 245422_005 O'RING  M159.5 X 3  (EXP) CGM Shearer 2
Mackay 1035320_005 ADAPTER, 90 -12MNPT X -12MJIC CGM Drills (Terex) 1
Brisbane 9.1737.91_020 BELT1719HELLAPR All make Parts 4
Brisbane N2501E_020 ELBOWM/F1/8NPT All make Parts 7
Mackay 1036789_005 NUT,HEX,HVY,FULL,.75,UNC CGM Drills 14
Mackay 4052676_005 GASKET COVER PLATE OIL TRANSFE CGM Hydraulic Shovels 2
Mackay 126832_005 CAP SCREW ISO 4762-M 8X100-10. CGM Material Handling 5
Mackay 107092_005 O-RING 17X2-NBR 90 CGM Roof Support 9
Mackay 1452517_005 BUSHING, 2 X 1-1/4 NPT CGM Trucks 1
Mackay 4046027_005 NUT HEX 1 1/4UNC GR8 . CGM Drills (Terex) 4
Mackay 1454281_005 O-RING,(DWG 1101783) CGM Trucks 21
Mackay 637138_005 FIT PLUG 1 BSPT M 2
Brisbane RDSA5024_020 SLACKADJ28SPL2H All make Parts 1
Mackay 870001_450 CLAMP Miscellaneous 1
Mackay 4051563_005 GASKET THERMOSTAT CGM Hydraulic Shovels 1
Brisbane 1471X6_020 TEE3/8X3/8TX1/4NP All make Parts 2
Mackay 107499_005 O-RING 40.0X3.0-NBR 90 CGM Roof Support 6
Mackay 127564_005 Circlip Din 472-40X1 CGM Roof Support 14
Mackay 253503_005 "O-RING, 1.11/16 X 3/32""" 8
Mackay 4015349_005 ADPTR,S20 STUD-S12,STUD 1
Mackay M1862-08_020 JOINER8MMA/B All make Parts 2
Mackay 4014032_005 TUBE FITTING BULKHEAD COUPLING 1
Mackay 126974_005 CAP SCREW ISO 4762-M 8X18-12.9 CGM Shearer 22
Mackay 751346_005 O-RING BS 4518-174.5X3.0-NBR 7 CGM Shearer 2
Mackay 1450872_005 CAPSCR,HX,3/8-16NC CGM Trucks 20
Mackay 1460797_005 O RING CGM Hydraulic Shovels 3



Mackay 4056269_005 STREET ELBOW CGM Drills (Terex) 1
Mackay 213255_360 HINGESLUG Kress 3
Brisbane 32332_020 NO32HOSECLAMP All make Parts 7
Mackay 128073_005 RING,SEAL,DIN 7603-A 27X32-PA- CGM Material Handling 10
Brisbane 1455636_005 TUBE FITTING 3
Brisbane M.10012_020 OLIVE12MM All make Parts 16
Mackay 4206703_005 DISK/WASHER 12
Mackay 637623_005 ORING(PISTONSE CGM Shearer 2
Mackay 127822_005 O-RING EWN 7064-10.3X2.4 CGM Roof Support 14
Mackay H9000260_450 ORINGSAE Miscellaneous 6
Mackay 637624_005 ORING(PISTONSE CGM Shearer 2
Mackay 126606_005 HEX.HEAD SCREW ISO 4017-M 24X5 CGM Material Handling 4
Mackay 4130805_005 FUSE 1
Mackay 974154_005 O RING-3/8-SAE STRAIGHT THD AD CGM Drills (Terex) 5
Mackay 1450547_005 TUBE FITTING CGM Hydraulic Shovels 1
Mackay M1862-06_020 JOINER6MMA/B All make Parts 2
Mackay 126604_005 HEX.HEAD SCREW ISO 4017-M 24X4 CGM Material Handling 4
Brisbane 3200X4_020 ADAPTORM/F1/4 All make Parts 7
Brisbane AL48_020 NIPPLE1/4BSPSTR All make Parts 1
Brisbane 1468X8_020 CONN1/2X3/8NPT All make Parts 3
Mackay 887194_005 STAGGERED JUMPER 1-5 WIDTH 5MM 6
Mackay 04660815_450 SPRINGGATE Miscellaneous 1
Mackay 1456226_005 SWITCH 1
Mackay H9000259_450 ORINGSAE Miscellaneous 6
Mackay 751340_005 O-RING BS 4518-59.5X3.0-NBR 70 CGM Shearer 3
Mackay 1029466_005 GASKET, AIR OUTLET 1
Mackay 1148639_005 RING,RET,INT,#1410 CGM Electric Shovels 1
Mackay 4011442_005 PLUG, #10 SAE ORB 2
Mackay 221723_005 SETSCREWM20X90 CGM Shearer 2
Mackay 1464780_005 HEX.HD.SCREW-USE 1520967 CGM Hydraulic Shovels 2
Mackay 374096_005 NUT (LOCK) M12 CGM Shearer 5
Brisbane M.10010_020 OLIVE10MM All make Parts 17
Brisbane 1464708_005 HEX.HD.SCREW-USE 1519699 CGM Hydraulic Shovels 13



Mackay 1028910_005 CAPSCREW, CGM Drills (Terex) 3
Mackay 633957_005 CIRCLIPEXT.100X CGM Material Handling 2
Mackay 990850_005 CAPSCREW,HXHEAD GR8 - 3/8-16UN CGM Drills (Terex) 4
Mackay 1460636_005 ORING,63x70x3.5 CGM Hydraulic Shovels 5
Mackay 637905_005 ORING CGM Shearer 2
Mackay 283138_005 END AND INTERMEDIATE PLATE; 2. 4
Mackay 127031_005 NUT(LOCK) DIN 985-M 27-10-A3A CGM Material Handling 1
Mackay 1232848_005 SCR,SOC,.5x3.5,UNC,GR 8 CGM Electric Shovels 4
Mackay 1035557_005 121109 WASHER,FLAT 0.500,TYPE CGM Jumbo Drills 19
Mackay 1466381_005 FASTENER,SLIP ON CGM Trucks 5
Mackay 641820_005 SEAL CGM Material Handling 1
Mackay 338002_005 Setscrew,Dog-Pt,Iso CGM Roof Support 8
Mackay 126556_005 HEX.HEAD SCREW ISO 4017-M 12X3 CGM Material Handling 12
Mackay P502043_210 Lube Filter, Spin-On Donaldson 1
Mackay 1518399_005 CAP SCR HX 1/4-20NC X 3/4 GR 5 CGM Trucks 17
Mackay 1693866_005 O-RING CGM Trucks 1
Mackay 501520_005 VALVE,2 WAY 1/2" 1
Mackay 127936_005 O-RING 290X5 CGM Material Handling 1
Brisbane 1461142_005 O RING 3
Mackay 107779_005 PLATE,IDENTIFICATION CGM Roof Support 1
Mackay 1098328_005 GASKET,.01x8x8 1
Mackay 01-107-015_450 NIPPLE Miscellaneous 4
Brisbane FA33261_020 AIRFILTER All make Parts 1
Mackay 4020811_005 SPRING SLEW BRAKE 28
Mackay 637692_005 NIPPLE3/8BSPX CGM Shearer 2
Mackay 4009227_005 PLATE,WELD,CLAMP CGM Trucks 1
Mackay 282082_005 STEEL BALL 20 DIA CGM Shearer 4
Mackay 1232388_005 SCR,HEX,.75x4,UNC,GR5 CGM Draglines 2
Mackay 145335_005 GUIDE WASHER 1
Mackay SF01/R-KEY_450 CLASSIC6REDPLUB Miscellaneous 2
Mackay 1467716_005 CLIP, HARNESS-USE 1523592 CGM Hydraulic Shovels 2
Mackay 1452746_005 TRIM, COVER CGM Trucks 1
Mackay 281126_005 BACK-UP RING 4



Mackay 202983_360 O-Ring Kress 1
Brisbane 14311_020 GASKETR/R All make Parts 15
Mackay 363798_005 O-RING BS 4518-139.5X3.0-NBR 7 CGM Shearer 1
Mackay 1149140_005 O-RING,-112,VITON,70 DUROMETER CGM Electric Shovels 3
Brisbane 1452713_005 PRIMING PLUNGER CGM Trucks 1
Mackay 1523699_005 SOCKET CGM Hydraulic Shovels 1
Mackay 1028817_005 SEAL - OIL CGM Drills (Terex) 1
Mackay 504108_005 HOSE CLAMP - 3/4"  WATER HOSE 2
Mackay 1233530_005 WASHER,LOCK,.438 CGM Electric Shovels 36
Mackay 1450633_005 KIT,CENTERING SPRING 1
Mackay 1239005_005 RESISTOR,7.5 OHM,5 WATT CGM Electric Shovels 1
Brisbane 1466X6X6_020 CONN3/8X3/8NPT All make Parts 2
Mackay 247621_005 PLUG HEX.SKT.1/4"BSP TAPERED 4
Mackay 106794_005 RING (BACK UP) 19 X 16 X 1 PA1 10
Mackay 127078_005 SETSCREW(FLAT-PT) DIN 913-M 12 CGM Material Handling 8
Mackay 4009697_005 CAPSCR,HX,3/8-16NC CGM Trucks 15
Mackay CLT008P_020 LUBEHOSET/OBEAR All make Parts 1
Mackay 133866_005 CIRCLIP DIN 471-50X2-FST CGM Material Handling 7
Mackay 130376_005 BOLT(SH) DIN 912-M 16X35-10.9- 10
Mackay 4041846_005 ADPTR,G 1/2 STUD-S12,SWVL 1
Brisbane 3750X6_020 TEEM/F/F3/8NPT All make Parts 2
Mackay 636737_005 BOLT, 3/8" UNC X3/4" GR:5 ZN H 15
Mackay 127094_005 SETSCREW(CONE-PT) DIN 914-M 10 CGM Roof Support 6
Mackay 127102_005 Screw Pin Iso 4028-M CGM Roof Support 8
Mackay 767669_005 O-RING 16X2,5;  34.402.00255 2
Mackay 633853_005 O-RING 38x3 4
Mackay 1648029_005 24Volt35Watt CGM Shearer 8
Mackay 129498_005 O-RING DIN 3770-B 6X2-NBR 90 10
Mackay 1465938_005 FTG,COMPRESSION 1
Mackay 4016025_005 O RING WORKING PUMP 6
Mackay 00844713_200 HINGEL/HWELD Dealer Made Extras Engineering 1
Mackay 1472488_005 CAPSCREW HX3/8-16NCX3/4 GRS CGM Trucks 15
Mackay 347745_005 HEX HEAD SCREW ISO 4017-M 8X90 CGM Roof Support 3



Mackay 1457019_005 SOCKET CGM Hydraulic Shovels 4
Mackay 282371_005 O-RING BS 4518-14.6X2.4-NBR 70 CGM Shearer 9
Brisbane SA93-14_020 ADAPTORN/S1/2 All make Parts 4
Mackay 1130325_005 WASHER,LOCK .5 CGM Electric Shovels 8
Mackay 1864-4_020 TEEQ/F1/4A/BRK All make Parts 1
Mackay 133869_005 CIRCLIP DIN 472-18X1-FST 47-58 CGM Material Handling 28
Mackay 342911_005 PLUG(PROTECTIVE PLASTIC)-U20 CGM Roof Support 20
Brisbane 1471X6X4X4_020 TEE3/8X1/4TX1/4NP All make Parts 1
Brisbane 10008B.108_020 BARBTITE1/21/2N All make Parts 2
Mackay 1452541_005 BLEEDER(.25-28NF) CGM Trucks 1
Mackay 1522162_005 SCR,SLOT,M4X0.7X6,CL4.8 8
Mackay 1525764_005 CYL.HEAD SCREW 8
Brisbane 3350X12_020 ELBOWM/F3/4N45D All make Parts 1
Brisbane CP50_020 ZIPTIESMIXCOLOU All make Parts 2
Mackay 1450971_005 MODULAR CABLE ASSY CGM Trucks 1
Mackay 107043_005 O-RING DIN 3771-24X2-NBR 90 CGM Roof Support 5
Mackay 1454711_005 CONNECTOR-1/2NPTF CGM Trucks 1
Mackay 109344_005 BOLT(HH) DIN 931-M 10X40-10.9 9
Mackay 1009437_005 NUT,HEX,LOCK,.312,UNC CGM Drills (Terex) 70
Brisbane 3350X6_020 ELBM/F3/8NPT45D All make Parts 2
Mackay 1520749_005 SCR,HEX,M10x1.5x45mm,CL8.8 CGM Hydraulic Shovels 8
Mackay 127356_005 ROUND SEAL 28.6X4X2.2 POLYURET CGM Roof Support 1
Mackay 1232466_005 SCR,HEX,1x3,UNC,GR5 CGM Draglines 1
Mackay 127841_005 O-RING DIN 3771-14.3X2.4-NBR 9 CGM Roof Support 9
Mackay 663187_005 HEX HEAD SCREW ISO 4017-M 12X6 CGM Material Handling 14
Brisbane 1472X6X4X4_020 TEE3/8X1/4TX1/4NP All make Parts 1
Mackay 127087_005 SETSCREW(CONE-PT) DIN 914-M 12 CGM Material Handling 5
Mackay 07000-03045_450 ORING Miscellaneous 9
Mackay 129473_005 HEX HEAD BOLT ISO 4014-M 12X70 CGM Roof Support 4
Mackay 106860_005 CAP,SEALING CGM Roof Support 7
Mackay 1450861_005 CAPSCR,HXDRL,1/2-13NC 23
Mackay 751343_005 O-RING BS 4518-134.5X3.0-NBR 7 CGM Shearer 3
Brisbane 1471X6X6X6_020 TEE3/8X3/8TX3/8NP All make Parts 1



Mackay 1457244_005 SOCKET 1
Mackay 230189_005 O-RING BS 4518-89.5X3.0-NBR 70 CGM Shearer 2
Mackay 271220_005 SPRING(VALVE) 2
Brisbane 1468X6X8_020 CONN3/8TX1/2NPT All make Parts 2
Brisbane S27-0806_020 NIPPLE1/2BSP3/8B All make Parts 2
Mackay 1456044_005 TERMINAL 7
Mackay 1524202_005 SCR,HEX,M8x1.0x25mm,CL10.9 7
Mackay 126302_005 HEX.HEAD BOLT ISO 4014-M 12X80 CGM Material Handling 6
Mackay 1525231_005 WASHER,LOCK,M4 CGM Hydraulic Shovels 7
Mackay 1453109_005 LAMP, INCANDESCENT CGM Trucks 2
Mackay 1460X10_020 OLIVE5/8 All make Parts 6
Mackay 637309_005 WASHER, 3/4" HARDENED FLAT ZN CGM Diesel 9
Mackay 1453503_005 ADAPTER,NIPPLE,HEX CGM Trucks 1
Mackay 1148643_005 RING,RET,EXT,#916 CGM Electric Shovels 1
Mackay 07000-05165_450 ORING Miscellaneous 3
Mackay 1244980_005 LAMP,100W,A-21,250V,FROST CGM Shovels (GE) 1
Mackay 233244_005 O RING CGM Shearer 5
Brisbane 3400X12_020 ELBOWM/F3/4N90D All make Parts 1
Mackay 506178_005 HARD WASHER 1
Mackay 166655_005 LOCK NUT DIN 980-V M 16-1.4571 CGM Roof Support 2
Mackay 1037706_005 105214-050 CAPSCREW,HXHEAD GR5 CGM Drills (Terex) 1
Mackay 1460628_005 O-RING CGM Hydraulic Shovels 3
Mackay 751369_005 O-RING BS 4518-249.3X5.7-NBR 7 CGM Shearer 1
Mackay 636959_005 FIT GREASE NIP 1/8 BSP STRT 5
Mackay 872006_005 BOLT, TENSIONER 208-9284 CGM Diesel 4
Mackay CAM25MF_450 CAMLOCK Miscellaneous 1
Mackay 870333_005 BOLT, M12 X 100 GR:UNBRAKO BLK CGM Diesel 4
Mackay 1450756_005 CAPSCR,HX,1-8NC CGM Trucks 1
Mackay 1250904_005 PLUG,PIPE,HEX CSK,.25 CGM Electric Shovels 3
Brisbane M1862-08_020 JOINER8MMA/B All make Parts 1
Mackay 636751_005 BOLT; 3/8" UNC X 1-1/2" GR:5 Z CGM Diesel 5
Mackay 1456004_005 THREADED INSERT 1
Mackay 1464783_005 HEX.HD.SCREW 6



Mackay 1458463_005 SCR,SOC,M5X0.8X20,CL8.8 6
Mackay 1454921_005 WASHER-SWING LOCK VALVE 6
Brisbane 10508B.104_020 BARB1/2X1/4NPTM All make Parts 3
Mackay 106719_005 SUPPORTING RING CGM Roof Support 2
Mackay 110145_005 ADAPTOR(TEE) 1/4"NPTFX1/4"NPTF 1
Mackay 342915_005 RING,BACK UP CGM Roof Support 1
Mackay 4304602_020 BREATHER1/4NPT All make Parts 1
Mackay 1460843_005 O RING 1
Brisbane HL124_020 BULB12V4WT4W All make Parts 7
Mackay 4145344_005 NIPPLE 1
Mackay 166668_005 HEX HEAD SCREW ISO 4017-M 16X4 CGM Roof Support 1
Mackay 128165_005 PLUG(PROTECTIVE) U 4-GPN 610 CGM Roof Support 5
Brisbane M1862-06_020 JOINER6MMA/B All make Parts 1
Mackay 127215_005 PIN(ROLL) ISO 8752-12X32-C 67 CGM Material Handling 4
Brisbane 1466X8_020 CONN1/2X3/8NPTF All make Parts 1
Mackay 515553_005 INLET MANIFOLD GASKET 1
Mackay 127962_005 O-Ring 3.68X1.78-Nbr CGM Roof Support 6
Mackay 1114157_005 RING,SEAL CGM Draglines 1
Mackay 4101707_005 PLUG- PIPE 3/4 NPT CGM Trucks 1
Mackay 374673_005 O-RING BS1806-2.13/16" X 3/32" 1
Mackay 126305_005 HEX HEAD BOLT ISO 4014-M 12X11 CGM Material Handling 10
Brisbane 3350X8_020 ELBOWM/F1/2N45D All make Parts 1
Brisbane 10508B.208_020 BARB1/2X1/2NPTF All make Parts 2
Mackay 641814_005 RINGBACKUPSKG33 CGM Material Handling 1
Brisbane 10008B.106_020 BARBTITE1/2X3/8N All make Parts 2
Mackay 07000-03065_450 ORING Miscellaneous 4
Mackay 1231526_005 NUT,HEX,JAM,1.25,UNC CGM Draglines 2
Mackay 862462_005 GASKET - TURBO 7M-7273 CGM Diesel 1
Mackay 1472487_005 WASHER,HRDN,1-9/16 CGM Trucks 2
Mackay 173433_005 NUT, ELASTIC STOP 1-14 CGM Transport 1
Mackay 244154_005 O-RING BS 4518-18.6X2.4-NBR 70 CGM Shearer 4
Mackay 641790_005 ORING9X1NBR90 CGM Material Handling 1
Mackay 106159_005 O-RING,20X2-NBR 75 CGM Roof Support 1



Mackay 127834_005 O-RING DIN 3771-6X1.5 CGM Roof Support 18
Brisbane 4021014_005 O-RING 4
Mackay 1520458_005 HEXAGONAL NUT CGM Hydraulic Shovels 2
Mackay 637300_005 WASHER 1/2 SPRING ZN 6
Mackay 1460644_005 O-RING 1
Mackay 127088_005 Setscrew(cone-Pt) Di CGM Roof Support 3
Mackay 207271_005 O-RING  M7.6 X 2.4  (EXP) 9
Mackay 225613_005 GRUBSCREW(CUP-PT) M12 X 16 CGM Shearer 4
Brisbane 10508B.108_020 BARB1/2X1/2NPTM All make Parts 3
Mackay 843821_005 TERMINAL BLOCK PCB 2 WAY 1
Mackay 4418049_005 KEY (20mm) 1
Mackay 969133_005 CLAMP, HOSE-1/2 CGM Drills (Terex) 2
Brisbane 4013750_005 LOCK WASHER CGM Hydraulic Shovels 5
Brisbane M.10008_020 OLIVE8MM All make Parts 11
Mackay 127082_005 HEX SOC SET SCREW ISO 4026-M 1 CGM Material Handling 2
Brisbane K-4142_020 KITSEAL All make Parts 1
Mackay 372605_005 CAP SCREW ISO 4762-M 12X90-1.4 CGM Roof Support 1
Brisbane 1464794_005 SCR,HEX,M12X1.75X170MM,CL8.8 3
Mackay 505819_005 LABEL EXHAUST COOLANT 1
Mackay 1008825_005 CPS,HXHD GR5 3/8 16 UNC 1.250 CGM Drills (Terex) 15
Brisbane 764633_005 CYL.HEAD SCREW ISO 4762-M 6X55 CGM Roof Support 8
Brisbane 12048086_020 SEAL150SER All make Parts 9
Mackay 663165_005 HEX.HEAD SCREW ISO 4017-M 12X2 8
Brisbane KTCTM10B_020 ANCHORBASEC/TIE All make Parts 33
Mackay 1454280_005 O-RING CGM Trucks 3
Brisbane 10504B.106_020 BARB1/4X3/8NPTM All make Parts 2
Mackay 1054013_005 107828 RING, RETAINING CGM Drills (Terex) 1
Brisbane 01-112_020 OLIVE3/4ID All make Parts 4
Mackay 106859_005 Cap,Plastic Protecti CGM Roof Support 4
Mackay 216759_005 O-RING BS 4518-27.6X2.4-NBR 70 CGM Shearer 5
Mackay 128070_005 SEALING RING A 8X12 3
Mackay 1460793_005 O RING CGM Hydraulic Shovels 1
Mackay 1415034_005 PLUG,SOC HD,-4 ORB,ZERO-LEAK CGM Electric Shovels 2



Mackay 515552_005 MANIFOLD GASKET 1
Mackay 1450698_005 CIRCLIP CGM Hydraulic Shovels 2
Brisbane 48X6X8_020 ADPTRM/M3/81/2N All make Parts 2
Brisbane 0368-5_020 NUTNYLOCM5ZNC All make Parts 50
Mackay 220729_005 O-RING BS 4518-99.5X3.0-NBR 70 CGM Shearer 2
Mackay 1458393_005 SCR,SLOT,M4X0.7X10,CL8.8 4
Mackay 636251_005 BOLT M8 x 25GR:UNBRAKO BLK SHC 10
Mackay 506588_005 GASKET,FLOW SWITCH 1
Brisbane 8X80_020 PINSPLIT8X80MM All make Parts 9
Mackay 167531_005 SETSCREWNYLON1 CGM Continuous Miner 13
Brisbane 10506B.108_020 BARB3/8X1/2NPTM All make Parts 2
Mackay 1454978_005 WASHER 2
Mackay 1467613_005 CONICAL PIN 3
Mackay 507832_005 O-RING CGM Diesel 2
Mackay 107109_005 O-RING,10X2.5-POLYURETHANE CGM Roof Support 1
Mackay 1466066_005 FITTING 1
Mackay 968987_005 O RING, 1.875 ID X 2.125 OD X CGM Drills (Terex) 3
Mackay 1460652_005 O-RING CGM Hydraulic Shovels 2
Mackay 164339_005 O-Ring,Din 3771-28X2 CGM Roof Support 2
Mackay 126849_005 CAP SCREW ISO 4762-M 10X30-8.8 CGM Material Handling 3
Mackay 126782_005 CAP SCREW ISO 4762-M 5X40-A 2- CGM Roof Support 3
Mackay 1244716_005 FUSE,.75A,250V,GDL,1.25IN CGM Products 1
Mackay 637195_005 NUT 3/8" UNC GR:5 ZN STANDARD CGM Diesel 4
Mackay 127322_005 SPRING WASHER VSK 16 CGM Material Handling 6
Mackay 127163_005 SPRING-TYPE STRAIGHT PIN M5X30 CGM Material Handling 6
Brisbane 1458317_005 SCREW PLUG CGM Hydraulic Shovels 1
Brisbane SSFW304383418G_020 SUPPLIERCODEONLY All make Parts 79
Mackay 1466429_005 RING,LIFTING,M8 CGM Hydraulic Shovels 1
Mackay 4013578_005 NIPPLE GREASE SYSTEM 1
Brisbane SA93-08_020 ADAPTOR3/8N/S All make Parts 2
Brisbane 127859_005 O-RING DIN 3771-20.3X2.4-NBR 9 CGM Material Handling 2
Mackay 4305978_020 GASKET All make Parts 1
Mackay 4418870_005 NIPPLE 1



Mackay 1464927_005 HEX HD SCREW-USE 1521327 CGM Hydraulic Shovels 3
Mackay 345166_005 HEX HEAD SCREW ISO 4017-M 20X4 CGM Roof Support 1
Mackay 106323_005 O-Ring, Din 3771-67X CGM Roof Support 1
Mackay 1413654_005 PLUG,SOC HD,-8 ORB,ZERO-LEAK CGM Electric Shovels 1
Mackay 127243_005 WASHER ISO 7089-20-200 HV CGM Material Handling 12
Mackay 1466008_005 FITTING CGM Hydraulic Shovels 1
Mackay 126725_005 SCREW PLUG DIN 908 - M 24 x 1. CGM Material Handling 1
Mackay 636797_005 BOLT; 1/2" UNC X 1-1/2" GR:5 Z 5
Mackay 164342_005 SETSCREW,DOG-PT,ISO 4028-M 8X1 CGM Roof Support 3
Mackay 174526_005 SHIM CGM Continuous Miner 1
Mackay 765081_005 SPRING DOWEL PIN ISO 8752-12X6 CGM Roof Support 1
Mackay 1460608_005 O-RING, INTERNAL 1754224 VALVE CGM Hydraulic Shovels 1
Mackay 127879_005 O-RING DIN 3771-60X3-N-NBR 90 CGM Roof Support 1
Brisbane 10504B.102_020 BARB1/4X1/8NPTM All make Parts 4
Brisbane 3350X4_020 ELBM/F1/4NPT45D All make Parts 1
Mackay 1233204_005 SCR,PAN,M,#10x1.00,UNC CGM Electric Shovels 9
Mackay 127193_005 PIN(ROLL) ISO 8752-10X70-C 67 CGM Material Handling 2
Mackay 774802_005 CABLE CLIP TYPE C1 2
Brisbane 1460825_005 O RING 1
Brisbane 4009105_005 SCREW, #8 FLAT HD PHL CGM Trucks 1
Mackay 213330_005 DOWEL 6MM X 20MM LG CGM Shearer 3
Mackay 379590_005 RING(SNAP) DIN 471-16X1-FST CGM Material Handling 4
Mackay 1454561_005 PIN COTTER CGM Trucks 2
Mackay ADE003834_200 SQUARESECORING Dealer Made Extras Engineering 1
Brisbane 1465697_005 FUSE 1
Mackay 1035560_005 WASHER,FLAT,1 CGM Drills (Terex) 2
Mackay 127119_005 SPLIT PIN 6,3X40 2
Mackay K2003_020 KITPIN&BUSH All make Parts 1
Mackay 766002_005 O-RING 33,3X2,4-70 NBR CGM Shearer 2
Mackay 127531_005 CIRCLIP DIN 471-48X1,75 CGM Roof Support 2
Mackay 127836_005 O-RING,7X2 85NBR/829 CGM Roof Support 2
Mackay 4014147_005 WASHER FLAT SLEW BRAKE SYSTEM 6
Brisbane 3153X2_020 PLUGSOCKET1/8NPT All make Parts 1



Mackay 129494_005 PIN(GROOVED) DIN 1476-2X6-X 5 7
Mackay 128074_005 RING,SEAL,DIN 7603-A 14X18-PA- CGM Material Handling 2
Brisbane 1468025_005 CIRCLIP 2
Mackay 127573_005 RING(SNAP) DIN 472-100X3-FST CGM Material Handling 1
Mackay 1451894_005 LOCKING PIN 2
Brisbane 102620_020 COVERORING All make Parts 1
Brisbane 1464920_005 SCR,HEX,M8x1.25x70mm,CL8.8 CGM Hydraulic Shovels 2
Mackay 764360_005 HEX.HEAD SCREW ISO 4017-M 16X3 CGM Roof Support 1
Mackay 1511004_005 BOLT, M8 X 40 GR:UNBRAKO BLK S CGM Diesel 5
Brisbane NC33FPP_020 NUTCVR33MMCHRM All make Parts 1
Mackay 764870_005 HEX.HEAD SCREW ISO 4017-M 8X20 CGM Roof Support 12
Mackay 1454445_005 PLUG-PIPE, 1/8 NPT CGM Trucks 1
Mackay 636798_005 BOLT, 1/2" UNC X 1-1/2" GR:8 Z 4
Brisbane 19481_020 GASKET All make Parts 1
Mackay 1518397_005 NUT HX CRNLK 1/4-20NC STD GR 8 CGM Trucks 2
Mackay 19481_020 GASKET All make Parts 1
Mackay 335000_005 O-RING,DIN 3771-23.47X2.62-N-F 1
Mackay M.10006_020 OLIVE6MM All make Parts 4
Mackay 108585_005 RING,SEALING CGM Roof Support 1
Mackay 663158_005 CAP SCREW ISO 4762-M 12X20-12. CGM Shearer 2
Brisbane 1009752_005 O RING 5
Mackay 126819_005 CAP SCREW ISO 4762-M 8X20-8.8 CGM Roof Support 4
Mackay 238415_005 CAP SCREW ISO 4762-M 3X10-12.9 CGM Shearer 5
Mackay 107096_005 O-RING 15.6X1.8-NBR 90 CGM Roof Support 1
Mackay 1528201_005 PLUG,#2 ORB,SOC HD,ZERO-LEAK CGM Electric Shovels 1
Brisbane 10506B.206_020 BARB1/2X3/8NPTF All make Parts 1
Mackay 1501369_005 RESISTOR, - 470 OHM 1/4 WATT 1 CGM Drills (Terex) 1
Mackay 107472_005 CAP,PROTECTIVE PLASTIC,NW13 4
Mackay 126744_005 PLUG(THD) DIN 908-G1/4"A-5.8 CGM Roof Support 1
Mackay 972119_005 SCR,HEX,.375x.75,UNC,GR 5 CGM Drills (Terex) 4
Mackay 1014964_005 PIN, ROLL CGM Drills (Terex) 1
Mackay 1457782_005 SEALING RING CGM Hydraulic Shovels 1
Mackay 128152_005 PLUG(PROTECTIVE) U 17-GPN 610 CGM Roof Support 1



Mackay 127529_005 CIRCLIP DIN 471-40X1.75-FST CGM Material Handling 1
Mackay 210877_005 COUNTERSUNK SCREW  ISO 10642-M CGM Shearer 2
Mackay 764633_005 CYL.HEAD SCREW ISO 4762-M 6X55 CGM Roof Support 2
Mackay 106322_005 O-RING  DIN 3771-20X2-NBR 90 CGM Roof Support 2
Mackay 764612_005 CYL.HEAD SCREW ISO 4762-M 4X25 CGM Material Handling 4
Mackay 173745_005 WASHER 5/8-HARDENED STEEL CGM Continuous Miner 1
Mackay 219369_005 STEEL BALL 10MM DIA 1
Mackay 887048_005 DAGGERPLATEVERTIC CGM Material Handling 1
Mackay 1461718_005 LOCK WASHER CGM Hydraulic Shovels 1
Mackay 2046656_870 SPACER Used Parts - As New Condition 1
Mackay 1459581_005 PLUG-USE 1524130 CGM Hydraulic Shovels 1
Mackay 1458453_005 SCREW-USE 1525740 CGM Hydraulic Shovels 1
Mackay 894793_005 WASHER, M24 HARDENED FLAT BLK 1
Mackay 127791_005 PIN,PARALLEL-GRV,DIN 1473-5X14 1
Mackay 2403277_870 PANOIL Used Parts - Used As Is 1
Mackay 107025_005 O-RING DIN 3771-39X3-NBR 90 CGM Roof Support 1
Mackay 639857_005 NUT3/8SPECIALC/ CGM Continuous Miner 3
Mackay 126530_005 HEX HEAD SCREW ISO 4017-M 8X20 CGM Roof Support 1
Mackay 774803_005 CABLE CLAMP TYPE R1 2
Mackay 127530_005 RING(SNAP) DIN 471-45X1.75-FST CGM Material Handling 1
Mackay 70-225_020 HOSESILICO21/4 All make Parts 1
Mackay 637253_005 ROLL PIN; METRIC; M2.5; ZN; 30 2
Mackay 1450791_005 CAPSCR,HX,3/8-16NC CGM Trucks 1
Mackay 4045317_005 E-RING,EXTERNAL CGM Trucks 1
Mackay 14311_020 GASKETR/R All make Parts 1
Mackay 1452339_005 TERMINAL-FEMALE STR CGM Trucks 1
Mackay 70-150_020 HOSEPUROSIL1.5 All make Parts 1
Mackay 180072_005 NUT-1/2-13 HEX(BENCH STOCK) 1
Mackay 194270_005 SETSCREW(CONE-PT) DIN 914-M 12 CGM Material Handling 1
Mackay 127843_005 ORINGEWN706411 CGM Roof Support 1
Mackay 126543_005 HEX.HEAD SCREW ISO 4017-M 10X2 CGM Material Handling 1
Mackay 507036_005 REARFRAMEGROUP CGM Diesel 2
Mackay 208983_360 ORING Kress 2



Mackay 1451224_005 WEATHERSTRIP BULK 1
Brisbane M.10006_020 OLIVE6MM All make Parts 1
Mackay 637298_005 WASHER 1/2" FLAT ZN 1
Mackay 107052_005 O-RING DIN 3771-14X2-NBR 90 CGM Roof Support 1
Mackay 154831_005 CAP SCREW ISO 4762-M 6X35-A 4- 1
Mackay 127830_005 O-RING EWN 7064-10.5X1.5-85NBR CGM Material Handling 1
Mackay 4013736_005 LOCKING PIN 1
Mackay 1454713_005 SEAL,BULB SILICONE 1
Mackay 127827_005 O-RING 9X1.5 1
Mackay 1078106_870 MANIFOLD Used Parts - Used As Is 1
Mackay 8N0990_870 MANIFOLD Used Parts - Used As Is 2
Mackay 6Y1119_870 CARRIERSEAL Used Parts - Used As Is 1
Mackay 509097_005 LOCKWIRE 1.25 DIA. 1
Mackay 1236966_870 COUPLING Used Parts - As New Condition 2
Mackay 1198361_870 SUPPORT Used Parts - As New Condition 2
Mackay 9X3813_870 COUPLING Used Parts - Fixed Price 1
Mackay 9C3987_870 CUSHION Used Parts - As New Condition 1
Mackay 6V4653_870 STEMA Used Parts - Used As Is 1
Mackay 1P9919_870 STEMA Used Parts - Used As Is 1
Mackay 5P1128_870 STEM Used Parts - Fixed Price 2
Mackay GYRV-LDW255 12WK_008 LDW25512WK Preventative Maintenance Filter Kits 1
Mackay 641529_005 KITSEALDANFOSS CGM Shearer 1
Mackay 5P1136_870 STEMA Used Parts - Fixed Price 1
Mackay 08464113_005 PASTEWHITET5KG CGM Products 5
Mackay 203609L_360 FILTERELEMENT Kress 22


	Front Page Hastings Tender
	CAT Parts Listing Excel

